1467

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

BEFORE THE WASHI NGTON STATE
UTI LI TIES AND TRANSPORTATI ON COWM SSI ON

In the Matter of the Review of )
Unbundl ed Loop and Swit chi ng ) DOCKET NO. UT-023003
Rat es; the Deaveraged Zone )
Rate Structure; and Unbundled )

) Vol ume XVi

)

)

)

Pages 1467 to 1677

Net wor k El ements, Transport,
and Term nation (Recurring
Cost s)

A hearing in the above matter was held on
June 4, 2004, from9:40 a.mto 5:30 p.m, at 1300 South
Evergreen Park Drive Southwest, Room 206, O ynpia,
Washi ngton, before Adm nistrative Law Judge THEODORA
MACE and Chai rwoman MARILYN SHOMALTER and Conmi ssi oner

Rl CHARD HEMSTAD and Conmi ssi oner PATRICK J. OSHI E.

The parties were present as follows:

THE COW SSI ON, by SHANNON SM TH, Assi st ant
Attorney Ceneral, 1400 South Evergreen Park Drive
Sout hwest, Post Office Box 40128, O ynpia, Washi ngton,
98504- 0128, Tel ephone (360) 664-1192, Fax (360)
586-5522, E-Mail ssmith@wtc.wa. gov.

VERI ZON NORTHWEST, |INC., by WLLIAM R
Rl CHARDSON, JR., Attorney at Law, W/ ner Cutler
Pi ckering Hale & Dorr, 2445 M Street Nort hwest,
Washi ngton, DC 20037, Tel ephone (202) 663-6038, Fax
(202) 663-6363, E-mail williamrichardson@i |l ner.com
and by CHRI STOPHER S. HUTHER, Attorney at Law, Preston
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AT&T OF THE PACI FI C NORTHWEST, INC., by
GREGORY J. KOPTA, Attorney at Law, Davis, Wight,
Tremai ne, LLP, 1501 Fourth Avenue, Suite 2600, Seattle,
Washi ngton 98101, Tel ephone (206) 628-7692, Fax (206)
628-7699, E-mail gregkopta@wt.com

COVAD COMMUNI CATI ONS COWPANY, by KAREN FRAME,
Attorney at Law, 7901 Lowry Boul evard, Denver, Col orado
80504, Tel ephone (720) 208-1069, Fax (720) 208-3256,
E-mai | kfrane@ovad. com
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PROCEEDI NGS

JUDGE MACE: Let's be on the record in Docket
Nurmber UT-023003. This is the Commission's Review of
Unbundl ed Loop and Switching Rates, Deaveraged Zone Rate
Structure, and Unbundl ed Network El ements Transport and
Termi nation. This is June 4th, 2004, and we are
convened in the offices of the Conmmi ssion of the
Washington Utilities and Transportation Commi ssion, and
this is a day that we have schedul ed for continuation of
evi dentiary hearing.

The witnesses we will be hearing from today
are AT&T witnesses Mercer and Fassett, and | understand
that there are a few prelimnary itenms that, M. Kopta,
that you need to address. And in particular I w sh that
you could nore clearly identify the errata sheets that
you passed out for Dr. Mercer

MR, KOPTA: | will be happy to do that, Your
Honor. The first page that we circul ated has an 8 at
the bottom This is page 8 fromDr. Mercer's
suppl enental direct testinmony which has been narked for
identification as Exhibit 851T.

The second page has attachment RAM 2 at the
top, and that has been marked for identification as
Exhi bit 853.

The third, actually it's a set of four
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exhibits that start with cost of network elements in the
upper | eft-hand corner, and the second one is attachnent
RAM 8b at the top. The third has RAM 8c.

JUDGE MACE: Is this the packet that you gave

MR. KOPTA: Yes.

JUDGE MACE: -- that's the substitute for
Exhi bit 859?

MR. KOPTA: That is correct, all four of
those docunents that were stapl ed together conprise
Exhi bit 859, so they should replace what you have
currently as Exhibit 859.

JUDGE MACE: Why don't you go through and
identify the separate segnents.

MR. KOPTA: RAM 8a is not |abeled as such
but it is a chart that has cost of network elements in
the upper left-hand corner as you rotate the page around
where the three-hole punch is.

The second document is attachment RAM 8b, and
it is identified as such at the top of the chart,
al though there is a punch hole through it.

The third docunent is attachment RAM 8c, al so
is marked as such

And the fourth document is attachnent RAM 8d

and is al so marked as such
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And the other errata that we have distributed
is a replacenent for M. Fassett's direct testinony
which is marked for identification as 951T, and the
errata that we have prepared replaces in its entirety
what was fornerly included in Exhibit 951T, and it
i ncludes errata that M. Fassett nmade to what was
originally M. Donovan's direct testinony.

JUDGE MACE: And then you al so provided a
substitute Exhibit 283C; is that correct?

MR, KOPTA: That is correct. It was m ssing
some of the referenced attachnments, and so in the
i nterest of conpleteness --

JUDGE MACE: That's not going to be sonething
we need to worry about today though; is that correct?

MR. KOPTA: Not so far as | know.

JUDGE MACE: Very well

Are you ready to begin? | wll swear the
witnesses in if you are.

MR, HUTHER: |I'msorry, | may have m ssed it
is there was a discussion about a docunment that's been
mar ked attachnent 4, was this part of what you were --

MR. KOPTA: That is sonething that was
di scussed yesterday norning, and you nmay not have been
in the hearing room but it is a redline of a portion of

AT&T' s response to Bench Request Number 3.
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1 And | understand that you' re going to

2 probably deal with that |ater today.

3 JUDGE MACE: Right as long as its part of the

4 response to the Bench Request, then you have provided

5 it, and | note that on the record at this point.

6 MR, KOPTA: Okay, that would be fine.

7 (Wtnesses Robert Mercer and Dean Fassett

8 were sworn in.)

9 JUDCGE MACE: All right, M. Kopta.

10 MR. KOPTA: Thank you, Your Honor. There are

11 two other exhibit natters that | wanted to clear up

12 before proceeding. The first is what has been marked
13 for identification as Exhibit 860. For sone reason that
14 was included as an exhibit although it's a duplicate of
15 Exhibit 856.

16 JUDGE MACE: So you're not going to offer

17 t hat exhibit?

18 MR. KOPTA: So we will not offer Exhibit 860.
19 The second issue is with respect to what has
20 been marked as Exhibit 955, which is an excerpt from

21 Tel ecordia notes on the network. That exhibit

22 duplicates one of M. Turner's exhibits that has already
23 been admtted, specifically Exhibit 757.

24 JUDGE MACE: So you will not offer that

25 exhibit?
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MR. KOPTA: So we will not offer that
exhi bit.

JUDGE MACE: Actually, as you are referring
to this and I amlooking at my exhibit list, it appears
that there is an error in the exhibit list in that
M. Fassett's JCD-4 and JCD-5 are both marked Exhibit
954.

MR, KOPTA: Well, perhaps we --

JUDGE MACE: For purposes -- go ahead.

MR. KOPTA: Perhaps what we can do is since
we' re taking away Exhibit 955, we can just refer to that
as JCD-5. That wouldn't cause any nore confusion.

JUDGE MACE: Either that or we can leave it,
both of that as Exhibit 954, and just retain your
internal marking as a way to make a distinction.

CHAl RWNOVAN SHOWALTER:  Make one 955, |
t hought that's what you were saying.

JUDGE MACE: Right, either/or.

CHAl RMOVAN SHOWALTER: Otherwise it's
difficult.

JUDGE MACE: Let ne indicate for the record

that we'll make JCD-5 Exhi bit 955.
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Wher eupon,
ROBERT MERCER AND DEAN FASSETT,
havi ng been first duly sworn, were called as w tnesses

herein and were exam ned and testified as foll ows:

DI RECT EXAMI NATI ON
BY MR. KOPTA:

Q Al right, then with that, Dr. Mercer, would
you state your nane and busi ness address for the record,
pl ease.

A (Dr. Mercer) My nane is Robert Mercer. M
address i s Broadvi ew Tel econmuni cati ons, 5201 Hol mes as
in Sherlock Place, Boul der, Colorado 80303.

Q Dr. Mercer, do you have before you what has
been marked for identification as Exhibit 851T, which is
the suppl enental direct testinmony of Dr. Robert A
Mercer, and attachnments 1 through 8, which have been
mar ked for identification as Exhibits 852 through 859,
and what has been marked for identification as Exhibit
861T, which is your reply testinmony?

A (Dr. Mercer) Yes, | do.

Q Were those exhibits prepared by you or under
your direction and control ?

A (Dr. Mercer) Yes, they were.

Q Do you have any corrections to nmake to any of
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t hose exhi bits?

A (Dr. Mercer) Yes, there is a correction to
the nodel. The correction itself is small, but the
effect ripples through a nunber of the attachnents, and
so | will go through the road map, if you will, of the
attachnents that have been changed.

The gi st of the change, and then | will
explain it in enough detail to understand it, is that
there is a quantity in the nodel called the strand
di stance that is being or was being applied incorrectly
in a way that underesti mates the anount of cable
required to connect the customers to each other. This
caused the nodel to calculate too few distribution route
mles and therefore underestimated all | oop rel ated
investments that had to do with distance. The bottom
line effect of correcting the problemis that it
i ncreases the |l oop cost from $7.64 to $8.50, a change of
84 cents. But as | nentioned, the effect ripples
t hrough several of the exhibits.

The strand distance is a neasure of the
anount of cable required to connect the actual custoner
| ocations to each other and to the serving area
interface, what | will subsequently call the SAl. It's
related to a m ni num spanning tree of graph theory that

| have heard nmentioned several tines in one way or
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anot her during these hearings, except that it
conservatively estimtes, conservatively high estinmates
t he amount of cable required by assum ng that custoner

| ocations are connected to each other by right angle
routing instead of by air line distance routing. This
quantity is calculated and provided by TNS in the
cluster database that it provides with the nodel, so
there is a nmeasure of strand distance with each of the
clusters.

This quantity is used in the foll ow ng way.
After the nodel initially calculates the anount of
di stribution cable, it normalizes that, the amount of
cable, to the results of the strand distance. And what
I mean by normalization is that if the nodel originally
produced 1,600 feet of distribution cable and sone snal
cost there, but the strand distance was 2,000 feet, the
nodel would cal culate the ratio of 2,000 to 1,600, which
is 1.33 endlessly, and then it would apply that
correction factor to each piece of the cable that it
cal cul at ed.

The error cane about because in the past TNS
when it has a geocoded custoner location it has set that
| ocati on back 50 feet fromthe road creati ng what |
often describe as a zi pper out of a road with kind of

points 50 feet on each side. And when you then
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cal cul ate the strand di stance, the strand distance in a
sense has to sew its way back and forth from one side of
the street to the other, or it has to go down one side
of the street and cone back on the other side depending
on which way turns out to be the mninmal connectivity.
And recogni zing that the nodel has or the nodel
devel oper said in doing that junping back and forth
effectively the drop, the cable drop, to each house was
part of the connecting distance, and it would subtract
the amount of drop distance nunber of |oops tinmes the
geocoded percentage fromthe strand di stance that TNS
had provi ded.

TNS no | onger sets back custoner |ocations by
50 feet fromthe road. They are |ocated on the roads
that they're on, and it is therefore inappropriate to
subtract the drop distance. Inadvertently we, in
Washi ngton in the nodel submitted up until the results
this norning, inadvertently we were still subtracting a
drop di stance, causing the effective strand distance to
be | ower, causing the normalization to nornalize to too
smal | a number, and so on. As we have nade that
correction, | have already nentioned the effect of doing
t hat .

We have prepared a new version of the nodel

that corrects the error that was in the nodel. It
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ampunts to, interestingly enough given the effect it
has, it anpbunts to changing a table, nine entries in a
tabl e for Washington. And then once that's done and the
nodel is run, there are many different results that
ensue. So we have new copies of the nodel to distribute
this nmorning. |f anybody has a copy running on their
conputer and prefers to have nme explain howto do it to
their nodel, | would be glad to do that, but we did
bring new nmodels to install

The effect, as | nentioned, on the |oop
result is 84 cents. As far as ny testinony, that
affects three different things. It affects table 1 of
nmy declaration, which is page 8, which was the first
handout | heard M. Kopta refer to, because that table
is a summary of the UNE rate proposals for AT&T. It
affects all of the entries or at least all of the |oop
related entries in attachment RAM2 to ny suppl enentary
direct testinony, and it affects all |oop related
nunbers appearing in attachment RAM 8 of ny
suppl enentary direct testinony. So those are the
exhi bits we have now prepared with the corrected
results.

It also has a secondary effect you should be
aware of, and that is that the wire zone, sorry, the

Wi re center zones that AT&T proposes are based on an
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optim zation routine which mninzes the difference in
cost of the loop fromone wire center to another. So
when you change the | oop cost in ways that aren't going
to be the sane necessarily fromone wire center to
another, it can affect those zone assignnments. So we
now have a revi sed zone proposal which you will see as
attachnments RAM sorry, RAM8c. |Its purpose was
originally and still is to show that zone assignments
that AT&T is proposing, and there will be some
difference in those assignnments because the mninzation
of variations within a zone now change those assignnents
somewhat because the | oop cost is changed in each wire
center.

And that's the summary of what went wrong and
how we have corrected it.

JUDGE MACE: And we have copies of all of
those changes that Dr. Mercer alluded to; is that
correct, M. Kopta?

MR. KOPTA: Everything except for the nodel
run. And as | look at the exhibit list, for sone reason
the el ectronic executeable copy of the nodel is not
listed amobng the exhibits. So perhaps again because we
have vacated Exhibit 860 we could now identify that as
HM 5.3, the nodel itself in an executeable formon CD.

JUDGE MACE: Anybody have a problemwith
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that, any objection?

Al right, that's what we'll do then, it wll
beconme the executeabl e version of the nodel.

MR. KOPTA: And | apol ogi ze, one other
exhi bit issue.

CHAl RWOMVAN SHOWALTER:  |'m sorry, can we,
before you go there, what are we calling the new
version, does it have like a 5.3a kind of a name?

MR. KOPTA: No, it's actually because it was

just a basically turning off something in the nodel,

it's the sane nodel, it's just an adjustnent to how the
nodel is run, so it would still be version HM5.3. It's
just one aspect of the nodel that was -- there are

different options in the nodel you can turn on, turn
off, this is one of the options that you can turn on or
turn off, and therefore we turned it off now
essentially. | may be over sinplifying, Dr. Mercer
but --

CHAl RMOVAN SHOMWALTER: Okay, so does that
mean it's just a different run of the sane nodel ?

MR. KOPTA: Perhaps Dr. Mercer could answer
that a little bit better

DR. MERCER: It is a change in that table
that's within the distribution nodule of the nodel. W

have normal |y only changed designations |ike 5.3a or 5.4
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when we have done a mmjor release of the nodel. And
subject to hearing this question, which is a great one,

I had not thought it was necessary to do that since it's

still HM 5.3 subnitted in Washi ngton, but -- so we have
not relabeled it. It certainly could be if you felt
that was --

CHAl RWOVAN SHOWALTER: My guess is just for
-- that we'll devel op sone kind of convention over the
course of the day as to what we'll call it, but we
probably need sone way to refer to the, you know, |
don't know if it's the revised run or what the right way
to think of it is. But you could think about that in
the course of your questions.

DR. MERCER: What we have in the past in at
| east one proceedi ng where we had a situation like this
occur, we just called it HM5.3 REV for revised. W
could try to refer to things that way.

CHAI RMOVAN SHOWALTER:  Al'l right.

JUDGE MACE: Well, it's Exhibit 860, and that
woul d be HM 5.3 Revi sed.

MR. KOPTA: The one other evidentiary issue
is with respect to Exhibit 858, which is the deaveraging
optim zer program description. That is now Exhibit 702
to M. Denney's testinmony and has al ready been admitted,

so again we would not offer 858.
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JUDGE MACE: And | guess you have offered
these exhi bits which are 851T, 852 through 857, 859 and
860, 861T, is there any objection to the adm ssion of
t hose exhibits?

MR HUTHER: | would only object to the
admi ssion of Exhibit 860 if we were not allowed to
provi de rebuttal testinmny and cross-exanination if
necessary as we di scussed yesterday.

JUDGE MACE: And we will set up a schedule to
allow you time to review and then tell us what you think
you need to do so that we can then decide what further
process i s required.

MR, HUTHER: Thank you, Your Honor

MR. KOPTA: So those are adnmitted
under st and?

JUDGE MACE: Yes, they are.

BY MR KOPTA:

Q M. Fassett, would you state your nane and
busi ness address for the record, please.

A (M. Fassett) My nanme is Dean Robert Fassett,
nmy busi ness address is 141 Juniper Drive, Ballston Spa,
New York 12020.

Q And do you have before you what has been
marked for identification as Exhibit 951T, which is the

direct testinmny of Dean R Fassett, Exhibits 852
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t hrough, | nean excuse ne, 952 through 955, which are
the exhibits to that testinony, and Exhibits 956TC which
is the confidential reply testinony of Dean R Fassett,
and 957 and 958, which are attachments to that
testi nony?

A. (M. Fassett) Yes, | do.

Q Are those exhibits, were those exhibits
prepared by you or under your direction and control ?

A (M. Fassett) Yes, the 951T was the John
Donovan testinony that | adopted, and yes, | have

reviewed it and et cetera.

Q And have you made corrections to that Exhibit
951717

A. (M. Fassett) Yes, not to the T version, no.
| made -- the reason we changed it from 951 to 951T was

nmy adoption of that.

Q And there are sonme redlined indications on
that exhibit that are reflective of your changes to what
was originally M. Donovan's testinony when you adopted
it?

A (M. Fassett) That's correct.

Q And with those corrections, are these
exhibits true and correct to the best of your know edge?

A (M. Fassett) Yes, they are.

Q And if | asked you those questions today,
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woul d your answers be the sane?
A (M. Fassett) Yes, they woul d.
MR. KOPTA: Your Honor, | nove admi ssion of
Exhi bits 951T through 958.
JUDGE MACE: |s there any objection to the
admi ssion of those exhibits?
MR, HUTHER: No obj ection.
JUDGE MACE: We'Il admit them
BY MR KOPTA:
Q Dr. Mercer, have you prepared a sunmary of
your testinony and sone brief oral rebuttal to a portion
of Dr. Tardiff's rebuttal testinony as authorized by the

Comm ssi on?

A. (Dr. Mercer) Yes, | have.
Q Woul d you present those now, please.
JUDGE MACE: |'mgoing to tinme your summary,
so | will give you a 30 second warni ng.
A (Dr. Mercer) My supplenental direct testinony

presents HM 5.3 as the only TELRIC conpliant nodel in
this proceeding that appropriately cal culates Verizon
UNE rates in Washington. HM 5.3 is the nbst up to date
version of the HAI nodel currently available. AT&T has
submtted the |atest there is, particularly in |ight of
the change that we subnmitted this norning.

The HAlI nobdel has existed for a decade at
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this point. It has been used in nunerous rate case,
uni versal service fund USF proceedi ngs, and UNE cost
proceedi ngs during that time. The nodel has been a
maj or force in the industry throughout its existence.
It has been adopted by many state conm ssions including
M nnesota for both USF and UNE purposes, Arizona, and
Uah. It was used to set the loop rates in Col orado.
Significant portions of the nodel were adopted by the
FCC and incorporated into the FCC Synthesis nodel for
calculating USF cost. And even when it has not been
adopted, | believe it's fair to say it has typically had
a mgj or inpact on the proceedi ngs where it has been
subm tted.

Throughout its history, the HAI nodel has
been subject to intense scrutiny by regulatory
commi ssions, their staffs, incunbent |ocal exchange
carriers, and others. At tines frankly it has been
subject to entirely biased and unfair enpty criticisnms
in the sense that the criticisns are acconpani ed neither
by proposed sol utions nor by a neasure of the inpact
that the supposed error has. At tines anong the chaff
of such criticisms there have been some kernels of
truth, and when that has happened, HAlI devel opers have
identified those kernels of truth and revised the npdel

accordingly in an appropriate fashion. The net effect



1489

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

of this process is what | described as the nodel having
been subjected to the refiners' fire. It is better as a
result of that.

The other nodel in this proceeding is new and
has not been subject to the same kind of intense
scrutiny. You heard from M. Turner and M. Turner's
testinmony submitted in this proceeding that even with
the relatively short time we have had, a | ot has been
di scovered that needs to be corrected. You heard nmany
criticisms of the npdel yesterday, they do not reflect
valid criticisnms. In balance HM 5.3 produces nore route
di stance, a longer average |loop |ength, and | arger cable
si zes than VzCost, and | would wel come the opportunity
to revisit these criticisnms today at your discretion

One final point if | have ten seconds, | wll
stop, please differentiate between nodel inputs and
nodel platform The nodel is designed to have input
changes.

That's the end of ny summary.

JUDGE MACE: And now you have sone very brief
| understood approxi mately five mnutes of direct
testimony with regard to Dr. Tardiff's testinony that we
tal ked about earlier.

A (Dr. Mercer) Yes. In Dr. Tardiff's rebutta

there were several things he said about the HAI nodel
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and | want to address four areas. The first is the

| anguage or application used in the program HAl uses
Excel as the dom nant way of doing calculations. That's
not a graceful way to do cal culations, it was done
historically because the FCC required or provided
heartfelt guidelines that the nodel's cal cul ati ons nust
be understandabl e, revi ewabl e, changeabl e, and Excel was
t he best vehicle for doing that.

There are sone mnor uses of other |anguages,
but they are minor. The nodel uses Visual Basic for
Applications, VBA, to nove data fromone nodule to
another. It uses structured query |anguage in one place
in the nodel to role up density zone and wire center
results to produce the expense nodul e outputs. Going
back to VBA for a second, we finally gave up on witing
the interoffice ring code in Excel, and that is al so
written in VBA. So | anguagew se we believe we're using
an under st andabl e | anguage as a gui deli ne we received
fromthe FCC

As far as accessibility, while people may
tout the use of a web based application, we believe that
a significant part of the nodel is that it -- a
signi ficant aspect of the nodel is that it's | oaded and
run on one zone PC, it can be exam ned, nodified, and

does not require coordination with any programrers or
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adm ni strators of the web site.

Dr. Tardiff nmentioned -- said sone things
about preprocessing. |I'msure we'll get into
preprocessi ng today, we heard a |ot yesterday. The
di fference between HAI and the Verizon nodel in our view
is that the preprocessing in HAl deals with custoner
| ocati ons and the grouping of those custoners, not
net wor k equi pnents and routes. It also uses, and
think this is a very inportant distinction, the
preprocessing we're tal king about is being done by a
third party database provider who is a recogni zed entity
in the business of providing such databases. It is not
an internal Verizon or in this case AT&T process, and we
think that's significant.

As an anal ogy we and | believe the Verizon
nodel use data that appears in the so called ARMS,
A-R-MI1-S, reports to the FCC and informati on appearing
in the Local Exchange Routing CGuide. Neither of those
are scrutinized, they're accepted as valid
representations of data. And | believe the anal ogous
situation was we could spend a |lot of tinme pouring over
how t he conmpany has reported ARMS and how it's reported
entries into the LERG but those are independent
dat abases not devel oped for the purpose of the nodel,

and we believe that there is not that need to
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scrutini ze.

There are statements made that TNS sets the
cable lengths. That's not actually the case, TNS does
not set the cable lengths. There are nany ways the
nodel could proceed to cal cul ate cable | engths based on
t he dat abase provided by TNS.

And the final point about the analysis
conpl exity, because we're using Excel, you can use the
Excel audit functions that in, as Excel uses the term
means you can trace the source of the terms in an
equation, and you can trace what happens to the results
of that equation, how the downstream processing then
uses the results in a given equation. You can exani ne
the val ues of any given variable in an equation. And as
| say, of course, the programmi ng | anguage or the
application |anguage itself is sinple enough to all ow
for people to readily understand what the nodel does.

In summary, | believe there is an underlying
i ssue of all of this, and that's the length of tine that
HAI has been in the public domain and has been exam ned
by Dr. Tardiff, by M. D ppon, by M. Mrphy, and by
people like that in other proceedings. And while there
are conpl ai nts made about the conplexity of the analysis
or the conplexity of understanding the nodel, over the

years those w tnesses and ot hers have often been able to
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do mani pul ati on of the nodel and its database, suggested
changes, which as | said at tines have had kernels of
truth that we have incorporated and tinmes have not, but
it just doesn't stand scrutiny to say it's so
conplicated you can't do anything with it because those
Wi t nesses and others have done things with it. That's
the extent of ny rebuttal
Q Thank you, Dr. Mercer
M. Fassett, have you prepared a summry of

your testinony?

A (M. Fassett) Yes, | have.
Q Woul d you provide that now, please.
A (M. Fassett) Yes. Good norning. The

out si de plant engi neering assunptions and i nput val ues
in the HAI nodel are the appropriate -- reflect the
appropriate application of sound engi neering practices
and guidelines and real world practices that are being
currently done out in the industry today. Verizon's own
engi neering guidelines and other proprietary docunents
that they have produced in this proceedi ng support ny
statement of the -- and the input val ues and engi neering
assunptions within the nodel.

A forward | ooki ng network woul d be desi gned
differently than Verizon wi tnesses have tried to state.

It would not mirror the existing network that's out in
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the network today. The sizes and nunbers of SAl's,

DLC s, and other network conponents would be different,
the |l ocations of those network conponents woul d be
different, and the sizes and configurations of clusters
for distribution areas would be substantially different
than exists in today's network, because that network has
been devel oped over a period of years and there has been
nunmer ous changes to that -- to the custoner base within
t hat .

It would capitalize on the structure sharing
opportunities that exist that | have discussed in ny
testimony. This would include aerial, buried,
under ground, the sharing opportunities between feeder
distribution and interoffice cable facilities. The
conpetitive bid process would be utilized to procure
mat eri al s, engi neering services, placenent of
facilities, and the installation for those facilities
i ncluding splicing, et cetera.

Throughout ny reply testinony | have
addressed the criticisms of Verizon wi tnesses. These
criticisms that | have addressed include the cluster and
distribution area sizing, structure mx, structure
sharing, and the validation of the assunptions and input
val ues that are within the Hatfield nodel. And as

Dr. Mercer said, the Hatfield nodel has been scrutinized
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over a long period of years, and we have incorporated
justifiable changes and nodified i nput values to reflect
those that were proper.

In addition, | have also in ny testinony
di scussed the appropriate nethod to efficiently unbundle
digital loop carrier. It currently is being done in
Al aska by two small conpanies, an |ILEC and a CLEC. And
certainly if those two small conpanies are able to
acconplish that, large ILEC s can al so acconplish that.

And that concludes ny summary, thank you.

MR. KOPTA: The witnesses are available for
Cross-exam nation.

JUDGE MACE: M. Huther.

MR, HUTHER: Thank you.

CROSS- EXAMI NATI ON
BY MR HUTHER
Q Dr. Mercer, M. Fassett, good norning.
(M. Fassett) Good norning.

A (Dr. Mercer) Good norning.

Q Let's start with you, Dr. Mercer. You just
described either in your summary or perhaps in your
response to Dr. Tardiff's rebuttal testinony the various
progranmm ng | anguages utilized by HM 5.3, correct?

A (Dr. Mercer) Yes.
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Q What software is the preprocessing perforned
by TNS, which software is used by TNS to performthe
preprocessi ng?

A (Dr. Mercer) | would -- could only ask you to
refer to M. Dippon's response to that. | have not
exam ned that program those program ng | anguages
nmysel f.

Q Have you revi ewed any aspect of the
preprocessi ng performed by TNS that yields the customer
| ocati on database that is an input to HM 5. 3?

A (Dr. Mercer) I'msorry, would you ask that
agai n.

Q Yes.

CHAIl R\OMVAN SHOWALTER:  Wbul d you nove the
m crophone just a little bit closer to you.

MR HUTHER: Yes, |'msorry.
BY MR HUTHER

Q Have you revi ewed any aspect of the
preprocessing performed by TNS that is used to produce
the cluster input database as an input to 5.3?

A (Dr. Mercer) If by review you nean have |
revi ewed the progranm ng | anguages, the answer woul d be
no. If review neans have | talked to TNS and under st ood
the process and hel ped provi de guidance to TNS, the

answer is yes.
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Q Have you been able to confirmthat TNS has
appropriately perforned the clustering exercise?

A (Dr. Mercer) | have | ooked at a nunber of
sequences of pictures such as those that were presented
to M. Dippon yesterday. | don't have the exhibit
nunbers right in hand. Have | ooked at where the
custoner |ocations are, have | ooked at how they have
been organi zed into clusters, have seen the clusters
t hemsel ves, and have seen the rectangles that represent
those clusters. So in the sense of review ng a nunber
of those kinds of sequence of pictures, yes, | have.

Q In other words, you have revi ewed the output
of the clustering process, but you have not anal yzed
each step of the process; is that a fair
characteri zation of your testinony?

A (Dr. Mercer) Again, | have exani ned the
out put of each step, but | have not exam ned the
software itself.

Q M. Fassett, are you famliar with the
preprocessi ng perfornmed by TNS?

A (M. Fassett) No, | amnot. | am aware of
what it does basically, but | have never done any
anal ysis or anything. That's not part of my testinony.

Q Have you ever been provi ded access to al

aspects of the TNS preprocessi ng?
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A. (M. Fassett) No, but | have never asked to,
because it's not what mnmy expertise is in.

Q Under st ood.

Dr. Mercer, are you aware of anyone ot her
than M. Di ppon who has been provi ded access to the TNS
clustering algorithn?

A (Dr. Mercer) No, not specifically.

Q And you're aware that M. Di ppon was provi ded
access to that clustering algorithmin the Verizon
California proceedi ng?

A (Dr. Mercer) That's ny understandi ng, yes.

Q Dr. Mercer, can we go to your rebutta
testimony at page 43. That testinony | believe has been
mar ked as 851T.

CHAl RWNOVAN SHOWALTER:  You haven't been here,
but when you refer to an exhibit, can you give us the
exhi bit number first, and then see that we're all there
on the exhibit number, then give us the page. Because
generally speaking by the tine we find the exhibit we
have forgotten the page.

MR, HUTHER: Understood, | will do that going
forward. |It's Exhibit 851T.

COW SSI ONER HEMSTAD: That's the
suppl enental direct testinony.

MR, HUTHER: That is, and |'msorry, that is
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1 not the exhibit I was referring to. | was referring to

2 his reply testinony, which is 861T.

3 JUDGE MACE: And what page?
4 MR. HUTHER: Page 43.
5 JUDGE MACE: CGo ahead.

6 BY MR. HUTHER:

7 Q Do you have that in front of you, Dr. Mercer?
8 A (Dr. Mercer) Yes, | do.
9 Q I would like to direct your attention to the

10 second sentence beginning on line 1, begins with the

11 wor ds, custoners remain.

12 A (Dr. Mercer) | see that.

13 Q Do you see that?

14 A. (Dr. Mercer) Mmhm

15 Q It says:

16 Custoners remain within the confines of
17 the small clusters to which they were
18 originally assigned after being

19 geocoded.

20 Did | read that correctly?

21 A (Dr. Mercer) Yes.

22 Q How far, have you quantified how far clusters

23 are renmoved fromthe original custoner |ocation?
24 A (Dr. Mercer) As a result of where the

25 centroid, CGE-N-T-R-OI1-D, are located, the rectangles
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that represent the custoners can nove. However, let ne
point out that if | have a piece of paper with a nunber
of spots representing custonmer |ocations on it and

take that piece of paper and | slide it over, or for
that matter if | were to rotate it, that nmmkes
absolutely no difference in the amount of cable required
to connect those points to each other. So while you may
draw a picture that says it |ooks odd to have centered
that cluster on its centroid, the inpact on the
distribution calculations is irrelevant. So ny coment
here about staying in the cluster, they have stayed
within the cluster, they have not been noved out of the
cluster. The cluster may | ook odd when plotted, but the
odd plotting has nothing to do with the cal cul ati on of

di stribution distance in that cluster

Q Dr. Mercer, mny question was, have you
quantified the di stance by which they have noved?

A (Dr. Mercer) In the sense of numerica
answers, no. But what | amsaying is that the clusters
will move to the centroid. |If the centroid is on the
edge of a cluster, they may nove as far as fromthe what
woul d have been centered in the nore or less the niddle
of that cluster out to its edge. That can be, |
suppose, can be as nmuch as 15,000 feet the way they're

dr awn. It would be no nmore than the maxi mum di stance
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you get fromthe mddle of a cluster out to one edge.
But | have not, you know, beyond that statenent of
generically what happens, | have no plots of that or any
count of the distances.

Q Staying in the sanme Exhibit 861T, could you

pl ease turn to page 6.

A (Dr. Mercer) |I'mthere.

Q And specifically lines 16 through 22.

A (Dr. Mercer) Yes.

Q You seemto be criticizing Dr. Tardiff's

conparisons to ARMS on the grounds that these data

i nclude costs that are excluded from UNE rates; is that

accurate?

A. (Dr. Mercer) Yes, it is.

Q Do you have Dr. Tardiff's testinony in front
of you?

A (Dr. Mercer) | don't believe so, no.

Q Al right, et me -- | believe that's been

mar ked as Exhibit 501T.
MR, HUTHER: May | approach?
JUDGE MACE: Yes.
DR. MERCER: Thank you.
MR, HUTHER: Sure.
BY MR HUTHER:

Q If you could turn to Footnote 60 of that
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1 testi nony, which is found on page 38.

2 A (Dr. Mercer) Yes.

3 Q Fairly lengthy footnote, you're welconme to
4 read it inits entirety, I would like to focus on the
5 | ast sentence.

6 A. (Dr. Mercer) Ckay.

7 Q And that | ast sentence reads:

8 | have al so reduced the general support

9 i nvest ments and expenses in the ARM S

10 and current investment colums to match

11 the proportions assigned to the UNEs

12 nodel ed by HM 5.3 in this proceeding.

13 Do you see that?

14 A. (Dr. Mercer) Yes, | do.

15 Q And did | read that accurately?

16 A (Dr. Mercer) Yes.

17 Q Doesn't this adjustnent performed by

18 Dr. Tardiff renove the investments and expenses from
19 ARM S data in order to nake the conparison to 5.3 an

20 appl es to apples one?

21 A (Dr. Mercer) Not necessarily, no, because,
22 for instance, there has been a considerabl e argunent

23 about, let's pick one category, product managenent

24 expenses, and whether they're appropriately included in

25 UNE's. | have no way of reading this sentence and
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knowi ng whether Dr. Tardiff and | would agree on the
excl usion of those expenses or not. So reading a
sentence like this is not of any significant help and
woul d not change and did not change ny statenent in the
decl arati on.

Q Did you review Dr. Tardiff's workpapers
produced along with his testinony to determ ne which
costs fromARM S were actually included in this

compari son?

A. (Dr. Mercer) Yes, to sone extent.
Q But not fully?
A (Dr. Mercer) The -- | -- my review was

limted to the understandi ng what happened to genera
support since that's specifically what nentioned here --
is what's nentioned here. There are other categories of
expenses such as overhead and the like, | did not see
those or review those thoroughly. | did not see in the
general support any indication that it was done in
necessarily the sane fashion that we would have done it
in HAl.

Q Okay. Could you please turn to page 16,
Footnote 3 of your rebuttal testinmony, the same one we
have been working on, 861T?

JUDGE MACE: What was the page agai n?

MR, HUTHER: The page was page 16, Footnote
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docunent any | onger

And | don't

DR. MERCER

believe | will be using th

so |'mhappy to pick it up

That's good, it nmight be

sonmewhat wrinkled by the end of the day.

MR HUTHER

of the day.

A

(Dr. Mercer) |

BY MR. HUTHER

Q

several tines about clusters sized for

at

think they all are by the end

"m at Footnote 3.

And there you state that Dr. Tardiff t

is that correct?

A
Q

st at enent

(Dr. Mercer) Yes.

al ks

And he attributes that size to an earlier

by AT&T wi tness John Donovan, and he a

admts the average cluster size of VzLoop is

consi derably larger than 600 lines; is that right

A

Q

(Dr. Mercer) That's what | say there,

Do you recal

whi ch you stated that

responding to a data req

SO

?

yes.

uest

Dr. Tardiff's explanation that

VzLoop produces 3,300 SAl's averaging 1,400 lines; do

you recal

A

t hat ?

(Dr. Mercer) |

responses to data set

Q

Yes.

12.

believe that was in the

200 to 600 lines;

in
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1 A. (Dr. Mercer) Yes.

2 Q It's specifically 12-21, |'m happy to provide
3 you with a copy of it, but --

4 A (Dr. Mercer) | renmenber roughly. 1 also

5 woul d point out there that | acknow edge that it was not
6 Dr. Murphy, that it may -- I'msorry, |I'mnaking the

7 same mistake | made originally. | acknow edged it was
8 not Dr. Tardiff who had nade the statenment about 200 to
9 600 lines, it was M. Mirphy.

10 Q Okay, you're better at the math than | am

11 but entertain me for a nmoment, isn't it the case that

12 there are about one nmillion lines in Verizon Northwest
13 Washi ngton serving area?

14 A. (Dr. Mercer) One mllion, yeah, narrow band,
15 plain old tel ephone service, and related lines, that's

16 about the right figure.

17 Q And you're aware that the average nunber of
18 lines per SAl in Verizon's -- in VzLoop is about 3007
19 A. (Dr. Mercer) | will take that representation
20 fromM. Mirphy's testimony. | did not actually do that
21 calculation, but I will accept that.

22 Q Well, the calculation wuld be a nmillion

23 l'ines or roughly thereabouts divided by the 33,300

24 SAl's, correct, actually the reverse of that, 3,300

25 divided by a nmllion?
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A. (Dr. Mercer) That's correct.
Q Okay.
JUDGE MACE: Could you repeat the --
MR, HUTHER: Ch, do | need to do that again?
CHAIl RWOMAN SHOWALTER: | think you neant
3,300 --
MR. HUTHER 3,300 and 1 nmillion, the nunber
of lines in Verizon's serving area, gets you to the 300
l'ines.
CHAI RWNOVAN SHOWALTER:  Per ?
MR, HUTHER: Ch, per SAIl.
BY MR HUTHER

Q I"'m having the same trouble with the
cal cul ation as you were with Dr. Tardiff and M. Muirphy,
so let's try this again, Dr. Mercer, | warned you at the
begi nning | wasn't good at the math, so.

A (Dr. Mercer) If I'mnot m staken yesterday at
one point | was sitting in the back of the room and
referred to as M. Miurphy. M. Tucek couldn't decide
who was nore insulted, ne or M. Muirphy.

Q Well, there's a good explanation at the end
of the afternoon, but I'mnot sure why | can't get it
strai ght this norning.

Okay, let's try this again. The calculation

that yields the 300 Iines per SAl is 1 nmillion divided
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1 by 3, 300.
2 A (Dr. Mercer) | agree with that, yeah

3 Sonmehow | had transl ated before even when you said it

4 backwar ds, but yeah, | agree with that cal cul ation

5 Q Actually, | think I got it right the first
6 tine.

7 A (Dr. Mercer) You may have.

8 Q Al right, let's get out of the math. Page

9 56 of Exhibit 861T, your reply testinony, if you will
10 turn there

11 CHAI RMOVAN SHOWALTER:  This is nmy problem |
12 hear the first nunber and |'mthinking about it, so |
13 didn't hear the exhibit nunber first.

14 MR, HUTHER: 861T, the rebuttal reply

15 testi nony.

16 CHAIl RMOVAN SHOWALTER:  Page?
17 MR, HUTHER: 56.
18 CHAl RMOVAN SHOWALTER:  Thank you

19 BY MR. HUTHER

20 Q Li ne 14.

21 A (Dr. Mercer) Okay.

22 Q Do you see there, Dr. Mercer, you contend
23 t hat :

24 M. Murphy may hold that all cable and

25 structure costs should be assigned only
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to UNE's at issue in this proceeding.
A (Dr. Mercer) | see that, yes.
Q Coul d you point to me where in M. Mrphy's
testi mony he mekes that clainf?
A. (Dr. Mercer) | don't have his testinony here,
but I can tell you, well, | think we're answering a
qgquestion here that describes the area where we are, and
it's around page -- | heard so many tines to speak into
the microphone that now I' m overhyper about it. |'m
referring to the discussion around page 14 where
M. Murphy tal ks about how the HAI npdel has discarded
the vast majority of the costs attributed to the al
fi ber network, and that's a particularly unfortunate and
m sl eadi ng characterization, and that's what |I'mtalking
about there. [I'mnot sure it's exactly page 14, but
it's close by. That's the part we're tal king about
here.
Q Let me give you a copy of M. Mirphy's
testi nmony so you have that handy.
CHAl RWNOMAN SHOWALTER:  Which is exhibit what?
JUDGE MACE: 551TC.
BY MR HUTHER
Q And if | could ask you to turn to page 92 of
that exhibit.

JUDGE MACE: OF 5517
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A

MR, HUTHER: Yes.

(Dr. Mercer) Okay.

BY MR. HUTHER

Q

In there M. Mirphy contends that had HM 5.3

correctly identified the 182 units of OCh demand --

counsel ?

JUDGE MACE: |'msorry, where are you,

MR. HUTHER: Oh, 4.

BY MR. HUTHER

Q

( Readi ng)
Had HM 5.3 correctly identified the 182

units of OCn demand - -

JUDGE MACE: And OCn is capital O capita

usually small n for the reporter

Go ahead.

(Readi ng.)

O the total 2,869 units of high cap
demand nodel ed by HM 5.3, only 6% of the
hi gh cap services and their associated
costs woul d be appropriately categorized
as not at issue in this proceeding, not
the ridiculous 77% that HM 5.3 uses to
justify elimnating the $21,430,000 in
outside plant or OSP structure

i nvestment that HM 5.3 di scards.

Cy
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Do you see that there?
(Dr. Mercer) Yes, | do.
And did | read that correctly?
(Dr. Mercer) | believe so, yes.

Isn't that M. Mirphy's clainf

> © » O >

(Dr. Mercer) This is not the only place, for
i nstance, where |'mtal king about a quote that talks
about discarding the vast npjority of the cost
attributed to the network, so you're reading a sonewhat
different quote. It appears to ne that at fast gl ance
that page 14 nmay not be the right place, but ny citation
there was to | anguage that | believe was in his
testimony. So there's nore than just this place that
they're tal king about.

Q Well, isn't it true that the point that
M. Murphy was naking and to which you are respondi ng or
attenpting to respond is that -- regards the assignnent
of cable and structure costs? It's not that they should
be assigned only to UNE's at issue in this proceeding as
you have argued, but rather that only those costs
associ ated with OCn services should be excluded because
he believes that's what the 21st Suppl emental Order
directed the parties to do?
JUDGE MACE: Which 21st Suppl enental Order

are you tal king about?
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MR, HUTHER: In this proceeding.
JUDGE MACE: Thank you.

A (Dr. Mercer) This particular place talks
about -- appears to talk about the OCn's, | see that.
Again, the gist of this coment though I believe is
entirely erroneous, and |let ne explain that because
think it's enlightening. Wat M. Mrphy is conplaining
about here is that we had certain services that Verizon
identified as being for instance DSl services on optica
fiber or DSO services on optical fiber. W said those
services are fundanentally different than DS1 services
of fered over copper or DSO offered over copper. It's a
different serving arrangenment and quite different costs.
We excluded those services because we said it does not
make sense to take a DS1 cost that is for a particular
service offering of Verizon. 1It's not just that the
services may happen to be on fiber. In the HAl nodel,
services like a DSO wi |l sonetinmes be on copper and
sonetines be on fiber depending on the nost efficient
arrangenent. The issue here is if service is offered
specifically as being over fiber for the reasons of
qual ity and cost and conveni ence of arrangenent. That
to me and to us as we made the decision about the nodel
is a fundanentally different service than what | think

of as a DS1 service which is nornally provided over
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copper, so we did characterize those as optical fiber

services and did

be included, but

not include them They certainly can

they're not that way now because

think it's a fundanentally different service

EXAMI NATI ON

BY CHAl RMOMAN SHOWALTER

Q Just a quick follow up. Wien you say you did

not include them

anywhere in your

does that nean that's not included

calculations or only in this portion

you' re tal king about and they're picked up sonewhere

el se?

A (Dr. Mercer) It means that the demand is

reflected in the

nodel . That is we have provided the

fiber capacity for those services, but we have not

priced -- we have not devel oped a UNE price for a DSO

over fiber or for

M. Mirphy is cor

a DS1 over fiber. In this sense

rect that investnents have been

associated. If you renenber the FCC guidelines early in

the UNE process was that the network should be sized to

reflect all the demand. The demand for such services is

present, and we are reflecting the capacity needed to

serve that demand, but we are not devel opi ng UNE costs

for these rather

and DS1 on fi ber.

uni que and specialized services of DSO
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CROSS- EXAMI NATI ON
BY MR HUTHER

Q You don't deny, Dr. Mercer, that HM 5.3 high
cap optical category of services includes OCn, DS3's,
and DS1's, correct?

A (Dr. Mercer) And possibly sone DSO's that are
of fered on fiber, although they're small nunbers of each
of these.

Q And you would agree that HM 5. 3 renpves al
cable and structure costs that are nodel ed for the high
cap category except those associated with DS3?

A (Dr. Mercer) | don't agree, and that was the
gist of ny conment, | don't agree that you have renoved
the investnent, you have assigned investnent to
appropriate services. The fact that in this proceedi ng
we are not recomrendi ng and neither is Verizon
recommendi ng rates for, for instance the OCn services
does not nean you have renoved the investnment. The
investment is there, and it's been assigned. The cables
are bigger for instance as a result of having a DS1 on
optical fiber. W have put nore fiber into the network
Have we renoved that investnment? No, we have assigned
it. If we were calculating the cost of a DS1 on fiber

service, that's where that investnent woul d be assignhed.
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We believe that that's the appropriate treatnment of
those services. You reflect all the denmand, you devel op
UNE costs for those things you' re devel oping UNE costs
for. That's what in nmy mind the FCC neant when it said
reflect all the demand.

MR, HUTHER: | think I'"'mready to turn to
M. Fassett. Shall | keep going, or would you prefer to
take a break?

CHAl RMOVAN SHOWALTER: Maybe we shoul d take a
break, this seens like a good tine.

JUDGE MACE: 15 minutes.

(Recess taken.)

JUDGE MACE: | wanted to let you know t hat
Dr. Gabel has a foll owup question for Dr. Mercer before
you turn to M. Fassett, but | understand you al so had
one additional question for Dr. Mercer; is that right?

MR, HUTHER: | did.

JUDGE MACE: Co ahead.
BY MR HUTHER:

Q Dr. Mercer, setting aside for the nonent the

di sagreenent you have with M. Mirphy over whether those
DS1's that have been included in the high cap category
shoul d be reclassified into the DS1 non-sw t ched
category, if | wanted to nove them or the Conmm ssion

wanted to nove theminto the non-sw tched category, how
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can that be acconplished in the nodel ?

A (Dr. Mercer) You would just need to take
those investnents that right now are being assigned to
DS1 and add theminto the DS1. You would also need a
version of the term nal equipment that converts the
fiber optic DS1 signal into a DS1 the custoner sees. |
mean right now for the DS3 service we say there's a
substanti al anmount of investment in the customer
prem ses equi prent that takes basically light in and
puts the DS3 electrical signal out. You would need that
equi pnent for DS1 as well. W have done that. | nean
we have | ooked at that before, we could do that.

Q And do | understand correctly that that's
sort of a worksheet cal culation that you're proposing as
opposed to an input, a user adjustable input to the
nodel ?

A (Dr. Mercer) You could do it either way. In
the California proceedings, for instance, where we had
specific UNE's that were not produced i nherently by the
nodel , we added a California UNE rate sheet, one for SBC
and a different one actually for Verizon, that did that
kind of calculation. So you could do it in a separate
wor ksheet that was added to the nodel that acquired
i nvestments fromthe nodul es and then created that

calculation, or if so ordered you could actually build
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it into the nmodel cal cul ations thenselves. It would
certainly be nore straightforward to do it in a
calculation in a separate worksheet than to go back and
revanp the nodel

Q And to revanp the nodel would require the
assi stance of TNS, correct?

A (Dr. Mercer) Yes, | guess it woul d.
started to say no, | didn't see why they would be
i nvol ved. They woul d be invol ved because you woul d need
to separately identify that category separate fromthe
ot her high capacity services, so you would need TNS to
i ndi cate which DS1 on fiber lines were in which cluster
yes.

MR, HUTHER: That's all 1 had, thank you.

JUDGE MACE: Dr. Gabel

EXAMI NATI ON
BY DR GABEL:
Q Good norning, Dr. Mercer

I'"'mnot sure | understood your response to
M. Huther right before the norning break. | thought |
heard you say that when you develop the DSO | oop rate
you exclude the DSl i nvestments associated wi th DSO
| oops.

A (Dr. Mercer) Okay, if |I said that, | said it
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really badly.

Q Al right.

A (Dr. Mercer) Because what | was trying to say
was Verizon has al so provided certain customer records
that say there is a DSO on fiber. So what | said was
that we are not conbining the DSO on fiber service with
the DSO, normal DSO's that are on copper. | could give
a simlar answer about being able to do that would
require a separate identification of those, but | was
not intending to mx up DSO and DS1. | was trying to
say that we have not conbined the DSO on fiber service
cost with those normal DSO's you think of as being on
wWire pairs.

Q Ckay, so | want to nmake sure | understand
this, so there is a DSO POTS on fiber, and then there's

DSO non- POTS on fiber, and that's the distinction you're

maki ng?
A (Dr. Mercer) Let's see, DSO POTS, there is --
it's not -- it's probably when we're talking DSO we're

normal |y not tal ki ng about the POTS, the tel ephone
service, we're tal king about non-switched private |ine
services. And in the nodel database you will find a
category called individual non-switched services, those
are the DSO's that are not part of the switched | oops

that are going into the switch but are these private
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line things. And then you will find as part of the high
capacity services there are sone anount of DSO's on
fiber in there. So yes, so we're talking on the one
hand about DSO's provided over wires that are provi ded
-- that are given wire pairs in the nodel, and they're,
you know, and we have a UNE rate for | oops that includes
| oops that are used for switched and | oops that are used
for DSO. But then there is this other category of DSO
services offered on fiber. That's the way it shows up
in the Verizon database.

Q And for those DSO non-switched | oops where
you exclude their investnent, is that what the exchange
was - -

A. (Dr. Mercer) That's what -- when they are
called -- when Verizon has identified a service as being
a DSO or a DS1 on fiber, we are not devel oping the cost
of those, we are calling those other high cap optica
services. W' re recognizing the demand for fiber, and
we're saying there's investnent associated with them
but we're not devel opi ng specific UNE costs.

DR. GABEL: Thank you.
JUDGE MACE: Co ahead.

MR, HUTHER: Thank you.
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CROSS- EXAMI NATI ON

BY MR HUTHER

Q | would like to turn to sonme of the
engi neering issues in the nodel and the nodeling
inplications for sone of the decisions that have been
made. Before | get to you, M. Fassett, Dr. Mercer, is
it true that exenpt materials have generally been
accounted for within the nodel as a load to the

techni ci ans | abor rates?

A. (Dr. Mercer) Yes, | believe that's a fair
st at ement.
Q And so then the labor to install plant such

as tel ephone poles is included in the capital accounts
for that equi pnent, correct?

A. (Dr. Mercer) Well, now we're tal king about
two different things. There's no exenpt nmaterial -- the
pole is not exenpt material and you're probably actually
-- M. Fassett can tell you a |ot nore how stuff is
categorized in outside plant. |If | look at a pole
there is a | abor conponent of a pole and a nateria
conmponent of a pole. The, as | understand it, again
believe M. Fassett can speak to this better than | can
but certain incidental things that go on a pole, and
assune they mean things |ike faceplates or the things

you stand on sticking in the side of the pole, you can
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1 tell why we have an outside plant person, anyhow that

2 kind of, you know, screws and tie downs and things |ike
3 that are what | understand to be so called exenpt

4 mat erial, and they would be included in | abor rates.

5 Q Ckay, so the exenpt materials you agree are
6 i ncluded in | abor rates for purpose of the nodel ?
7 A (Dr. Mercer) Yeah, | nean there's lots of

8 ki nds of exenpt stuff, and as | understand it, again

9 there are certain materials. It's the stuff you find in
10 bi ns, you know, in the warehouse as opposed to a whole
11 pol e, but there are stuff laying around in bins that a
12 craft person needs to conpletely equip a pole. And in
13 as nuch as the tel ephone conpani es, you know, don't

14 categorize that stuff separately as part of the pole

15 investment, it's being picked up as |abor. That's ny

16 under st andi ng.

17 Q Okay.

18 M. Fassett, let's go to page 24 of Exhibit
19 956TC. That is your reply testinony.

20 JUDGE MACE: You're going to have to repeat
21 t he page number.

22 MR. HUTHER: | will try that again.

23 BY MR HUTHER

24 Q Let's go to Exhibit 956TC, that is your reply

25 testi nony.
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A. (M. Fassett) OCkay.
Q And if you could please turn to page 24.
A (M. Fassett) | have it.
Q There you state:
Anchors and guys are not classified as
capital itens of plant but as exenpt
materials and therefore are correctly
not capitalized within the nodel.
A (M. Fassett) That's correct. | think for
the Commission | will explain what on a pole is

capitalized. The pole material and the |abor for
pl aci ng that pole beconmes a unit of plant, and that goes
into the conpany's continuing property records. The
ot her attachments to the pole that or hardware that's
attached to the pole or maybe support the pole such as a
anchor, a guy, the through bolts, the bolt that goes
literally through the pole and attaches the fixture
there, the strand which goes down as a down guy piece,
any of that incidental hardware is not classified as a
unit of plant, and it's not on the conpany's continuing
property records, and it's included into the exenpt
mat eri al | oadi ngs that are added onto the | abor rates
for the technicians.

Q Do you agree with that, Dr. Mercer?

A (Dr. Mercer) Yes, it's ny understandi ng, but
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let's be clear here. What's happening with a pole
investment in the nodel is a pole has material and it
has | abor. So when this kind of material is getting put
into | abor, the $400 plus of a pole has the | abor piece
and the material, the wood if you will, and therefore
all of that is now beconmi ng part of what the nodel
capitalizes. |It's treating it as the investnent in
pole, so there's a lot of pieces to the network that
have a | abor conponent for installing that equipnent,
and that's part of the capital investnent.

Q Dr. Mercer, you would agree that there are
instances in the version of HM 5.3, at |east as of
yesterday separate and apart fromwhat you filed today
that no party has been able to review yet, but in the
prior version of HM 5.3 you woul d agree there are
i nstances in which the nodel designs |oops in excess of
18,000 feet, correct?

A (Dr. Mercer) No, | wouldn't agree with that
characterization. The nodel has a linmit on 18,000 feet.
When it |ooks at a cluster, it |ooks at the anpunt of
cable required to get out to the furthest point on the
-- in the cluster. And if that's greater than 18, 000
feet, it will actually split the cluster

| believe what you may be referring to is if

you will remenber the answer this nmorning about strand
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di stance, | nmentioned that the nodel is normalized to
the strand distance, and | gave the exanple of the
strand di stance being 2,000 feet, quite a small cluster
but 2,000 feet and the nodel having only produced 1,600
feet, it says there's a ratio of 2,000 to 1,600, and it
nmul ti pl es that plant conponent. Your characterization
of that is that the | oops then becone | onger than 18, 000
feet, but that's because you're still producing pictures
that just expand or shrink the backbone and branch
cables. That's not what the nodel is trying to do at

t hat point.

The reason you're doing the strand
normal i zation i s because custoners are not always
uniformy located in a cluster, they're not always on
evenly spaced straight streets. The strand distance is

telling you what it really takes to connect to those

custoners. In certain clusters where | may have streets
cl oser together or streets turn in a certain way, | wll
produce a strand distance that's greater than 1. 1In ny

mnd that's quite a different statenent than saying that
all of a sudden there are |oops that are greater than
18,000 feet. So | think it's only in that |ast stage of
the picture we saw yesterday with the either shrunk or
expanded rect angl es.

And understand, by the way, as a result of
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the revised nodel that we subnmitted this norning, in
general those little -- those shrunk rectangl es we saw
yesterday are going to be significantly |arger, because
that's the net effect of the change to -- that we nmade
to the nodel. But be that as it may, your
characterization is that you have changed | oop | engths,
that's not ny characterization.
Q Let's turn to Exhibit 861T, Dr. Mercer, that
is your reply testinony.
A. (Dr. Mercer) Okay.
Q And specifically page 29.
CHAI RWOVAN SHOWALTER: Can you wait until we
get there.
MR, HUTHER: Ch, sure
BY MR HUTHER
Q Page 29, Dr. Mercer, of Exhibit 861T, you
state on line 7 that, and |I'm paraphrasing here so, that
Dr. Tardiff's proposal may have nerit subject to further
exam nation, and you continue on line 8 to say:
To the extent that the strand
normal i zation factor is greater than
unity for a cluster, it suggests
custoners are nore spread out than the
backbone and branch cal cul ati ons

originally assunmed. That being the
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1 case, it makes sense to check the need
2 to deploy fiber feeder and potentially
3 subdi vi de clusters using the post

4 normal i zati on rather than the

5 prenormal i zati on di stances.

6 Did | read that correctly?

7 A (Dr. Mercer) You did.

8 Q And so you're agreeing there with

9 Dr. Tardiff's criticism correct?

10 A. (Dr. Mercer) Actually, if you read the thrust
11 of that, | say in there Dr. Tardiff's proposal nay have
12 merit. This falls in the category of the process |

13 described this norning where | said that along with a
14 rather | arge amount of chaff that's thrown up about the

15 model , there's sonetinmes kernels of truth, and we're

16 | ooking at those. And as | indicated there, we're
17 | ooki ng at that issue.
18 However, as with ny answer before suggested,

19 what we're beginning to find is yes, there are clusters
20 where you get a strand nornmlization greater than 1.

21 And t he reason that happens is that, |I'm going to have

22 to paint a picture in the air, sol will try to get the
23 words to keep up with it, if I have a cluster with very
24 fewlines init, what's literally done in the nodel is

25 that lots are uniformy distributed in a cluster. And
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if I have a very fewlines in a cluster, that inplies in
the initial step of laying out cable that | have |arge

lots and | only run to the edge of the lot that's

furthest out towards the edge of the cluster. 1In other
words, | stop the cable at the edge of what may be a
large |ot.

And what strand nornalization in that case
tells you is, you know what, the customer is not really
on a uniformy large lot |ike that, they may be nuch
closer to the edge of the rectangle, and therefore a
strand di stance greater than 1 may be saying that you
have to go further out to the edges than the way the
nodel initially calculates. And that's true, that does
happen.

But you know what we're finding happens, that
happens in a small fraction of cases. You don't have
that many clusters with a very fewlines in it. What
seenms to be nuch nore commonly happening is that you
just have places where custoners are intensely close
together, and therefore it takes nore cable to reach
them but they're intensely -- they're, intensely is the
wrong word, they're closer together than the nodel is
suggesting, but they're closer together in an area where
the nodel already knows there are cable. |In that case

you haven't increased the loop length to reach those
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custoners, you have increased the route niles.

Well, the strand nornelization takes care of
the route mle problem but it does not translate into
saying that | have to adjust the loop length. So ny
exactly the exam nation that |'m suggesting |'m doing in
this paragraph is what we're doing, and the nmore we're
doing it, the nore we realize the cases where you woul d
suggest there needs to be a | onger |oop length are much
smal l er than the cases where you're saying strand
normalization is just adding route mles because there
are just -- because of the situations where there's nore
custoners packed together

Q Did you account for the change here that you

have identified in the new version of HM5.3 referred to

as HM 5. 3R?
A (Dr. Mercer) Did | account for what?
Q Did you -- does the new version of -- does HM

5. 3R account for the nodeling change that Dr. Tardiff

has proposed and that you have agreed with here?

A (Dr. Mercer) No, it does not, and | have not
agreed with it here. Again, | will point out to you the
| anguage. It says it may have merit subject to further

exam nation. W're doing that exam nation, we don't
believe at this point that's an appropriate change. The

nodel changed exactly the way | described this norning,
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and it does not include any change in this area. It

i ncludes only one thing, and that's getting rid of the
erroneous subtraction of drop distance fromthe strand
di st ance.

Q M. Fassett, let's go back to your testinony
that has been marked, bear with me a nmoment, 956T.

A (M. Fassett) Okay.

Q At page 13 on line 17 through 18. There you
di sagree with M. Mirphy's testinony regarding the
nodel ' s desi gn of maxi mum copper | oops in excess of
18, 000 feet, correct?

A (M. Fassett) Yes, that's correct. And in
that testinony, in that very paragraph, | state that, as
explained by Dr. Mercer in his testinony, which I
believe we just heard.

Q What analysis did you performon HM5.3 to
verify that statement contained on line 17 that the
nodel limts the maxi num copper |oop |lengths to 18, 000
feet?

A (M. Fassett) | discussed that with
Dr. Mercer, and it's always been my know edge that the
maxi mum | oop I ength within the nodel was 18, 000 feet,
and | discussed that with Dr. Mercer, and that's part of
what he has tal ked about in his testinony.

Q You --
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A. (M. Fassett) He did an analysis, | did not
do an analysis of that, no.

Q So | take it you didn't |ook at any of the
nodel ' s output or algorithns or internmediate results
to --

A. (M. Fassett) No, |'man outside plant
engi neer, and | focused strictly on the outside plant
engi neering assunptions and input val ues.

Q So you don't know whether it's possible, if
you can look in HM 5.3 to deterni ne whether the nodel
produces maxi mum copper |loop lengths in excess of what
Dr. Mercer told you it cal cul ates?

A (M. Fassett) That's correct, | do not
testify that | have | ooked at the nodel and the outputs
within it for that.

Q Did you |l ook at any -- |'msorry.

JUDGE MACE: You need to let himfinish his

answer and then ask your question.

MR, HUTHER: | apol ogi ze.
A (M. Fassett) For those very reasons that |
explained, | had referred it to Dr. Mercer, and then

he's the HAI witness or expert on the nodel, and | am
not .
Q Did you analyze any of M. Mirphy's

wor kpapers establishing the nmethod by which he
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determ ned that there were 215 clusters produced by HM
5.3 that contained | oops in excess of 18,000 feet?

A (M. Fassett) No, | did not.

Q Let's tal k about the engineering of the
network. M. Fassett, is there a user adjustable input
in HM 5.3 that would allow the user to alter the

| ocation of the SAl that is assuned by the nodel ?

A (M. Fassett) To alter the location?
Q To change the location, to relocate the SAl
A. (M. Fassett) | believe ny -- what the nodel

does, it locates that within that cluster as described
in the HP, and | don't know for sure --

JUDGE MACE: As described in what?

MR, FASSETT: The HIP, the Hatfield Inputs
Portfolio, which is a -- the docunentation that provides
all of the various support and for the various
assunptions and inputs values within the nodel.

JUDGE MACE: Thank you.

DR. MERCER: That's Exhibit RAM5 of ny
suppl enentary direct.

MR. KOPTA: Exhibit 856.

JUDGE MACE: Thank you.

A. (M. Fassett) But | don't know, to answer

your question, | don't know whether there is a change or

a nodification to the nodel that would allow you to
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change that from-- so that you're tal king about
novenment, |'m not aware of that, to change the | ocation
of the SAI. | believe that's what your question rel ated
to.

Q That's correct, M. Fassett.

Isn't it the case that in npst instances the
| ocation of the SAl, and SAl nmeans -- is an acronym for
serving area interface, is set on or about the centroid
of a cluster?

A. (M. Fassett) That's correct.

Q And do you know whether -- strike that.

Dr. Mercer, isn't it true that the placenent
of the SAl on or about the centroid of the cluster
occurs in the TNS clustering process, that is the
preprocessing to the nodel ?

A (Dr. Mercer) Well, TNS does not place SAl's,
TNS provides information on where the centroid is
| ocated, and the HAI nodel distribution nodule then puts
an SAl of the right size at that centroid.

Q Okay. But then you agree that the
deternmination of the |l ocation of the SAl is performed by
TNS in the preprocessing portion of the nodel ?

A. (Dr. Mercer) It is. However, an awful |ot of
attention is being paid to the limtation of that

process. You heard from M. Spinks and we have al so
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readily within the nodel been able to nove the centroid
to the center of the cluster instead of its sometines
edge as it will happen in certain shaped clusters in
order to see what the effect of that would be, and we
agree with M. Spinks. Not that we did the sane run,
but I'msaying his results that he reported the other
day are very nmuch |like ours. W actually saw a 1 penny
increase in the loop, | believe he said there was a
smal | decrease, but he's also using a different set of
assunptions. The point of that is to say that it nmay be
set in preprocessing, it can be corrected by | guess |
woul d describe it as a reasonably sophisticated user
that understands G S, geographic information systens,
dat abases.

Q Am | correct, M. Fassett, that the cable
that runs froma wire center to the centroid of the

cluster is feeder cable?

A (M. Fassett) To the SAl woul d be feeder
cabl e.

Q Yes.

A (M. Fassett) Yes, that's correct.

Q And is it true, Dr. Mercer, that the feeder

routes are also determined in the preprocessing stage of
the nodel based on cal cul ati ons perfornmed by TNS?

A (Dr. Mercer) No, that's not correct.



1533

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

Q Where --

A (Dr. Mercer) The feeder route cal cul ations
are all done within the feeder nodule, not -- |
shoul dn't say all done, because there's sonme done in the
di stribution nodule, but it's the distribution and
feeder nodul e toget her that knowi ng where the clusters
are located, where the centroids are, it lays out the
feeder plant to serve those. You could have a different
al gorithm you could use some m ni mum spanning tree
cal cul ati on of how the feeder should run to connect
those centroids, that's certainly not a function
performed by TNS.

Q If a user wanted to adjust the feeder routes

contenplated by HM 5.3, how would that be done wi t hout

usi ng TNS?

A (Dr. Mercer) Wthout using TNS, they have
available to them-- there is a -- speak with my hands,
this is difficult -- there is a wire center in one

pl ace, and there are a bunch of centroids of clusters,
and you know the | ocation of those centroids relative to
the wire center, you know how many |ines are being
served out of that SAl. You could certainly wite a
different feeder programthat instead of laying it out
as we do, which is to assune that there are right angle

routes where there is a main feeder running out froma
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central office and then branching out at right angles to
reach those centroids, you could certainly wite an
optim zation routine if you thought there was a better
one that would completely replace the feeder nodul e.

Q There's no user adjustable input that would
affect that change, correct?

A (Dr. Mercer) No, there's an assunption of
engi neering done a certain way in the nodel, and we're
tal king here about a rather significantly different
engi neering. | would not know any way that our nodel or
Verizon or any other nodel can reduce every engi neering
change you mght think of naking to sinply an input
change.

There is, by the way, | would point out there
is one capability that is in the nodel, and that is that
we have sonething called feeder steering that you can
enabl e. Feeder steering says that instead of assum ng
that each -- the cables, the main feeder cables run
north, east, south, and west, you can |look at let's say
the eastward running feeder cable, |ook at where its
clusters are located that it's serving, and allow the
nodel to steer that feeder so that it nore optimally
runs past those clusters.

For instance, if all the clusters being

served by that east running feeder happen to be | ocated
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slightly above that east-west |ine, the nodel will steer
that to go -- so there is one capability Iike that, but
you' re tal king about significant reengineering, and
that's why the nodel is available in Excel form You
can wite feeder engineering nodules to your heart's
content and plug theminto the nodel and place the one
that's in the nodel already.

Q I's distribution cable |Iength determ ned by
the strand distance; is that what | understood you to
testify earlier?

A (Dr. Mercer) Distribution cable I ength, no.
Again, distribution cable length is determnined by the
particul ar algorithmthat we believe is appropriate in
the nodel that has both a -- your question is about

distribution feeder lenth, distribution length; is that

correct?

Q Di stribution cable | ength.

A (Dr. Mercer) | was going to talk about feeder
as well, but in the distribution case, again our

al gorithm says you lay out plant in a backbone and
branch arrangenent where there is a cable, a backbone
cable, running in one direction along the rectangle, and
there are branch cables running at right angles to reach
the custonmer locations. |f you decided that you wanted

a different algorithmfor doing that, you could wite
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1 such an algorithm but this is the one that we put again
2 inthe initial step in the nodel before strand

3 normalization, this is the one that we have put in our

4 -- in the nodel at this tinme.

5 Q And precisely where in the nodel is that,

6 what part of the nodel is that |ocated?

7 A (Dr. Mercer) Is what |ocated, that

8 cal cul ati on?

9 Q That cal cul ati on.

10 A. (Dr. Mercer) That's located in the

11 di stribution nodul e.

12 Q M. Fassett, you agree that feeder structure
13 and the placenment of that structure is one of the main
14 cost drivers in deploying |oop plant, correct?

15 A. (M. Fassett) Well, structure is one of the
16 mai n cost drivers in place whether you're placing feeder
17 or distribution, and feeder structure would be a part of
18 t hat .

19 Q M. Fassett, do you have in front of you, I'm
20 | ooking for RAM5, it is Exhibit 856. 856 is Exhibit
21 RAM5 to Dr. Mercer's testinmony, and it is a docunent
22 entitled the HM 5.3 Inputs Portfolio or sonmetines
23 referred to as the HP
24 A (M. Fassett) Yes, | have it.

25 Q Let me catch up with you, M. Fassett. On
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page 14 of that exhibit you will see under the heading
2.6, fiber cable installation factors.

A (M. Fassett) Yes.

Q I would like to wal k you through the default
value that's set forth in the table there |I guess
entitled OSP technician | abor rate and productivity for
fi ber cable; do you see that?

A (M. Fassett) Yes, | do.

Q Now it's your testinony that a 2 person crew
wor king 8 hours a day could install 8,000 feet of fiber
cable; is that right?

A (M. Fassett) That's correct.

Q And so this crew, this 2 person crew, would
work a total of 16 hours, that is the 8 hours tinmes 2,
times the $60 an hour labor rate for a total of $960 to
pl ace that 8,000 feet of cable?

A (M. Fassett) Yes, but it's inportant to
realize what that placing involves. Like for buried it
may be jetting that fiber cable through the interduct
that's there, it may be direct plowing. For aeria
you're basically just lashing that fiber, or you could
in some instances be jetting it through an aeria
i nterduct.

Fiber is extrenely light, it weighs |ike 100

pounds per thousand feet, and you can place -- it's a
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very easy piece of plant to place just because of its

light weight. | nean you wal k down the street and
you' ve got -- you can carry 1,000 feet of it with no
problemat all, so it's a relatively easy conponent of

the network froma physical point to place. And the
fact that these are relating to in a buried it nmay be
just placing that into a trench possibly.

Q Okay, so | see you have a cal cul ator there,
and given ny previous denonstration of ny math skills,
you may want to use it.

A (M. Fassett) Do you want to borrow it?

Q I think 1'"ve got it right in ny notes here,
but let's see. Am| correct that that $960 | abor cost
to install 8,000 feet of cable translates to a 12 cent

per foot |abor rate?

A (M. Fassett) Yes, for that particular
function.
Q Yes. And am | correct that HM 5.3 assunes

that placenent cost to install a 12 strand cable are the

same for installing a 288 strand cabl e?

A (M. Fassett) Yes, | believe so sinply
because -- and to explain that the -- how cables or
fiber cable is actually made up, you' ve got basically a

smal |l tube, and with inside that tube you're going to

have your fibers whether it's a ribbon fiber which would
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be 12 fibers in a ribbon format in different |ayers, or
if it's single tube they would be little tubes inside
that other tube, and inside those tubes you may have 6
fibers or in some |arger cables you may have 12 fibers
inthere. So it's a very, again, it's a very |ight

wei ght easy conponent to place in the network. And the
di fference between a | arger cable and a snaller cable,
the sane sheath is basically used in the mgjority of the
Si zes.

Q Okay. And it's also true that HM 5.3 does
not assume a cost different than that 12 cent per foot
dependi ng on whether the cable is being deployed in one
density zone or another, correct?

A. (M. Fassett) Well, the placenent of it, |
believe that is probably correct. But the other costs
that are or would be associated with it, the trenching
and the excavation or whatever, you know, the structure
that it was going to go in, those are significantly
different by density zones. |If you |ook at sone of the
hi ghest density zones we go up to basically $75 a foot,
where in the |l ower density zones where your placenent
woul d be considerably | ess because you don't have the
concrete, you don't have all those obstacles to work
with.

Q But the | abor rate doesn't change?
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A. (M. Fassett) The | abor rate doesn't change,
no.

Q Isn'"t it true, M. Fassett, that you
testified recently in an Al aska proceedi ng on behal f of
GCl ?

A. (M. Fassett) Yes, that's true.

Q And in that UNE proceeding, didn't you
testify that the cost of installing snmall aerial fiber
cabl e woul d be about 65 cents per foot?

A. (M. Fassett) Yeah, that was the total cost

of placing that aerial facility, and al so we had | ooked

at, just to give you an exanple, we -- | took the -- go
ahead, go ahead, | wll answer your other -- but yes we
-- I will -- subject to check. | would have to | ook at

whet her that was what we cal culated. W had actually
used -- the nodel that was being used up there was ACS's
7.2, and we used their spreadsheets or did our
calculations within their spreadsheets, and we were
very, very conservative on the amunt of time up there.
Q Okay. So you testified in that proceedi ng of
a |l abor cost for the placenent of fiber cable |ess, 96
strand or |less at 65 cents per foot, and isn't it true
that you testified that |abor cost for the placenment of
fiber cable in excess of 96 strands would be 95 cents

per foot?
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A

(M. Fassett) subject to check, I would have

to |l ook at how we did those cal cul ati ons and what was

included in those cal cul ati ons.

JUDGE MACE: Do we have a copy of what you're

referring to, M. Huther?

MR. HUTHER: Yes, it is Exhibit 878.

BY MR. HUTHER

Q

of you,

m nut e,

ki nd of

Do you have a copy of that exhibit in front

M. Fassett?

CHAI RMOVAN SHOWALTER: Can you hold up a

is this one of the things that got passed out

later in this proceeding?

MR. HUTHER: | don't believe it was. |

believe it was passed out on the date of the pre-hearing

conf erence.

to?

Novemnber

JUDGE MACE: And what page are you referring

MR. HUTHER: | amreferring to page 1134.
MR. FASSETT: O 878?
MR. HUTHER: Yes, M. Fassett, it is the

7th, 2003, transcript fromthat Al aska

proceedi ng.

MR, FASSETT: Excuse me, you said 11347
MR. HUTHER: 1134.

CHAI RMOVAN SHOWALTER: |s there a specific
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1 line that tal ks about the 65 cents, or was that a

2 math --

3 MR, HUTHER: No, | was just --

4 CHAl RMOVAN SHOWALTER: -- that you did?

5 MR HUTHER: | was going to direct himright
6 toit. Actually, | would Iike himto begin review ng on
7 line 4 of page 1134.

8 BY MR. HUTHER

9 Q There, M. Fassett, the question reads:
10 Okay, all right, and what is the GC

11 price for placenent of aerial? | think
12 there --

13 And then the answer reads:

14 It --

15 Question foll ows:

16 -- are two actually, aren't there?

17 And could you read your answer that begins on
18 line 8.

19 A. (M. Fassett)

20 Yeah, because we have increased the

21 pri ce once we got above 96 fiber just

22 because you're going to -- it's going to
23 be a little bit larger, not nuch,

24 because fiber is very, very small.

25 Q And then the question that follows on |ine 12
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1 reads:

2 Okay, and can you confirmfor ne that
3 your two GCl prices for placenent of
4 fiber are 65 cents and 95 cents per

5 f oot .

6 And your answer?

7 A (M. Fassett)

8 Yes, for the aerial

9 Q Does that refresh your recollection,

10 M. Fassett?

11 A (M. Fassett) Yes, but again | would have to

12 go back and | ook what we calculated into that 65 and 95

13 cent cost. And again, we were very conservative if |

14 recall up there, and also we had relied upon sone of the
15 short term short source contracts that were probably

16 made available in that case. But again, | would need to
17 go back and | ook at the cal cul ati ons, what was actually

18 included in that 65 and 95 cents.

19 Q M. Fassett, did you account for the

20 information that you relied on in this proceeding in

21 devel oping the input prices that you have advocated

22 before the WJTC?

23 JUDGE MACE: When you say this proceeding,

24 you nean the Al aska proceedi ng?

25 MR, HUTHER: The Al aska proceedi ng.
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A. (M. Fassett) The inputs that we have
utilized in this proceeding are based upon, nunber one,
my know edge and t he know edge of several others that
have pl aced that, upon the actual contracts that we have
| ooked in different proceedings. And also one inportant
point, | took the placenent cost in Alaska and tried to,
initially, and tried to take Hatfield' s cost and adj ust
it to Alaskan |abor, which is a factor of 1.25, and that
| came up with a cost, and | will use an exanple of a
buried trench for exanple, the cost of that was $5.98.
Then in that proceeding we were able to |look at --

JUDGE MACE: It would be really hel pful
you' re tal king about the Al aska proceeding, that's that
proceedi ng?

MR, FASSETT: Right, but what I'mtrying to
say is the relationship between the dollar anmpunts that
are allocated in this proceeding --

CHAI RMOVAN SHOWALTER: Can you just use
Washi ngton or Al aska so we know which one you're talking
about, say the Washi ngton proceeding or the Al aska
proceedi ng.

MR. FASSETT: Okay.

A. (M. Fassett) | will start with the Al aska
proceeding. To validate some of the costs and initially

to get an idea of what it should cost to do this type of
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work in Al aska, we took the buried trench costs that are
in HAl 5.3, applied the Al aska | abor factor, which is a
1.25 |l abor factor, cane up with a cost, and | wll use
the one for buried trenching in that, it was $5.98 per
foot. And what we did, we took the various density
zones and the nunber of custoners that are going to be
in there, so we get a fairly accurate amount. Then in
Al aska we were able to | ook at the Chugach Electric
Company' s pi ggyback contract that they have with ACS and
GCl where each one of those conpani es ends up paying a
percentage of what that costs. Their cost was $6.07,
and that's for whatever trench they're going to dig up
there. So that told me that the dollar amounts in HAI
5.3 that we used are fairly reasonable and agai n that
the two nodels or the two costs bal ance pretty good.

Now i n Washi ngton --

EXAMI NATI ON
BY CHAI RWOMVAN SHOWALTER

Q. VWhat was the $6.07?

A (M. Fassett) That was the trench cost, the
total trench cost for it was the piggyback contract,
which is a contract that the power conpany in Al aska has
with GCl, with ACS, and that cost --

Q Per is it what?
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A. (M. Fassett) Per foot.
Q Okay, thank you.
A (M. Fassett) Per foot was $6.07 conpared to

the adjusted HAl cost of $5.98, so we're tal king pennies
bet ween what they're really paying for short-term
contracts and what the HAl did.

Now i n Washi ngton we're | ooking at what these
costs are and how nuch it is per foot, but when you
agai n go back to Al aska and say, hey, those costs were
appropriate there and that the costs woul d be reasonable
here that we're showi ng in Washington for HAl 5. 3.

Q Were you just, you said you made a kind of a
real world conparison in Alaska of $6 and change

conpared to the nodel's $5 --

A. (M. Fassett) 98.

Q 98. Did you make a simlar conparison in
Washi ngt on?

A (M. Fassett) No, because | haven't had
access to sonme of the contracts. Well, | shouldn't say

| haven't had, because | have | ooked at contracts down
here, and our prices in the nodel down here are based
upon a |l ot of those contracts that | initially had

| ooked at. And those contracts, if you | ook at contract
prices that have been provided in proprietary format,

those are, you know, usually our costs are nore in HAl
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than those contracts actually show. So if you | ook at
an apples to apples, whatever the contract price was in
Al aska and what the adjusted HAl price was in Al aska and
then when you | ook at Washi ngton and other states, you
get that sane closeness of HAI prices and actua

contract prices that are being paid for by ILEC s and

ot her conpani es placing those type of facilities.

Q I"'mnot -- the reason |I'm not understanding
your answer is ny first question was did you meke the
conparison, and you said no, but then it sounded to ne
as if the rest of your answer was a kind of yes.

A (M. Fassett) Well, I -- the no, | shouldn't
have said a no, because when | thought it through a
little bit, yes, we did nmake that and have continued to
do those type of conparisons and anal ysis of what
contract prices are really being paid, real lunmp sumbig
conpetitively bid big contracts, not the little short
type of source contracts that you heard about a little
bit yesterday where you will in a lunp sum conpetitive
bid contract, and a | ot of conpanies use a dollar
anount, say $50,000, any job that has $50, 000 worth of
expenditures, that job is bid out to a group of
contractors, and those contractors will give you a very
-- very good pricing, and that's the type of pricing

that should be reflected in this type of environment.
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CROSS- EXAMI NATI ON
BY MR HUTHER
Q M. Fassett, what is a piggyback contract?
JUDGE MACE: You know, M. Huther, | know
that you have your lap full of those exhibit books, and
| know it's hard to nmake this physically work, but you
need to talk into the mi ke, because people on the
conference bridge can't hear you, and it's al so
difficult for us to hear you.
MR, HUTHER: | understand, | apol ogi ze.
BY MR HUTHER

Q My question, M. Fassett, is what is a
pi ggyback contract?

A. (M. Fassett) A piggyback contract is a
contract that in this case the electric conpany has with
ot her service providers that may want to go into the
trenches that they're going to place or whatever
facilities they nmay happen to place. And on that
contract, the primary contractor | will say is the
el ectric conpany, and they may sub it out to, which they
probably definitely do, to somebody else. Then the
actual bill when they get that cost per foot l|ike the
$6.07 in this instance is divided out between a share

for the power conpany, a share for the cable TV conpany,
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a share for the tel ephone conpany, and a share for any
ot her occupants that happen to be part of that piggyback
contract agreenment that is in place. It's a form of
sharing that incorporates the actual contract for

pl aci ng these facilities.

Q In your response to the Chairwonman's question
you referenced a what | think you're referring to is a
regi onal | abor adjustnment factor of 1.25; is that
correct?

A. (M. Fassett) Yes, that was the factor that's
adj ustable for the | abor portion, and the 1.25 was
applicable for Alaska. In the HAl nodel there is a cost
factor for labor that's an adjustnent for particular
regions in the states, you know, and maybe in Florida
it's different than Washington and so forth.

Q And if the Commi ssion were to refer to
Exhi bit 856, that is the what we have been calling the
H P or the HAI nodel Inputs Portfolio, if they were to
refer to page 169, the regional |abor adjustnment factor
you were just referring to --

A (M. Fassett) | believe that starts on 167 or
at | east on ny page 167.

Q If you -- yes.

A (M. Fassett) It's on 167 and 168.

Q And what do you have on your version of page
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169, do you have a |l arge chart that under the heading
regi onal | abor adjustnent factor that --
A (M. Fassett) No, | have a --
JUDGE MACE: That's not what we have either

A. (M. Fassett) | have Appendix A which is the

Q It appears our pagination is off a bit
probably fromthe printer, but what I'mreferring to is
the chart under the heading regional |abor adjustnent
factor where you see the first state in that chart is
Al aska, and it has a factor of 1.25; is that what you
were referring to?

A (M. Fassett) Yes, that's what | was
referring to.

CHAl RMOVAN SHOWALTER: It's our page 167 in
t he reference.

Q And if you go on down that chart,

M. Fassett, you will see the regional |abor adjustnent
factor for the state of Washington, correct?

A (M. Fassett) Yes, that's .92.

Q .92. So just so the record is clear here,
the 12 cent per foot labor rate for the installation of
fi ber cable would be increased fromthe -- in the state
of Al aska because it has a |larger adjustnment factor

correct?
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A. (M. Fassett) Yes, but |I have to go back
like | said, to ook at the calculation in the nodel, in
the ACS 7.2 nodel, how that cal cul ation, what was
i ncluded into that and how that actually, 65 and 95
cents, was actually devel oped within that nodel.

Q Okay, and again, at the risk of getting into
the math, just so it's clear, by ny calculations the
rati o of Alaska to Washington, that is 1.25 over .92,

1. 25 being the Al aska regional |abor adjustnment factor
and .92 being the Washi ngton state adjustnment factor,
gets you 1.36; is that correct?

A (M. Fassett) Yeah, your math is correct.

Q And so if | multiplied the 12 cent per foot
by that ratio of 1.36, | would get sonething on the
order of about 16 cents; is that right?

A (M. Fassett) Yes, that would be correct.

But it doesn't get ne to 65 cents?

A (M. Fassett) No, but like I just got done

stating a few m nutes ago that | would have to go back

and | ook at what the nodel, the ACS 7.2 npdel, did and

how t hat actual cost -- what was applicable in that
cost.

Q And why is it in the Alaska proceedi hg you
wer e advocating an increased price, |'msorry, an

increased rate for the installation of fiber cable when
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you exceed 96 pair and you're not making any adjustnent
in this proceeding in 5.3 for the installation of |arger
pai red cabl e?

A (M. Fassett) | think in that testinony I
al so state that it was we raised it a little because of
the little bit difference in size, figuring that it
mght go up a little bit, the outer sheath, and | was
al so working with, you know, we | ooked at other
contracts that were up there, and we just broke that
point off. There's probably no basic reason why it
woul d cost you nore to place a 144 fiber cable than a 72
fiber cable. W were extrenely conservative or generous
with the |l abor amobunts that we did for that up there

Pl us the environnent up there is considerably
different froma contractor point of viewthat any -- we
had troubl e even getting any contract input fromloca
contractors. And then to get national contractors,
they've got to ship their equi pnent up there, they've
got to do -- Alaska is a different beast when it cones
to building plant as far as getting national contractors
i nvol ved. So you've got all those other things that
have to be considered in Al aska.
It isn't just the | abor of the guy

physically, the labor rate up there, it's you' ve got to

get the bucket trucks, you got to get the cable plows,
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1 you got to get the blow ng nachines, you got to get that
2 equi pnent to Al aska in Anchorage, which is a very snall
3 nucl eus of where you were going to do this type of work.
4 Had you done -- been able to do the sane work in

5 Washi ngton, Utah, you know, |arge areas where

6 contractors are out here today, there's not a | ot of

7 people up there looking to do this kind of work in

8 Al aska. So yeah, you get a difference there as well.

9 JUDGE MACE: | think it's time for our noon
10 recess, we'll adjourn until 1:30.

11 (Luncheon recess taken at 12:00 p.m)

12

13 AFTERNOON SESSI ON

14 (1:35 p.m

15 JUDGE MACE: M. Huther.

16 MR, HUTHER: Yes, thank you.

17

18 CROSS- EXAMI NATI ON

19 BY MR HUTHER:

20 Q M. Fassett, when we broke for lunch we were
21 tal ki ng about testinony that you gave in an Al aska UNE
22 docket with respect to the labor price for installing
23 fi ber cable; do you recall that discussion?

24 A (M. Fassett) Yes, | do. Could you please

25 tell nme which exhibit that was, or don't | need it?
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Q No, I will have you go back to it. It is --
A (M. Fassett) Was it 8787

Q -- 878.

A (M. Fassett) OCkay.

Q And just to be clear, Exhibit 878 was the

Novenber 7, 2003, transcript, and | believe we
establ i shed before we broke that you had advocated two
prices for the placenment of fiber cable; is that right?

A (M. Fassett) That's correct, based on that
cost nodeling.

Q That's right. Now those cost estinmates, the
65 cents and the 95 cents per foot, were based on your
experience and judgment, correct?

A. (M. Fassett) Yes, and they were based -- and
in that nodel, because | did get an opportunity to | ook
alittle bit at what | had fromthe cal cul ati ons, that
nodel included, in the cost, included a |ot of the
exenpt materials that we have tal ked about, the things
that typically would not be part of a unit of plant.

As an exanple, in the fiber splicing
conmponent, that included the -- not only the fiber
splice but the closure, the trays, which are little, if
you will, little slots where the fiber actually gets
laid after it gets fused together and gets spliced, and

then there's a protector that goes over that. So all of
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those little piece parts are included in that particul ar
nodel, and that's part of the, you know, justification
for the difference in the cost.

The other key point, | went back just to | ook
at for a conparison what the HAI nodel for exanple of a
48 fiber cable was in conparison to the cost up there,
and there was a difference of |like 23 cents, and the
cost up there included those exenpt materials that |
just tal ked about. So we're -- that's the better way to
| ook at an apples to apples conparison, if you're
| ooking just at what that |abor rate there is, it's an
appl es and orange conparison, because the two nodels are
drastically different is the point I"'mtrying to make.

Q If you could turn to page 1137 of Exhibit

878, there's a question that begins on line 12, and the
guestion reads:

And so | guess ny question is this,

since your prices that you got from

these people, these fair and honest

prices that you got, range from2.25 it

| ooks Iike.

And that was $2.25, M. Fassett?

A. (M. Fassett) | amassum ng so, not know ng

what he's really referring to at this point.

Q (Readi ng.)
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I think that was the | owest one, to
about 4 bucks, and you went to 65 cents
and 95 cents, did you decide, did -- was
it your thought process to decide to
just throw out all those prices and use
your judgnent?

Do you see that?

A (M. Fassett) Yes, | do.

Q And just to flesh that question that you were
bei ng asked in Alaska out a little bit nore, isn't it
the case that you conducted a survey of |oca
contractors to devel op estimates on what it woul d cost
to deploy as a |labor rate aerial cable?

A. (M. Fassett) Yes, we conducted or tried to
conduct a survey with local contractors. W ended up
with only one | ocal contractor to provide us any prices
at all, and then there was -- it was -- it got to be
quite an issue with that particular contractor with how
he provided us with the prices and what was invol ved.
Wth other contractors because of the strong union
envi ronnent that existed up there and the fact that they
wanted to work for ACS, they wanted to work for GClI,
were extrenely reluctant, and we couldn't get any ot her
prices.

We tried to get prices fromnationa
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contractors, and again their prices had to take into
consideration that we're going to ship our placing

equi pnment, our splicing equipnment, and all that up
there. So the survey that we tried to do there was
really not the way you woul d hope to conpetitively bid a
network up there. We were very linmted by that
situation with the contractors and the environment where
we were trying to get bids solicited for

Q Just so | understand, how many bids did you
have fromthese contractors that ranged from $2.25 to
$4, what's the nunber?

A (M. Fassett) There was a total, if | recall
correctly, | think there was a total of three
contractors, one contractor that was in Al aska.

Q Okay.

A (M. Fassett) And then there was another
i ssue that cane up with that contractor as well

Q Okay. And then just to go to the answer to
that question that began on line 12, you stated in
response:

| devel oped the cost based on ny
experience and judgment, yes. Another
pi ece was that ACS's cost was actually
| ess than ours on sone of the other

fi ber placenents.
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Do you see that?

A (M. Fassett) Yes, when we | ooked at ACS's
contracts that were provided to us, we found that their
cost, again realizing too that those costs were based on
short volumes of work, not lunp sum not big vol umes of
work, small volumes of work, so we were extrenely
limted in that case in getting information on the sane
scenario that we're trying to do here in Washi ngton

Q How many WAshi ngton state contractors did you
survey to confirmthat the 12 cent per foot aerial |abor
rate was accurate?

A (M. Fassett) | haven't spoken to any
Washi ngton state specific contractors since the nodel
was -- well, initially we used sone contract rates that
I had gotten froma survey that | had done previously,
but the format of how we priced that has changed because
it was | guess apparently some comm ssions wanted it
br oken down, so that's how that cane about.

Q And do you recall the date upon which the 12
cent per foot that you're advocating here was
established for purposes of use in the nodel ?

A (M. Fassett) No, | don't know that, | do not
know t hat .

DR. GABEL: M. Huther, just one

clarification, | think |I just heard you ask about 12
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cents for aerial, but | thought it was for buried,
because | renmenber earlier today M. Fassett referred to
pl owi ng and shooting the cables through the ground. |Is
the 12 cents for aerial, or is it for buried?

MR. HUTHER: It's for aerial

Correct, M. Fassett?

MR. FASSETT: Yes, in the questioning that
you asked ne that was aerial but --

DR. GABEL: And this norning it was aeria
too?

MR. HUTHER: Just before the |unch break,
yes. Now | think he, and | don't want to put words in
M. Fassett's nmouth, but | believe in response to a
question fromthe Chai rwonman he gave other statistics
for other, and | think it was buri ed.

MR, FASSETT: Well, what | spoke about was
conparing the cost in a HAl nodel to the costs that were
in Alaska, and part of that was the piggyback contract
i ssue that | tal ked about, and then | was able to go
back and find some notes on the installed cost, which
think is a key point. That's the total installed cost
whi ch includes exenpt |oadings and all that on the cost
nodel or the costing in Alaska. And you conpare that to
the HAI without those | oadings was a conparison on a 48

fiber cable for exanple of $1.60 and $1.83 | believe.



1560

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

So if you pull out that exenpt |oading piece, we're on
an apples to apples conparison. But if you try to | ook
at just the | abor conponent in the Hatfield the way it's
broken down, you're not going to be able to nake that
apples to apples conparison with the pricing that was
done in Al aska.

BY MR HUTHER

Q M. Fassett, you |I think nmade reference to a
survey that you conducted many years ago with respect to
some of the input assunptions that were or input val ues
in an earlier version of the Hatfield nodel. |Is that
the survey to which you were referring earlier?

A (M. Fassett) Yes, that's -- but that's been
al so continued ongoi ng personally to | ook as the
opportunity to | ook at contracts and other stuff, so.

But yes, that's the actual survey, if you will, that
initially I undertook to kind of get a feel for what the
appropriate costs should be.

Q Ri ght, and that survey, in the course of
devel opi ng that survey, you assenbled a great deal of
materials that have conme to be referred to in these UNE
cases as the Fassett papers?

A. (M. Fassett) | guess so, that's what | hear
themreferred to as. They were actually just my own

notes initially when | started just to do sone
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val i dation, and they grew, and they are known as the
Fassett papers, the Fassett docunents.

Q And just so the record is clear, those
so-cal l ed Fassett papers are marked as Exhibit 888.
They were produced as the exhibit |ist designates in
response to Verizon Data Request Nunber 6-2.

Now one of the input values for which you
conducted your survey, M. Fassett, had to do with pole
investment; is that right?

A. (M. Fassett) The survey you're talking about

in the Fassett docunments?

Q Yes, |I'msorry.
A (M. Fassett) Yes, that was.
Q And so what you did | believe it was in 1997,

is that about right, when you conducted the survey?

A (M. Fassett) That's when | started it, yes.

Q And how long did it take to conplete?

A (M. Fassett) Well, it was kind of an ongoing
process. | nean it was whenever | had the opportunity

to talk to a contractor or be in a different state and
try to make contact. So it was a continual process to
try and update and keep -- just so that | personally as
a wtness would know whet her, you know, the cost here is
substantially different than the cost should be

sonmepl ace el se.
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Q Referring to the Fassett papers, that is
Exhi bit 888, what is the time period for which those
docunents correspond? | understand that you nay have
continued to consider information received fromvendors
al ong the way, but I'mtrying to confine the tinme period

of the so-called Fassett papers.

A (M. Fassett) | believe it was 1997.
Q Okay.
A (M. Fassett) But like |I have said, | have

al so continued to validate and continue to validate what
t hose numbers were.

Q Okay.

A (M. Fassett) But | haven't updated the
papers, no.

Q In the version of the Hatfield nodel that was
bei ng sponsored by AT&T and MCI in that 1997 or 1998
time frame, there was an input value for pole investnent
that totalled, that is |abor and material, totalled
$417; do you recall that?

A (M. Fassett) Yes, that's correct.

Q And that value of $417 total pole investnent
continues to be the input value used in the nodel today,
correct, the default input val ue?

A (M. Fassett) That's correct, and anot her

poi nt on that pole investnent, as | stated in ny
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testinony, is the fact that when the FCC conducted their
anal ysis of investnents by ILEC s, | believe it was
GTE' s cost, your total cost, | think subject to check
was $499, there was another cost that was |ess than
that. So in each one of those instances in the state of
Washi ngton specific to Washi ngton, the HAl nodel cost
for pole investnent is |less, so.

Q I think --

A (M. Fassett) There's no -- there would be no

reason to nodify that cost of $417

Q Okay, can you turn to Exhibit 856, that is
the --

A (M. Fassett) That's my testinony, correct?

Q No, | believe that that is the --

A. (M. Fassett) Ch, the Hatfield.

Q -- HP.

A (M. Fassett) Yeah.

Q On page 25 under heading 3.4, poles and
conduit, you will see the calculation that yielded the

$417 val ue, $417 input value that we have just been
di scussing, correct?

A (M. Fassett) That's correct.

Q And that $417 value is derived froma
material investment for a 40 foot class 4 treated

Southern Pine utility pole of $201, right?



1564

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

A. (M. Fassett) That's correct.

Q Conbi ned with the | abor price of $216 that
woul d be associated with installing that pole?

A (M. Fassett) That's correct.

Q And we were tal king earlier about the
application of the Hatfield nodel's regional |abor
adj ust nent factors.

A (M. Fassett) Mmhm

Q And am | correct that that $216 default val ue
is a national value, right?

A (M. Fassett) Yes, that's the cost that's in
the nodel nationally.

Q And then that, to determ ne the input val ue
that is actually used in the version of the nodel filed
here, you would have to apply the regional |abor
adj ustnent factor to the $216, correct?

A (M. Fassett) That's my understandi ng.

Correct, is that how the npdel does it?

A. (Dr. Mercer) We may have to take that subject
to check. |'mnot sure that |abor factor gets applied
to that | abor conponent. It probably does, but |'m not

sure of f hand.
A. (M. Fassett) | think my understanding from
when | have asked that question nyself was that there's

a portion of that, and | don't know how that, you know,
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is actually attributed directly to the | abor, so that
woul d be sonething we woul d have to check.

Q Okay. But given that the regional |abor
adj ustment factor for Washington is .92 --

A. (M. Fassett) Mmhm

Q -- as we discussed earlier, if that factor
were applied to this, the labor rate woul d decrease, not
i ncrease in Washi ngton?

A (M. Fassett) That's correct under those
assunpti ons.

Q Now | i kewise if we were in Al aska and we --
and that regional |abor adjustnent factor had been
applied to the $216 val ue, because the regional |abor
adj ustnment factor for Alaska is 1.25, that $216 | abor
rate woul d increase, correct?

A (M. Fassett) That's a correct assunption.

Q And if my math is right, it would increase by
a factor of 25% which would get us from $216 to about
$270; does that seemin the ball park?

A (M. Fassett) It might be just a tad -- but
approximately. | will take your --

Q Well, don't --

A. (M. Fassett) -- | will take your nath.

Q We' ve al ready been through this with ny math.

There's a reason | went to | aw school .
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If you want to calculate it just to nake sure

we' re accurate.

A (M. Fassett) Yeah, it's $270 for |abor.
Q Okay.
A. (M. Fassett) If all of that |abor conponent

is, you know, part of that regional |abor, and that |
don't know.

Q Right. So if the regional |abor adjustnent
factor were applied, which you' ve got to get back to us
on, it would produce a |abor rate of $270 to install the
pol e, correct?

A (M. Fassett) That's correct, in Al aska.

Q In Al aska, okay. Now let's go to your Al aska
testinony, that's Exhibit 878.

JUDGE MACE: Just to tie up a loose end, I'm
going to nake that a record requisition, to provide the
informati on to you about whether or not the regiona
| abor adjustment is applied to the |abor cost of the
pol e.

MR, HUTHER: Thank you.

JUDGE MACE: And that's Nunber 1
BY MR HUTHER

Q Do you have Exhibit 878 --

A (M. Fassett) Yes, | do.

Q -- in front of you, M. Fassett?
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A. (M. Fassett) Yes.
Q Now i n the Al aska proceedi ng, you --
A (M. Fassett) \Wat page do you want to be

| ooki ng at?
Q 1058. On line 19, you were asked the
questi on:

Now i n your pole placenment price, you

said $315.77, do | have that right?

Do you see that there?

A. (M. Fassett) Yes, | do.
Q And your answer is:
That's for the |abor conponent, yes.
A (M. Fassett) Yes.
Q So in Alaska --

(M. Fassett) In that nodel. And again,
don't know without |ooking where we got that $315. It
may have been a snmall volune contract that we | ooked at
or sonething specific to that particul ar environment.
But, you know, without -- what mnmy testinony says is what
nmy testinony says, but | said yeah, the pole placenent
price is $315.77.

Q Now di d you survey any vendors operating in
the state of WAshington to identify what they would
charge to install a 40 foot class 4 southern treated

Pi ne pol e?
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A. (M. Fassett) Not recently, no.

Q | think that you -- strike that.

You said not recently, when was the last tine
that you surveyed a vendor operating in Washington for
the cost of installing a 40 foot class 4 treated
Sout hern Pine utility pole?

A (M. Fassett) Well, that would have been in
1997. And a pole actually out here, there may have been
a different species of pole rather than Southern Pine,
but yes, it would have been in 1997 | believe was the
last tine | actually spoke to soneone about specific
pol e pl acenments in Washi ngton.

Q And how many vendors or contractors did you
speak to back in 1997 that were operating in Washi ngton
when you were conducting the survey of vendors that
conprised the Fassett papers?

A (M. Fassett) | can't recall. There was
several, | tried to get a hold of everybody | could that
was a national contractor so | had a broad base to make
my assunptions on and validations upon

Q Okay. Now if we could turn the page in
Exhi bit 878, 1059, do you see on line 6 you were asked
t he question:

Did any contractor from your survey --

That is the survey you conducted in Al aska
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for purposes of the Al aska proceedi ng.
-- give you results as |ow as 315 bucks?
What was your answer?

A (M. Fassett) No, they did not. Again, we
were surveying a very small nunber of contractors, and
it was, you know, just a different situation in
Anchor age, Al aska.

Q It was a different situation you say, but the
t opography in Alaska wasn't nore difficult than what you
experience in the state of Washington, is it?

A (M. Fassett) No, but there's in -- well, in
Anchorage. We were just |ooking at Anchorage, okay. In
Al aska itself there's a lot of different --

Q I under st and.

A. (M. Fassett) But just |ooking at what we
were |l ooking at in Anchorage, the big difference is the
availability of contractors in the conpetitive
environnent that exists there. There's very little
conpetitive environment for contractors to do this kind
of work. And to conpare Washi ngton contract environnent
to Alaska as far as getting contractors to do work, it's
an apples and oranges rel ationship sinply because
there's a transportation i ssue of equi pment and a snal
vol une of work. | nean you can't talk a contractor into

going to Alaska and placing 100 poles. 1In the state of



1570

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

Washington | could go out and neet with a contractor and
say |'ve got this job, it's going to require 100 pol es,
he's going to give ne a nmuch better price than |I'm going
to get froma contractor in Al aska, because he knows |I'm
only going to give him5 or 10 poles or whatever because
of the volunmes of work that we're tal king about and the
| ocati on.

Q Does the Hatfield nodel as filed in
Washi ngton cal cul ate the nunber of poles it is assumed
to replace to rebuild Verizon's network?

A (M. Fassett) Does the nodel calculate the
nunber of poles, that woul d be Bob coul d probably answer
that better.

A. (Dr. Mercer) [I'mnot sure it has the nunber
cal cul ated per se, but you can infer it fromthe anount
of investnent in poles. | just can't remenber whether
the actual number shows up or just the normal investnent
in poles.

Q So you could take the total pole investnent
and divide by 417 to derive the nunber of poles that it
assunes are placed?

A (Dr. Mercer) No, not quite, because it turns
out that in response to the Bench request, if | can
answer that in real time, the | abor content does affect

the | abor part of the pole, so the $216 in pole |abor is
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1 knocked down by that .92 factor, so the actual tota

2 i nvestment is going to be sonething | ess than 417.
3 Q Okay, so --
4 A (Dr. Mercer) But we can do it. | nean

5 remenbering that, you could then proceed the way you

6 descri bed.

7 Q It would be the whatever the Washi ngton

8 speci fic pole investnent input value divided by the

9 total investment, total pole investnent, correct?

10 A. (Dr. Mercer) You would have to be rea

11 careful in doing that, because poles are shared with

12 other utilities, so when you look at the pole

13 i nvestment, again dependi ng on where you look in the

14 nmodel , and | would need to brush up on this, but the

15 pol e investnent you mght be using if you' re not carefu
16 could be the reduced pole investnent because the

17 i nvest ment has been shared with other utilities. So

18 that, you know, if you want to get a nunber of poles,
19 you need to take that into account properly.

20 MR, HUTHER: Could | ask as a record request
21 for the nunber of poles that HM 5.3 assunes are depl oyed
22 in the nodel ed network

23 JUDGE MACE: That will be Record Request

24 Nurber 2.

25 MR, HUTHER: Thank you.
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1 BY MR HUTHER:

2 Q M. Fassett --

3 CHAI RMOVAN SHOWALTER:  You know, just there's
4 not hing wong with a record request, it goes to you and
5 then you do whatever you want with it. [|If you want us
6 to have it in the record, we could make it a Bench

7 request, and that sounds |ike a reasonable thing to ask
8 for, and then if you want to make something of it, we
9 have it in the record.

10 MR, HUTHER: Thank you very much, yes, |

11 would like for it to be in the record.

12 (Di scussion off the record.)

13 JUDGE MACE: Let nme indicate that Dr. Mercer
14 has responded to what | designated as Record Request

15 Nunber 1 in his earlier response to M. Huther's

16 questioning, and | think | already indicated on the

17 record, if I didn't, Bench Request Number 17 is the

18 nunber of poles that are assumed to be deployed in the

19 HAI nodel ed net wor k.

20 CHAI RMOVAN SHOWALTER: | n Washi ngt on.
21 JUDGE MACE: | n Washi ngton.
22 MR. HUTHER: Thank you.

23 BY MR HUTHER:
24 Q M. Fassett, the question | was asking was

25 what have you done to ensure that in the state of
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Washi ngton there are a sufficient nunber of contractors
capabl e of providing and installing all of the poles

that are assuned to be nodeled in HM 5. 3?

A (M. Fassett) | am highly confident that
there is nore than enough contractors willing to conme to
Washi ngton that are in -- exist in Washington, nmay be

| ocated in Oregon, nay be located in M nnesota or
wherever. There's national contractors, a nunber of
them that specifically do this kind of work, and that's
their bread and butter is doing utility type work. They
woul d cone in here and if you were doing a | arge vol une
job more than gladly bid on that. They're eager
whenever you talk to these contractors, the biggest
thing you have to stretch to themis we're not really
buil ding a network, because they're all excited, they're
ready to ship crews to you and everything else. So
there's a very conpetitive market for contractors to
want to go, and Washi ngton would be no different than
New York, Utah, or wherever. They're nationa
contractors, they have bases in various states and |I'm
sure they have bases here.

Q But these national contractors are not eager
to go to Al aska?

A (M. Fassett) Not for a small job in

Anchorage. |If we were building an entire network --
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wel |, they have gone up to -- some national contractors
went up when they did work up on the pipeline. You're
going to be plowing fiber for 800 niles, yes, that's
attractive to you, you can ship crews up there, you can
afford that. But if you're going to place 100 poles in
Anchorage, it's not effective for you as a business
person to ship crews, equipnent, and all that up there
to do that.

Q So the network that you were nodeling the
cost of in Alaska consisted of 100 pol es?

A (M. Fassett) No, I'mjust using that as an
exanple, but it's a nuch smaller scale. W were |ooking
at Anchorage itself, and in fact a pole cost of -- if
you read farther into ny testinony, you will see how we
devel oped that. W used the fornula that ACS had used
intheirs, and we cut down a little bit on the | abor
ti mes because they had unbelievable -- they have a | abor
i ssue up there in their conpany, and they had
unbel i evabl e | abor people involved in that, which from
nmy experience, the experience of the |ocal people in
Al aska that worked with ne on this knew -- and we al so
| ooked at their own contracts, the contracts that were
presented, and the $350 or $315 was well within the
range of reasonabl eness.

Q | thought you and | just discussed your
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testi nony on page 1059 of Exhibit 878 where you

i ndi cated that none of the contractors that you surveyed
provided you a figure as low as the $315 i nput that you
wer e using?

A. (M. Fassett) That's correct, because we only
had one | ocal contractor, and again there was an issue
with his prices when it went farther on with the
situation. But if you will read farther into ny
testi mony down that page on 1059, you will see how I
di scussed how we devel oped that cost of $315. And
Bl ai ne Brown is a engi neer who works in Anchorage,

Al aska, so we had local input into it, and we al so
validated with costs that GCl gets from you know, their
source contractor as a single source contractor type
thing that was discussed here yesterday a little bit.
But there is a short-term | ow volune type of work
contracts, not what we're tal king about here in the
state of Washi ngton.

Q How many pol es were assuned to be deployed in
the network you were nmodeling in Al aska?

A (M. Fassett) | can't tell you off the top of
ny head, | don't know. There wasn't that many because
we were primarily | ooking at buried placenments in the
environnents that we were |ooking at. W had | ooked at

21 sanple CBG s when we did our redesign work.
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JUDGE MACE: What's a CBG?
MR, FASSETT: A CBGis a census bl ock group
JUDGE MACE: Thank you.

A (M. Fassett) And that was the basis in that
nodel , and they had el ected to choose 21 sanple CBG s,
and we actually did a design or tried to cone up with a
simul ated design in proportion to that so that we could
devel op a cost.

BY MR HUTHER

Q How | ong did you assune it would take to
rebuild the network you were nodeling in Al aska?

A (M. Fassett) | don't think we made any
definite assunption, but ny belief was that you could
build that within a year or tw years, what we were
tal ki ng about there, depending again on the willingness
to get contractors to cone up there and do the work. |[f
t hey knew they could conme up and work all sumrer and
have a vol une of work, you will have a, you know, you
could do it in a much shorter tine. But if you had to
rely on |l ocal contractors up there, you could have
taken, you know, substantially |onger.

Q How | ong do you assune that it will take to
rebuild the network you' re nodeling for Verizon in
Washi ngton state?

A (M. Fassett) | haven't nade any assunptions
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1 about that.

2 Q And in your engineering judgnent, how | ong

3 would it take to rebuild the network that we are

4 nodel i ng the cost of in Washington state?

5 A. (M. Fassett) Again, | would have to take a
6 | ook at the entire network before | could nmake an

7 educat ed guess on that.

8 Q If you could return to Exhibit 856

9 M. Fassett, that is the H P

10 A. (M. Fassett) Okay.

11 Q We're going to go back to page, well, |

12 believe we | eft off on page 25, that is the input val ue
13 for pole investnment, if you could turn to page 26,

14 pl ease. There's not a lot of text contained on my page

15 26. There is one inportant sentence, however, and that

16 reads:

17 Pol e data has al so been recently filed

18 by | arge tel ephone conpanies with the

19 FCC.

20 Do you see that?

21 A (M. Fassett) Yes, | do.

22 Q VWhat is this -- when was this pole data
23 filed?

24 A (M. Fassett) | believe it was in the '96,

25 '97 tinme frame | believe.
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Q And that in your viewis still recent now
that we're in 2004?

A (M. Fassett) Yes, given that the environnent
that we're in, the contract environnent, the
conpetitiveness that's out there right now.

A. (Dr. Mercer) Let me, in case you were
concerned there's sonething nmissing fromthat page, it's
not. The three figures on the right page happened to be
tied together, so they all had to print on one page, so
there is nothing missing if that was your concern.

Q No, no, my concern was that | knew there had
been data produced back in the 1997 tine frame, and
t hought that was what M. Fassett was referring to, and
then | can't help but note that the reference here
suggests that it was recently filed, which led nme to
believe that perhaps there was sone additional data that
I had not been aware of that had been relied upon to set
this input val ue.

A. (M. Fassett) Well, to ny know edge that's
the | atest recent national data for that that the FCC
has actual ly published or has available, so to ny
know edge it's the | atest again national information
that's avail abl e.

Q There are a great nany other input val ues

contained in the H P that were based on the engineering
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judgnent of either you or M. Donovan or other menbers
of the Hatfield nodel engineering team correct?

A (M. Fassett) In part. As explained | think
in the HHP and in our testinony, and Bob touched on it a
little earlier, all of the input values and assunptions,
the nodel -- | have been involved with the nodel since
1996 in nunmerous dockets. We have been chal |l enged on
di fferent input values and assunpti ons, we have revi ewed
them we have nodified some that were legitimte, and so
it's not just based on our expert opinion.

Qur expert opinion, there was a nunber of us,

personal ly | have been involved in the business now 34
years, and others conparable, but that wasn't the only
basis for those input values and assunptions. |It's been
a whol e congl onerate of different analysis and processes
t hat support those docunents. And even, as | stated in
my summary, Verizon's own engi neering docunents and
other data that's been -- was produced in this docket
have supported those input val ues and assunptions.

Q Just a couple nore questions, M. Fassett.
If | could ask you to turn to Exhibit 879, this is a
different day of the Al aska hearing transcript than what
you have been | ooking at earlier. Do you have that in
front of you, M. Fassett?

A (M. Fassett) What page are you referring ne
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to?
Well, the exhibit right now --
A (M. Fassett) Yeah, | have the exhibit.
Q Let's go to page 1233, and | find on lines 2
and 3 of that page a reference that | recall seeing
el sewhere in your testinony, and |'m wondering if this
doesn't refresh your recollection as to how |l ong you
assunmed it was going to take to rebuild the network that
you were nodeling the costs of in Alaska. And on line 2
there it says:
Did you consider that your two to three
years, so they're work -- the teans are
wor ki ng May through Septenber a 24 hour
schedul e?

Do you see that?

A (M. Fassett) Yes, | do.
Q This is the one reference | could find here,
and | realize that has -- that's in the formof a

qguestion from counsel, but were you assunming a two to
three year rebuild schedul e?

A (M. Fassett) Probably, you know, | ooking at
it now, probably that's what we had assuned | ooki ng at
the CBG s that we were tal king about, again the 25 or 21
sanple CBG s in the Anchorage area.

MR, HUTHER: | have nothing further, thank
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1 you very nuch, M. Fassett and Dr. Mercer.

2 JUDGE MACE: Dr. Gabel.
3
4 EXAMI NATI ON

5 BY DR GABEL:

6 Q M. Fassett, | would like to begin with a
7 di scussion of the cost of aerial fiber cable, which

8 M. Hut her has been asking you about. | was trying to
9 get a sense when | was | ooking through Exhibit 856,

10 that's the HIP.

11 A (M. Fassett) HIP.

12 Q At pages 13 and 14, if | add up all of the
13 conponents, what is the cost per foot for putting in a
14 12 tube aerial fiber cable, because | would |ike to walk
15 you through the steps and tell ne if |I'm m ssing

16 sonet hi ng.

17 A (M. Fassett) Just a minute, I'mtrying to

18 catch up to you here.

19 Q Okay?
20 A (M. Fassett) Okay, go ahead.
21 Q At page 13 we start off with a material price

22 of 59 cents per square foot; is that correct?
23 A. (M. Fassett) Yes, for the 12 fibers, that's
24 what's in the Hatfield nodel.

25 Q Then at the bottomof the table there's a 3
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cents; what does the 3 cents represent?

A (Dr. Mercer) Can | answer that?
Q Yes.
A (Dr. Mercer) Okay, that is a calculation

that's actually conpletely separate fromthe one that's
calculating the investnent per foot. It's used when we
are trying to look at the optim zation of fiber versus
copper feeder. You don't at that point know how big
cables are going to be at the point you're doing that
cal cul ation, so you needed a, you know, a good average
nunber cost per strand foot to be able to do that life
cycle analysis of cost. So it's really used for a
conpletely different purpose, although it's supposed to
sonehow be representative on the average what does a

fi ber cable cost before you really know how big the
cabl es are going to be.

Q Al right.

Then, M. Fassett, turning to page 14, we
need to add on engi neering cost?

A (M. Fassett) Yes.

Q And what you have is that if we're -- the
engineer's workday is 8 hours, his pay rate is $60 per
hour, the assunption is that the engi neer could |ay out
10, 000 feet per day?

A (M. Fassett) Yes, of fiber.
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Q And then we also need to add in the m nutes
per splice engineered. Now am| correct we could
restate all of that on a per foot basis by doing $8, |I'm
sorry, 8 hours tines $60 divided by 10,000 wi t hout

taking into account the splice?

A. (M. Fassett) Yes, that would be correct.

Q Okay. And could you do that cal cul ati on?

A (M. Fassett) That comes to 4.8 cents per
f oot .

Q Okay. And then if we add on the splice, how
much nore would that be, you would -- am | correct you

assunme that a splice is every 6,000 feet?

A (M. Fassett) Yes, that's correct in fiber,
and so that would be, let's see, we've got 1/6 of -- so
we' ve got $10 per splice.

Q No, we have 10 mi nutes per splice.

A (M. Fassett) 10 minutes per splice, but

that, with a 60 labor figure, that would ambunt to $10,

correct?
A (Dr. Mercer) Yeah, that's right.
A (M. Fassett) That's right, it would be $10,

so that would be on a per foot basis if you broke that
down to a per foot basis it would be a .0001
Q So basically we're maybe 4.8 or 4.9 cents

just for --
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A. (M. Fassett) Just under 5 for that.

Q Okay. So for engineering we're adding, to
the 59 cents we're addi ng about 4.9 cents?

A (M. Fassett) That's correct.

Q Ckay. Then we get to the installation cost,
which is in section 2.6 at page 14. Here am | correct
that we have two technicians, each being paid $60 per
hour and working for 8 hours in a day?

A (M. Fassett) That's correct.

Q And you assune that in a day they can instal
8, 000 foot of cable?

A (M. Fassett) That's correct, 8,000 feet of
fi ber cable.

Q So am| -- could you turn these numbers into
a per foot cost?

A (M. Fassett) That's the 12 cents per foot.

Q Al right, that's the 12 cents per foot. So
if we add these three nunbers together, 59 cents for the
mat eri al, about 5 cents or |less for the engineering, and
12 cents for installation, we're at a little bit |ess
than 80 cents per foot; is that correct?

A (M. Fassett) That would be correct.

Q Is there anything else that would be added on
in order to get the total equipped, installed, and then

furni shed cost of installing a 12 strand fi ber cable?
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A. (M. Fassett) In the Hatfield nodel no, there
woul d not be. The exenpt nmmterials there would be, you
know, part of the, in this particular nodel, are part of
t hat | abor rate.

Q Al right. Now have you conpared your cost
estimates with the aerial equipped, furnished, and
i nstall ed equipnent in the FCC s universal service
nodel ?

A (M. Fassett) Yes, | have, | can't recall
exactly what they --

Q Well, if you will accept subject to check
that if you go to the USF order of the Federal
Comuni cati ons Conmmi ssions, the input order, the Tenth
Report and Order, in Appendix A the cost per foot for
aerial 12 strand is $1.50. Could you provide your
expert opinion about why the FCC ended up with a nunber
which is alnmobst twice as high as your nunber?

A (M. Fassett) | would have to | ook at how
t hey devel oped that nunber, what was the -- was the
material cost the same and what other factors were in
there to make an apples to apples conparison. If | knew
that the -- if the material cost was exactly the sane,
then again | would have to see where the differences
were in that.

Q Al right. Wat | now want to do is run
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t hrough your rebuttal testinony, and then | will turn to
some questions for M. Mercer, so. But | would like to

go actually to your reply testinmony, which is Exhibit

956.
A. (M. Fassett) OCkay.
Q At page 11.
A (M. Fassett) Okay.
Q Lines 17 and 18. I'ma little confused about

what's the difference between a secondary system and the
distribution area, are they synonynous?

A (M. Fassett) They are synonynous. It's |ike
when we do the cable facilities we'll have a F1 facility
which is known as the feeder facility fromthe central
office to the SAI, and then in -- this is the way FAC s
and sone of those assignnents are, then the facility
fromthe SAl to the custonmer locations, F2, and in this
docunment which is in that particular BSP, it refers to
the distribution as a secondary.

Q Okay.

A (M. Fassett) And that's the best explanation
| can provide for that.

Q All right, you just used two acronyns, and
could you define themfor the record, FAC s and BSP?

A (M. Fassett) FAC s is facilities assignnment

-- 1 can't tell you what the last two parts are right
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now.
JUDGE MACE: Is it F-A-CS.
A (M. Fassett) It's F-A-C-S.
Q And then the second acronymis BSP?
(M. Fassett) BSP is the Bell System
Practice. |It's the group of standards and practices

t hat have been throughout the industry ever since it
actual ly began.
Q Now, M. Fassett, would you now turn to page
12, line 11 and line 10 al so, you state:
Pl anni ng paraneters pernit three to five
DA s.
Di stribution areas?
A. (M. Fassett) That's correct.
Q (Readi ng.)
To be considered as a CSA or carrier
serving area
Wthin the Hatfield nmodel, and maybe this is
a question for Dr. Mercer, do you have three to five
distribution areas assigned to a carrier serving area,
or is there a one to one match?
A (Dr. Mercer) There is a one to one match.
There was an i ssue about that in the proceedi ng because
the -- at one point in the California proceedi ng we nade

it possible to have multiple, | my get ny acronyns
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backwards here, but littler areas, DA's, and the way
that was done is that you could limt the size of an
SAl, and therefore you could force a serving area to be
broken up into nultiple pieces.

We did not inplenment that in the nodel. It
could be inplenmented in the nodel, but we still are of
the opinion, and | believe the outside plant team
advised us on this, that this one to one correspondence
was sufficient. And the confusion was that we described
it as if it was available and made a paraneter avail able
that | ooked |ike you could set the SAl size. And then
when it had no effect, the Verizon w tnesses, you know,
natural ly asked why, and they said because it actually
is not inplenented in the nodel.

Q And M. Fassett's testinony at page 12, he
says pl anning paraneters pernmt fromthree to five DA's
and maybe | misinterpreted this, but | thought he was
conveying that this was the convention, and it seens to
be fromyour response, Dr. Mercer, you're saying either
| msinterpreted this testinony, it's not the
convention, or you're designing a network which isn't in
line with the engineering conventions of the industry.

A. (Dr. Mercer) Again | may have to turn to
M. Fassett to renmind me of the history of this, but at

the tinme the outside plant team was advising the
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devel opnent of the HAI nodel, if I'mrenmenbering right
why we did that and | believe | am | thought the
outside plant team had said the way we were designing
this was sufficient.

JUDGE MACE: Can you slow down just a little
bit, please

A (Dr. Mercer) Just to adjust a little bit to
that, what |'m saying here is that you' ve got three to
five distribution areas that you could conbine into a
carrier serving area so that you're going to feed that
area, that conbined area now, with one digital |oop
carrier systemrather than have, you know, you can do
that according to the parameters without having to put a
single digital loop carrier systemin each one of those
three to five distribution areas. And that's the point
in an efficient network, and that's how carrier serving
concept is designed.

Q M. Fassett, please turn to page 16, |line 6.
Here you're discussing the sharing of aerial structure
with other utilities; is that correct?

A (M. Fassett) That's correct, and | think
that it's -- to get a clear understandi ng of what we're
saying here, if you | ook at a pole structure, the pole
is essentially divided between hi gh vol tage providers,

which is the power conpany nminly, the electric conpany,
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and the | ow vol tage providers which is the cable TV

conpany, it's the tel ephone conpany, it could be a

private conmpany that wants to put sonething on there for

their own use, but that's the [ ower portion of the pole.
And what |'m saying is that the 25% of that

| ow voltage or the total cost of the pole being that the

| ow voltage is usually divided up to be 40%to 50% of

the total cost, so in other words you've got a -- let's

just say you've got a $10 pole and that 50% to 60% of

that pol e cost belongs or goes to the power conpany or

hi gh vol tage users, the remaining 40%to 50% bel ongs to

the | ow vol tage providers, which includes the tel ephone

conpany and the cable TV conpany and those ot her

i nstances. So what |'m saying here is that the 25% or

| ess of that pole structure attributable to the

t el ephone conpany is -- that's what | -- the point that

I"'m maki ng of the total structure cost.

Q Are you aware, M. Fassett, of testinony in
this proceedi ng that addresses the actual |evel of
paynments by cabl e tel evision conpani es when they hang
their cables on poles?

A (M. Fassett) Yes, | have seen testinony to
t hat about the attachnent fees that they pay.

Q And is it your understanding that the

attachnment fee paid by a cable conpany woul d be
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essentially 25% of the cost, or is it |ess?

A (M. Fassett) Alot of cases it's less than
that, because cable TV conpanies traditionally were
gi ven | ower access or encouraged to provide cable
facilities, so the attachment fees were less. But on a
going forward basis, that's probably not going to be
totally true. And in a lot of cases, joint pole
agreenents are structured so that they actually pay an
attachnment, or they own part of the pole in sone
i nstances. But yes, there are attachnment fees for cable
TV conpani es that would be less than the 25% if you
will.

Q All right. Now you're suggesting that in the
future that will be different, and why is that?

A. (M. Fassett) Well, because --

Q Why might that be the case?

A (M. Fassett) That might be the case in the
future because you've got cable TV conpani es now are
providing Internet services, providing a | ot of other
services. And besides the cable TV conpany, there's
ot her providers that would be on those poles. W're not
just saying that it's strictly the cable TV company. So
there's a magnitude of possibilities that are there, and
there's a lot of those that currently exist.

Q Stayi ng on that page nmoving down to |ines 14
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to 16, you're tal king about different nethods of

pl owi ng, and you refer to spider plows at line 16. Are
the cost of these types of plows reflected in the
Hatfield nodel, and if so, how could we validate that
that is the case?

A. (M. Fassett) Well, the cost of plowing is a,
that we have got in the Hatfield nodel, is based on
contractors giving us prices. A lot of contractors have
spi der plows, they have multi shooted plows, which neans
that the plow itself has a capability of placing nore
than one facility, nore than one cable at a tinme, nore
than one interduct. And by shoots, that's what the
pi ece of equi pment that goes into the ground, and there
were sonme pictures handed out the other day that showed
actually a, well, | don't knowif it had a nultishoot on
it, there was another picture of a spider plow and
that's actually a plow that's pulled, and you can do up
to 12 interducts with that or 12 fiber facilities in one
operation.

So the prices within the Hatfield nodel are
based on contractor prices, not specific equipnment. W
don't specify that this is so nuch for this type of plow
and so nmuch for that type of plow

Q Two nore questions, M. Fassett. First |

would I'ike to ask you to turn back to page 14 of your
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reply testinony. Starting at line 1 you' re discussing
the degree to which the Hatfield nodel assunes that
cables larger in size, copper cables larger in size than
2,700 pairs are deployed in the Hatfield nodel. Wre
you in the room yesterday when Verizon cross exam ned
the Hatfield Verizon panel on this issue?

A (M. Fassett) Yes, | believe | was here.

Q And there was an exhibit that showed that
cables larger than 2,700 pairs were used within the

Hat fi el d nodel ?

A (M. Fassett) Yes.
Q Okay. Could you explain why that's the case?
A (M. Fassett) Okay, first | need to explain

how pl ant accounting works. Just because it's a 4, 200
pair cable doesn't nean that it's placed on, or just
because it's an aerial cable and in this case that they
were referencing a 4,200 pair cable, doesn't nean that
it's physically placed on pole structure.

Pl ant accounting, if you had an underground
route let's say going in this direction and you' ve got
some buil dings or nmaybe you actually did ultimately go
to a pole section over here, the point, the splice point
at which that |ateral cable extends over to, and maybe
it goes up a pole, nmaybe it goes into a building, but if

that is -- ends up being like a block cable or into a
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riser into a building, that cable accounting is actually
the aerial account. The sanme woul d happen with buried.

I f you had an under ground cabl e goi ng down through in
conduit and it came out on a side |leg and went to buried
side | egs down through, whether it was either plowed or
trenched, the point of change froma plant accounts
perspective is the point at which that splice | eaves
that manhole, if you will, if it's underground. So
that's nunber one.

And the -- a lot of the cables that were in
guestion yesterday would fall or npbst of the cables |
woul d assune in all of themwould fall into that type of
bracket, that it's the accounting practice that drove it
to aerial and the fact that you still do not have -- |
agree you do not have pole structure, you're not going
to put 4,200 cables on aerial pole structure. You're
just not going to do that.

Q My | ast question, M. Fassett, is you have
made recomendations on the topic of structure sharing.
Your recommendations are, am| correct, they're generic
to Al aska or any state where you may be testifying, your
recommendati ons here woul dn't be different than your
recommendations in California or Al aska?

A (M. Fassett) Well, they may have been a

little different in Al aska just because the environnment
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we were | ooking at up there. But as | have | ooked at

i ke Washington in this state, | don't see any reason
why there would be any difference here in | ooking at
joint pole agreenents, |ooking at the structure sharing
as far as feeder and distribution. And even Verizon's
own docunentation in this thing, in this proceeding,

i ndicates that they actually share structure between
feeder and distribution. So there's no reason to

di spute what the structure sharing would be applicable
to in the state of Washi ngton.

Q Okay. And what is applicable to Washington,
what have you done in terns of surveying Verizon's
facilities in Washington to see if the assunptions that
you had made are applicable to Washi ngton?

A. (M. Fassett) And | don't know whether | was
exactly in Verizon's territory all the while, but | was
probably in part of a m xed bag between U S West or
Qwest and Verizon's, but | have actually been around and
| ooked at the facilities within the state of Washi ngton.
I went out to, and this was |'mgoing to say back in '98
| believe it was, '97, '98, anyway went out and | ooked,
and there's no maj or change that | am aware of.

Q Ckay.

Dr. Mercer, | would like to ask you to turn

to your Exhibit 861, your reply testinony.
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A. (Dr. Mercer) Okay.

Q Let me just begin first with one or two
prelimnary questions. At tinmes in your testinony you
-- | believe there's references to strand di stances, and
I think you defined it this norning, but could you
define the term agai n?

A (Dr. Mercer) Okay. |In the process of
produci ng the cluster database, in the process of
produci ng the cluster database, TNS neasures the anmpunt
of route distance that's required to connect the
custoners where they're |located to each other and back
to the serving area interface, which is at the centroid
as they have defined it, so that the strand distance is
t he nunber they produce. And it appears in the cluster
dat abase, and it represents the connectivity basically
or the route nmles required to connect custonmers to each
ot her.

As per our instructions, when they are
running fromone custoner to another, they do that on a
right angle route basis in the right angle coordinate
system that they have used so that it's not a true
m ni mum di stance but has extra distance in it to reflect
the fact that, you know, you can't cut across roofs,
beds, and yards and hal lways and things |ike that.

I mght correct, there was sone confusion
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yesterday attributed -- and it was attributed to ne as
to what | said that the effect of that right angle
routing was, this may be a good point to clarify that.
It turns out on the average, if all angles are equally
likely, it adds 27% to the routing distance. That's the
ratio of 4 divided by pi it turns out, and it just cones
out that way fromcalculus but -- so that effect is a
27% effect. | think M. Turner had tal ked about the
square root of 2 at one point, that's if you had a 45
degree triangle, the sumof the two sides is equal to 1
-- well, it's equal to the square root of 2 tines the
hypot enuse, but on the average across all angles it's a
27% effect .

So to get back to the main -- so the strand
di stance is just that anmount of connectivity or route
mles required to connect all custoner |ocations to each
ot her and the SAl on a right angle basis.

Q And in your | ast sentence you said it's
strand or route mles, so | can think of those two terns
as bei ng synonynous?

A (Dr. Mercer) Yes, the strand distance is just
the nane that has been given to it, and it really
represents the anount of route mles you require in your
distribution plant to connect those custoners.

Q Okay. Now on this topic, Dr. Mercer, | would
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like to ask you to turn to Exhibit 611, this is the
exhibit that was di scussed yesterday with the Hatfield
panel. This is the seven maps whi ch were showi ng how
the Hatfield nodel estimates the loop facilities for

Ri chnond Beach

A. (Dr. Mercer) | think it's com ng.
Okay.
Q So when the strand distance is calculated, is

it done using the |ayout of custoners that we see at
page 1?

A (Dr. Mercer) Yes, although it's done on a
cluster by cluster basis. So this is a separate
calculation in each cluster, which nmeans you're better
of f | ooking at the second picture where you can see the
col or coded clusters. And, you know, for instance if |
| ook at that yellow cluster in the upper right, there
woul d be a strand distance for that cluster which is the
anount of cable required to connect those custoners.

Q There was sone di scussion yesterday about if
you have the actual custoner |ocations, there was a
suggestion that naybe that's what should have been used.
Why didn't you stop at page 2 after the customers had
been put into clusters; why did you proceed to
mani pul ate the data in the way in which you do in slides

3 through 7?
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A. (Dr. Mercer) Because it introduces a | evel of
conplexity in the way you would then define a spanning
tree that we did not believe was warranted by the gain
that you get conpared to using the strand distance. The
approach you're suggesting is the one that's used in the
FCC nodel. As | say, innm mndit's conplex and
doesn't yield nmore than having that strand distance
avail able to you, because the strand distance is
effectively producing that same effect.

Q Just to make sure that the record is clear
then, going back to your testinony, this is Exhibit 861
at page 26, you discuss the strand distance
normal i zati on option. Am/|l correct you use that option
inthis filing?

A. (Dr. Mercer) Yes. It wasn't, just to relate
this to nunbers, until last night with the strand
normal i zation turned on, it was producing a $7.64 route
rate, and after correcting that strand, the use of that
strand di stance, which | need to enphasize was not a
matter of having the strand di stance recal cul ated. |
mean TNS did not have to do anything. W had subtracted
drop distances fromthe strand distance, and that was
the m stake. So the correction was internal to the
nodel, not a matter of having TNS do a new strand

di stance. But anyhow, that's the nunber that brings the
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dollar -- brings the ambunt up to $8.50. |If you run the
nodel with the strand normalization turned off, which is
a user option, then you produce a loop rate | believe
it's $8.18.

Q Now with the normalization, strand distance
normal i zati on option turned on, and now, |'m sorry,
turning to page 8 of this testinony at |ines 18 and 19,
you're representing M. Dippon's testinmony that your

nodel is producing nore route mles or nore strand mles

than the Verizon nodel; is that correct?
A (Dr. Mercer) Yes.
Q Okay.
A (Dr. Mercer) | should say | have not
i ndependently checked that. | amciting M. Dippon here

and believe that since he's drawn pictures correctly and
the Iike that that is a correct calcul ation

Q Then | think | know the answer to this
question, I'mgoing to ask it. Dr. Tardiff had included
in his May testinony a footnote that was discussed
during yesterday's hearing showing that in | ow density
areas the distribution distances produced by the
Hatfi el d nodel were greater than those for the Verizon
nodel , but in the | ow density areas that Verizon, no,
I'"'msorry, thank you, but in the high density areas the

di stribution distance that is produced by the Hatfield
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nodel were less than in the Verizon nodel. Are you
famliar with that footnote?

A (Dr. Mercer) | am

Q So have you made any conpari son by density
zone on route mle or strand distance?

A. (Dr. Mercer) No, | have not, and | would
mention that as M. Huther recogni zed and poi nted out
yest erday, when you now redo those kinds of analysis
that Dr. Tardiff did, the story will presumably be quite
different. So | think you will not -- I'"mnot sure it
will make that story go away, but it will change it.

And the reason | say that is renenber the error that we
made is that we were subtracting some nunber of drop
di stances, and the some nunber was the nunber of I|ines
or the nunber of prem ses tines a geocoding rate. So in
popul at ed hi gh density clusters where you have a | ot
nore customer |ocations, we were meking a bigger
correction. Wth that error corrected and we're not
taking out drop distance, that picture will shift. |
don't know by how nmuch, but that picture will change,
but | have not done such a route conpari son.

DR. GABEL: Dr. Mercer, as a request fromthe
Bench, can you undertake a conparison using the revised
version of the nodel, the version that you subnitted

today, will you conpare by density zones both the route
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or strand nile distances as well as the | oop length

di stances by density zone, and the conpari son woul d be
bet ween your nunbers and those contained in the Verizon
nodel .

DR. MERCER: And you wanted two conparisons
did you say?

DR. GABEL: Yes, one would be the route
mles, and the other would be the | oop | ength distance.

DR. MERCER: Yes.

JUDGE MACE: And do you want a conpari son
between Dr. Mercer's --

DR. GABEL: Revised --

JUDGE MACE: ~-- revised HAI?

DR GABEL: Right, and to conpare that with
the VzCost nunbers by density zone.

DR. MERCER: The only caveat | have is that |
may be wong, | don't renmenber in Dr. Tardiff's
testinony that he produced the loop lengths. | know the
tabl e you're tal king about before is the route nodel
conparison, we certainly have the nunbers we need for
that. Loop length, | nmean | assune | can find sonmebody
who can get that from VzLoop if it's not already in his
testi nony.

CHAI R\MOVAN SHOWALTER: | need to interrupt

here. W really can not have people in the audi ence
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meki ng notions. It's not on the record and it's not
appropriate. |If you need to talk with sonebody you can
tal k through your counsel or soneone el se.

MR, TUCEK: Sorry, | was just trying to
i ndi cate --

CHAl R\MOVAN SHOWALTER:  Wel |, you can not
partici pate except through your attorney.

DR. GABEL: Dr. Mercer, as a follow up, |
think you're correct that Dr. Tardiff had distribution
| ength conparison, not |oop | ength conparison, so if you
could do route mle, distribution, and then if it is
al so possible to do |oop length conpari son by density
zone, also provide that information?

DR. MERCER: Ckay.

JUDGE MACE: W'l take a 15 minute recess.

(Di scussion off the record.)

JUDGE MACE: If | didn't indicate it, that
wi |l be Bench Request 18

(Recess taken.)

JUDGE MACE: Dr. Gabel, you had sone
addi ti onal questions.

BY DR GABEL:
Q Returning, Dr. Mercer, if we could return to
Exhi bit 861.

A (Dr. Mercer) Okay.
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Page 53.
(Dr. Mercer) Yes.
Q Starting at line 11 you have a discussion
about nodeling to lots rather than to individua
| ocations. Could you explain what is the difference
between a | ot and an individual |ocation and how that
woul d af fect your cost estinates.
A (Dr. Mercer) Okay, | will do it in the case

of a cluster with not very many lines in it since that's

the case where the words here make a difference. |If |
have a -- when | run backbone and branch cable in the
nmodel, | run it vertically until it's within one |ot

depth of the top of the rectangle, and then the branch
cable runs over to within one lot width of the edge of
the rectangle. And if | have fewlines in a cluster,
may be dividing that cluster only a fewtines. And so
when | stop one | ot depth short and one | ot depth wi de,
| may be stopping a |long way or, you know, a significant
di stance fromthe boundary of the rectangle.

Whereas in reality you nay expect there to be
a custoner either at or close to the corner of the
rectangl e, because that's, you know, ultimately the
rectangles are representing the cluster shapes, and the
cluster shapes were originally drawn, their vertices are

presumably at or near where a customer is.
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So ny reason for enphasizing or why we tal k
about the lots being uniformis those uniformlots can
still leave the parent custoners being pretty far from
the border, whereas in reality they may be closer to the
border than that would -- than this cal cul ati on woul d
suggest .

And that was why the FCC originally asked for
something like the strand. | have al nost forgotten the
history a little bit about whether they literally said
we had to do sone normalization, | think they may have.
They were concerned that in those rural areas with
clusters with not very many |ines that we were not
getting enough route mles. And sure enough in those
rural areas, you will -- the strand normalization wll
often be greater than 1, neaning that you were addi ng
some anount of cable.

But as | nentioned this nmorning in response
to a question M. Huther asked, | am also seeing many
cases where the strand distance can be greater than 1,
because in that particular cluster the assunption that
lots are laid out uniformy, whatever size they are, may
not adequately represent cases where roads turn an odd
way or, you know, there are a bunch of roads closer
together or sonething like that. So you nay al so have

cases where you need nore strand di stance or nore route
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mles than the uniformlot distribution would suggest
you need.

And that's why we do the strand normalization
is to come up with where the real -- the real amount of
cabl e needed to connect the custoners.

Q Dr. Mercer, does the Hatfield nodel have an
option that would allow the user to change the nmaxi num

copper length from 18 kilofeet to 15 kilofeet or 12

kil of eet?
A. (Dr. Mercer) Yes, it does.
Q Al right. 1In order to change the nmaxi num

I ength of the copper, does the data need to be
recl ustered?
A. (Dr. Mercer) No, it does not. You m ght

argue that if you did recluster with say a 12,000 foot

l[imt, you might theoretically say, well, it leads to
nore efficient lots, | nean clusters or something |ike
that, but the nodel is self contained in that sense. |If
you change let's say to 12,000 feet, the nodel will now

check with the clusters just like they were, do | now
exceed 12,000 feet in going fromthe SAl out to the
edges of the cluster, and if so it splits the cluster in
one or both dinmensions and creates subclusters, mandates
the use of fiber feeder in that point because if you're

in trouble distancewi se, you obviously need to get fiber
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at least as far as the SAl. So you will come out to the
original SAl, and then you will continue fiber to the

m ddl e of the two or four, maybe nore, but usually two
or four subdivided clusters. And fromthat point you
now wi Il have | ess than your new maxi num so that wll

-- that works.

Q Prior to the break | was asking you about the
conpari son between the route mles between Hatfield and
Verizon | oop, also loop length estimates or distribution
I ength estimtes, the difference between the Hatfield
nodel and VzLoop. |In both cases your testinmony and
M. -- where you relied on M. Dippon shows that you're
com ng out with longer lengths, and just | would like to
ask for your interpretation on why your approach to
nodeling would result in |onger route nles and
distribution I engths than the Verizon, and | would |ike
you to especially focus on route niles.

A (Dr. Mercer) Okay, the reason that we believe
the route mles cone out |longer is because of this
conservative estimate where we do all right angle
routing. There is no air line miles because when we | ay
out feeder, the feeder goes out fromthe office along a
certain north, east, south, west direction. The
subfeeders branch off of that at right angles, so you

al ways get to the SAl on a right angle. And then when
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you're -- even before the strand nornalization inside
the cluster you're running a backbone in one direction
and a branch at right angles, so all the paths out to
custoners are done at right angles. And then when you
do strand normalization you're normalizing to a strand
di stance that has been calculated with right angle
connecti ons between the custoners.

As a result, every place you are throwing in
this factor that essentially says to be conservative
because there are these conplaints that over the years
that have said when we weren't doing this that we
weren't reflecting objects, bridges, highways, |akes,
whatever. The intent of this angle, of this routing on
the average is to add in distance, and | believe that's
the primary effect that's going on

Q My | ast question, |I'mgoing to end with an
open end question as | often do with the wi tnesses, and
that is, in this proceeding we have been -- we have
| earned that one of the primary differences between the
Hatfi el d nodel and VzLoop is that VzLoop works with the
exi sting location of pedestals and serving area
interfaces, and you do not do that. Wy do you think
it's appropriate to ignore the current |ocations of the
serving area interfaces and pedestal s?

A (Dr. Mercer) Because -- and |'mgoing to have
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to answer obviously as a non-econom st, so pl ease
forgive ne, | can do 4 over pi.

| understand the idea of TELRIC when it was
first devel oped was that you want to represent the costs
that would be incurred by a new efficient carrier com ng
into the area and serving it. Watever nistakes were
made |i ke distribution termnals placed in a way that
the customers didn't really grow up there, they were off
to one side of it or they were further away or whatever,
you're now, if you use those existing |locations, you're
capturing the network the way it would have been built
if it had unfolded the way the tel ephone conpany
engi neers did, but TELRI C says that an efficient carrier
entering the market woul d design to the network where it
was. So | believe that in a way that you can never
quantify when you use enbedded network configurations
just |ike when you use enbedded costs, you're too much
runni ng the danger that you're capturing that network
with a -- with all of the failings that it may have and
the flaws it may have and not capturing what a new
efficient entrant would do.

Now Dr. Tardiff has often criticized, used
the term yesterday, plopping the new network down.
Pl oppi ng the network down says for instance often a

distribution route has to be served by two cables,
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because if | put in one and then it wasn't big enough,
put in a second. But if you listen to the discussion hy
Veri zon witnesses yesterday, they also put one cable in
their network. So even, you know, if you're
theoretically going to argue that's the wong thing to
do, TELRIC has too efficient a criteria. Wen it cones
to conmparing the two nodels, both nodels are doing the
same thing. And | have to, again |'m speaking as a
non- economni st, ny understanding is that's the TELRI C
standard, because the efficient entrant will put in one
cable, not two cables, not nmultiple cables.

So | think that's the big difference is that
HAI says take the custoner |ocations and the anmount of
that -- let ne, excuse ne, start that sentence again.
Take the custoner demand where it exists and in the
amount it exists, and construct a network that
efficiently serves that demand. And when you use a
network that takes existing |ocations, you' re departing
further fromthat than | believe TELRI C says you shoul d
depart.

DR. GABEL: Thank you.

EXAMI NATI ON
BY CHAI RNOVAN SHOWALTER:

Q | have a nunmber of questions all along a
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common thenme, and | think if you do have Exhibit 611 in
front of you that will be useful on occasion.

It is evident in this proceeding and others
that any nmodel is going to have its strengths and
weaknesses. And sone strengths are big, and sone
strengths are snmall, and sone weaknesses are big, and
some weaknesses are small. For the nonent, can you w pe
fromyour head the HAI nodel and the VzCost to the
extent you know it and just think hypothetically
ideally, trying to imagine the ideal nobdel. You nade
the coment that certain features nmay have tradeoffs of
cost, but right now | just want to think about idea
nodel. And this is a nodel that is supposed to produce
TELRI C costs. M first question is, do you agree that
this ideal nodel, if it can, should assune that existing
houses and buil dings are precisely where they are and

woul d not change?

A (Dr. Mercer) Yes.
Q Do you think the nodel should assune that
existing rights of way will not change? | didn't say

anyt hi ng about new rights of way, but just existing
rights of way will not change.

A. (Dr. Mercer) | think so, except that |I'm not
the outside plant expert that understands how easy or

hard it is to get rights of way, so | frankly don't know
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1 is that a big deal when you run -- clearly running into
2 an exi sting nei ghborhood and sonebody saying | now own a
3 third of your front lawn that | didn't own before is a

4 problem but | don't know al ong roads and hi ghways and,
5 you know, if you decided that it would be better to go

6 on the other side of Interstate 5 to run a cable, |

7 don't know if that is a substantial issue or not. And

8 so what the nodels typically are doing, and both nodels

9 have approximations of this --

10 Q | didn't want you to tal k about your nopdels.
11 A (Dr. Mercer) | know, | was going to say both
12 nodel s, but okay, |'Il stop.

13 Q No, I'mtal king about the ideal nodel

14 A. (Dr. Mercer) If -- then | guess | should --

15 the best answer | could give is if it's a big deal to

16 change right of way, then you better nmake sure that the

17 nodel is -- has enough cable in it to follow the rights
18 of way.
19 Q Okay. Do you think that the ideal npde

20 shoul d assune that existing streets and hi ghways and

21 | akes and big bodies of water are where they are today?
22 A (Dr. Mercer) Yes, | don't think that wll
23 change, the lake location, no. |It's generally true,
24 yes, | believe it should represent the area that you're

25 in.
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Q So in this ideal nodel, if you are neasuring
the distances required to construct a TELRI C system
woul d the npst accurate nodel use geocoded, | don't know
what the right neasurement is there, dots for every
location if there were geocodes for every |ocation, or
woul d that be one of the types of things an ideal nodel
woul d use?

A (Dr. Mercer) The ideal nodel in the sense
you' re asking it would go even further and reengineer
the | ocal network, because no nodel can account for the
little vale that you can't get through because it has a
streamin the bottomor, you know, a bridge abutnment you
can't go under and things |ike that.

And we did what the Al aska commi ssion thought
was the ideal. They were swayed by the argunent that
what you should do, you couldn't redesign the entire
Anchorage network, so they drew a sanple or they had ACS
draw a sanpl e of census bl ock groups, which were
believe something like 15% of the whol e geographic area
of Anchorage served by ACS, and literally reengineered
the network, meaning that they sent outside plant
engi neers out to, you know, to follow routes for feeder
and for distribution.

And interestingly enough, in some -- the

experinment succeeded and it failed. It failed because
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it turns out even outside plant engineers could stil
strongly disagree, and M. Fassett was part of the team
of local and non-Iocal people who reviewed what ACS said
was necessary and found pretty different plans. And so
for whatever reason, even that exercise didn't say there
was a network that two parties could agree on, they
differed substantially.

But the other thing it showed fortunately,
the good news is that when you then applied a proxy
nodel , which up there was the FCC s Synt hesi s nodel
adapted to do UNEs instead of USF, you could nmake -- the
two nodel s produced very simlar results. Wich the
good news to nme about that was that you don't have to go
out and do the ideal, which would be to redesign the
| ocal network and then add up how many feet of cable you
get and this and that. Nor do you, because it was the
FCC nodel, which does not do what Verizon is doing which
i s geocoding all your points as you described them the
proxy nodels work well, you know, well enough

So fortunately having stated what the idea
woul d be, it turns out you can in my opinion safely back
off fromthat ideal and go back to a nodel that
represents obstacles and where you have to steer cable
wi t hout necessarily, you know, redesigning.

Q I"'mnot sure if you just put a straw man in
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front of nme, because | didn't ask about reengineering

the nodel. Al | asked about was di stances using
geocodes.

A (Dr. Mercer) Okay.

Q Now so your answer was |ong, and one of the

problems with long answers is | have a really hard tine
holding in m nd nmy next question and also listening to
your answer. But | heard you to say, oh, | would go
further than geocode, | would redesign the whole system
but you don't have to redesign the whol e system because
a proxy is good enough. And | really wasn't asking
about redesigning the whole system

A (Dr. Mercer) Okay. |I'msorry, | though you
asked nme what woul d be the ideal nodel.

Q No, | said in an ideal nodel, would you use
geocoded | ocations for every building, assum ng that
there actually was a geocode | ocation for every
bui | di ng?

A. (Dr. Mercer) Yes, | would in the ideal

Q In an ideal nodel, would you assune that
exi sting locations of poles owned by el ectric conpanies
woul d remai n where they were?

A. (Dr. Mercer) No, | would not.

Q Okay, that maybe poses a good exanple, and

it's the exanple of how much a TELRI C nodel shoul d take
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into account real world configurations. And you have
just granted ne sone of them but now we have reached
the electric pole. And isn't it logical to assune that
the price of renting space on an electric pole that

exi sts today is cheaper than putting up a new one on the
same route in a different |ocation?

A (Dr. Mercer) Yes, | believe it would be
cheaper from what | understand.

Q And so why would -- why is your answer no
you woul d not assume the existing pole?

A (Dr. Mercer) Because | think you don't need
to go to that |evel of detail to get the nodel right.

Q Well, we were tal king about ny ideal nodel.
I"massunming all of my features have no additional cost
to load in.

A (Dr. Mercer) Okay, then | guess yeah, in that
-- divorcing nyself fromthe reality of what you could
do, I think you would then benefit from knowi ng exactly
where, not only where every pole is, but where every

conduit may be or every conduit you can place if you had

to place new conduit. In the ideal, that would be
hel pful .
Q Can electric poles, poles owned by electric

conpani es, be geocoded theoretically?

A (Dr. Mercer) Yes, and actually they are
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geocoded in a lot of locations. That's one of the ways
that pol e data bases have been nodified over, | don't
know, say the last ten years.

Q VWhile we're tal king about geocodi ng, nost of
us are famliar with cars that nowadays have these
geocodi ng systens in them and you can put in an
address, a Mapbl ast, Mapgqwest type of exercise, and be
told how to get nost efficiently fromone place to
another. That in and of itself anyway doesn't seem|ike
a mmj or expense. | assune CGeneral Mbtors or sonebody
once spent a lot of nobney on it, but relative to the
whol e tel ecom system am | right or wong that that kind
of exercise alone is not a major effort?

A. (Dr. Mercer) Well, the car has a transmtter
init, you don't want to, you know, to do your GPS, you
don't want to incur the expense of putting that on every
pole. So what you do instead, and they do tend to do
this now with these conmerci al databases of custoner
| ocations, is that sonebody wal ks down the street with a
GPS transnitter, sends the signal that records where he
or she is at this point, and that's -- you could do
that. | mean if you added in the car, because it's kind
of like a different application, but you could do that.
You coul d wal k down along the pole |line and stop at each

pol e for whatever seconds it takes to get a satellite
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read on where you are. So, you know, | assune that
that's --
Q Actually | realize |I introduced a new

conplication by the car. You can sit at a conputer and
put in one location and anot her on Mapblast for free,
and sonebody gives you a route of howto get fromone
pl ace to anot her.

A (M. Fassett) That geocoding that you're
speaki ng of for poles has been undertaken a lot | know
specifically in the Northeast, because a | ot of poles
| ose their nunbers, and it's a | ot easier to give a crew
coordi nates to go, and then they know exactly where
they' re supposed to go to to repair the pole or whatever
facility they need to work on. So yes, it has been done
as part of the inventory system

Q Now |'m going to start com ng down fromthe
i deal into sone of the proxies and other techniques that
nodel s use, but | would |ike to use as an exanple the
clock behind us. [It's behind you, but anyway everyone
can imagine a clock. Now we had an exanpl e yesterday,
and Dr. Gabel gave a different exanple, but if you
i magi ne that the clock is a given area, maybe it's one
of these subareas on the Ri chnond map, and if you
i magi ne 4 houses, one at 12, 3, 6, and 9, and you

i mgi ne SAl right in the center of the clock. Now in
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that exanple -- oh, | have to tell you also that the
roads run in a radial systemfrom 12 to the center, back
out to 9, you know, back to the center, down to 6, back
to the center, and out to 3. Now in that situation,
let's say the distance fromthe center to 12 is 1,000
feet, and the sane is equidistant to the 3, the 9, and
the 6 fromthe center. Now in that situation, if that's
everything in your distant area or --

A (Dr. Mercer) Distribution.

Q -- distribution area, the true length of
road, total road is 4,000 feet, right?

A (Dr. Mercer) Mmhm

Q Now i f you imagine a different configuration
and there are 4 houses all clustered around the 6, then
the true length of road is about 1,000 feet?

A (Dr. Mercer) Mmhm

Q Now but that's only if the SAl stays in the
center where | once put it.

A. (Dr. Mercer) Mmhm

Q What does the HAI nodel do in those two
situations?

A (Dr. Mercer) In the first situation the TNS
cluster, I"msorry, the TNS strand di stance will say
that it's going to assune to be conservative that you

run fromthe let's start at the 12 down to the m ddle
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and out, and then it would | believe, if | think about
the strands, it doesn't run back in per se, because it's
only a connectivity thing, so it would go on down the
mddle. It would go fromthe 12 to the middle, and then
it would go out to the 3 and then down to the 6 and out
to the 9. In that case --

Q Wuld it do a right angle from-- is it going
from1l2 to the middle and out to the 3 because that's a

ri ght angle?

A. (Dr. Mercer) Yes, it is.

Q Okay.

A (Dr. Mercer) Otherw se --

Q So then getting fromthe 3 to the 6, it could

take two different routes, it could go back to the
center and down to the 6 or, you know, down to the air
and over to the 6?

A. (Dr. Mercer) Yes, but the way in -- in graph
theory terns you don't try to retrace routes.

Q Okay.

A (Dr. Mercer) So you would really |ook at
opportunities to go to some point and then branch. So
you should really be able to get down and then branch
each way and really replicate the 4,000 feet. |In that
case, you really -- the right angle has not really hurt

you, it's actually given the right answer | believe.



1621

1

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

I"'mtrying to picture --

Q That's because this is so equidistant --

A (Dr. Mercer) Yeah.

Q -- that it comes out the sane?

A. (Dr. Mercer) Yes.

Q Okay.

A (Dr. Mercer) Now where if you canme out a
little bit further -- no, okay. So if we -- if we're
tal ki ng your second exanple, if the nodel, if TNS stil

t hought the centroid was in the mddle where the hand is
joined in the mddle of the clock, the SAl was there,
and then you had these people down at 6:00, it
cal cul ates sone amount, a little bit of connection down
there to get between the 4 houses that are cl ose
together, and then it will also -- it links back to the
SAl. So it will have one arm of that clock, so it would
have a di stance that was equal to your 1,000 feet plus
what ever additional distance it was, which again if they
were all kind of equally spaced right around 6, you
m ght have pictured them as being kind of a radia
connection of 50 feet or whatever to get out to each of
those 4 |locations fromthe 6:00 point.

Q Ckay, now -- so you're saying in that case
the nodel woul d do approximately what is correct in rea

life, that is |I'minagining roads connecting the houses
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just in the manner | described, and in the second
exanpl e there was one road fromthe center of the clock
down to the cluster.

A (Dr. Mercer) Yeah.

Q You' re saying that's approxi mately what the
HAl nodel woul d do?

A (Dr. Mercer) It does if you're using --
because you're using the right angle routing. In that
particul ar case, if you didn't have the requirenment of
right angle routing, | think I remenber ny geonetry wel
enough to renmenber, what it would then find is it would
say | will run in a straight from 12 down to 3 and then
3, straight line from3 down to 6, in other words not
goi ng through the m ddl e anynore. You would get a

di anond that would connect back to 12 again. And

think that -- | have to -- | don't renenber ny geonetry
wel |, but I think that would be a shorter distance to do
it that way. | think that's shorter than going in and

out, but | need to check that to be sure. But that's
what it would do if you did not do right angle routing.
Q Okay. By the way, on right angle routing,
you can only do it if you have a grid in the background.
A. (Dr. Mercer) Yes.
Q And | take it is it that a north-south grid

that is used unless you use that steering mechani smyou
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referred to?

A (Dr. Mercer) It is -- thereis -- | actually
hesitated on this point this norning, because | had to
stop and think. W have in the United States a right
angle grid systemcalled V&H coordinates. It's V&H
stand for vertical and horizontal that -- we needed
sonmething like this, this is from probably at |east 50
years ago, to describe the distance between two wire
centers for the purpose of billing. And every
tel ecomrmuni cations entity in the U S. specifies their
switch | ocations and ot her kinds of equipnent relative
to V&H coordi nat es.

And oddly enough, that does not run north,
east, you know, east, west, and north, south, because
smarter people than | at Bell Labs said that you --
remenber this is really a curved surface. | nean even
in the United States you' ve got sone curvature to the
earth, and you want to flatten it out in the nost
accurate way you can, and they flattened it out in a way
that the equations are incredible, they're really cool
but they're pretty nessy, and it's tipped. The one axis
does not run east, it runs at an angle. It runs, unless
you're drawi ng the wong way, as you would |ook at it,

if | were going there here to New York City, that axis

is actually running down bel ow New York City even if New
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York City were directly east of you.

But TNS only has -- it works in latitudes and
| ongi tudes, it works in spherical dinensions. And
think, and | can certainly check this for this
di scussion if we needed to, but | think it probably uses
a true north-south and east-west, because we're talking
about rmuch smaller distances. W don't have to get the
whole U S. right for themto do what they're doing.
They're only trying to get it right within a cluster, so
| believe they probably use a right angle coordinate
systemthat really locally has a north-south and an
east-west to it.

Q But in any event, the grid that is used is
constant throughout the application of the nodel unless
there's sone deliberate attenpt to reconfigure things

for nore efficient reasons?

A (Dr. Mercer) Yes.
Q Okay. Yesterday | thought | was making a
j oke about assunming the world was round, | was trying to

pi ck the npst extrene exanple that | was certain every
nodel woul d agree with, but apparently not always.

Al right, but in any event -- well, strike
t hat .

If you want to be nore accurate than not,

isn't it nore ideal to neasure shorter distances than
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| onger ones? 1In the exanple that was given yesterday,

if you filled in all of the nunmbers or all of the

m nutes, you would get a picture of sonething round, and
if you only have the four points, you get a picture of a
di amond. And isn't that a product of the -- of
measuring smaller distances fromone node to another or
nore, having nore nodes?

A (Dr. Mercer) The closer you get, if you
believe that direct, that direct routing is sufficient,
the cl oser together the points are, the better. Because
now if | have a curved road and | only had one point
down here and another one up there, then the straight
line between themis not going to follow the road very
well. So whereas if | have points every 10 feet or, you
know, sonme ridiculous ideal, then all of those little
straight lines aren't getting very far away fromthe
road.

Q And so the closer your nodes are, the | ower
your factor needs to be. For exanple, your factor was
1.4, but if you had the H P of the HAl npdel exactly but
you were neasuring smaller distances, your factor would
logically go down, would it not?

A. (Dr. Mercer) Maybe not. It's a great
question. If | picture that in nost places streets are

lai d out in neighborhoods and right angles, or even in
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arcs | think I'"'mgoing to cone up with the same thing,
you always ultimtely get that question of whether you
go directly between two points or whether you
conservatively do right angle.

Because | think that even on a small scale,
what happens, inmagine again nmy curved road with, okay, |
have put a whole |ot of points close together and |I'm
connecting themall by straight lines, I'mstill getting
what -- the tradeoff there is yes, any one arc i s not
very far off the road, but | have a lot nore arcs,

mean a |lot nore straight |ine approxinmtion. Wen | add

it up, you still end up to sonme extent with the issue of
have | introduced enough inaccuracy that since |'m not
representing the road curvature, | should be putting in

some extra, and | should be putting a factor in there.
So | think that even going a little short segnent, short
segnment, short segnent, if | draw that picture in terns
of right angles, right angles, I"'mstill ultimtely
either putting in enough cable to kind of go up and over
or not.

And | nean what we heard, you -- for instance
yesterday we heard Verizon say that on some of their
feeder routes they're | think they said on the average
2,048 feet apart, and then recognizing the straight line

can then deviate fromthe road in 2,048 feet, they
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applied a factor of 1.15. W would apply this right
angl e, which on the average is adding 27% That
di fference between 1.27 and 1.15 over a 2,800 foot
di stance beconmes 325 feet difference, so there is I
think still a significant difference there as to whether
you do assune kind of right angle routing to provide
enough extra cable on the average or whether you assune
right angle routing with an adjustnent factor. | nean
if I were advising Verizon, | would probably say at a
m ni rum you shoul d use a bigger factor
But the real point I'mtrying to denonstrate

is even with a factor, you are not ultinmately
replicating the roads, and the closer you put the points
together, every little arc there |ooks pretty good, but
you still got to -- you're adding up nore and nore arc,
and therefore the deviation is still significant.

Q Well, but that seems to be a product of doing
right angles if you either, I don't knowif this is
cal cul us or geonmetry, but if you draw a fluid line
around the whole clock, that is the exact distance
around the circumstance of the clock, and that's the
nmost efficient thing to do, isn't it?

A. (Dr. Mercer) Yeah, if you -- yeah, now
instead if I"'mjust at 12, 3, 6, and 9. If I'mat |ike

first I"'mat all the nunerals and then | get even cl oser
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together than that, yeah. What it is in geonetric
terms, it's |like you're drawing straight lines to
represent arcs.

Q Ri ght .

A. (Dr. Mercer) And in the extrene, you're
right, in the extrene calculus would say that if | get
the points vanishingly small apart, in other words
really get themtogether, then ultimately as |'m adding
up all of the straight lines I would, you know, | would
nore and nore closely estimate the true di stance around
t hat .

Q And if you had right angles between all those
tiny, tiny, tiny lines, it would go down to practically
not hi ng, right?

A. (Dr. Mercer) That's correct.

Q So | don't think you would have as much
inefficiency in those right angles if you had many, many
poi nts verging on a snooth |line as you would if you had
just the hours on the clock

A (Dr. Mercer) | think mathematically that's
right. The arcs, | nmean the straight |ines night get
there a little faster than right angles, but basically
both of themultimtely you're getting very close to the
right estimate. And | nean it's good to play this

t heoretical exercise, because pretty soon you have to
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say, well, what would you do in the real world, and
probably got a little far ahead tal ki ng about 2,080 feet
or whatever. But in the ideal where you could really
take lots and lots and lots of points so you had, you
know, a really excellent grid of the roads, you could --
you could very closely replicate, you know, just --
you're alnmost |ike doing the engineering job if you're
doing it with a |ot of data.

Q Yes, but if we now go back to just the zipper
say where you actually do know if you do the | ocation of
the house and its location to the street, a real street,
and forma zipper, not a theoretical zipper, well, it's
alittle bit of a theoretical zipper | guess, but it
woul d be based on the known | ocation of real streets and
the known | ocations of real houses, perhaps, | will ask
you this one, even the known | ocation of which side of
the house the tel ephone wire, let's say the electric
wire currently goes in to. You assune -- is it fair to
assune that in npst instances the electric wire and the

tel ephone wire cone in at the same side of the house?

A (Dr. Mercer) No.
A (M. Fassett) In some instances yes, in sone
no. | nmean it just depends on the honeowner, a |ot of

ti mes when the home was built, when facilities were

actually placed, if -- typically if there's joint work
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done where the honeowner is or devel oper has placed the
trenches to the houses, then yeah, they would be cl ose
by just because of the grounding, nature of grounding
the tel ephone plant with the tel ephone and the cable.

Q O the relationship of the house to the
nearest tel ephone or electric pole?

A (M. Fassett) Yes, and in new devel opnents
you will try to place, as an engineer, you will try to
pl ace your pedestals at the joint locations with --
because of the utility easements with the power and for
bondi ng and all of those sorts of things that have to
t ake pl ace.

Q Woul d you --

A. (M. Fassett) So you will start fromthe sane
point, so if you do that typically you would go to the
same point.

Q Well, is it typical, or would you say it's
much nore |ikely than not that the electric wire cones
in on the sane side as the tel ephone wire?

A (M. Fassett) | would say typically they
probably cone in at the sanme |ocation nyself, just in
| ooki ng at what happens out there a |ot.

Q | asked you, do you think it's rmuch nore
likely than not that the electric wire and the tel ephone

wire come in on the sane side of the house?
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A. (M. Fassett) Yes, | would say so.
Okay.
A (Dr. Mercer) | guess the reason | started to

answer to the contrary is in our neighborhood for sone
reason, | nean it's a 15 year old -- we have like a 15
or 18 year ol d nei ghborhood, and they didn't do that.
Qur electric, cable, and tel ephone cone across the back
of your, no, wait a mnute, telephone cable cone across
the back yard and electric goes in the side and gas
cones in the front, but who knows, yeah, okay.

Q I think this mght be the |ast question.

You, Dr. Mercer, | think were answering a question about
assum ng significant anounts of the current

t el ecommuni cati ons configurations | believe, and you
said if you assune too nuch of it, you capture the
failings or the inefficiencies of the current system
and that's not consistent with TELRIC. Am | correct?

A (Dr. Mercer) Yeah, | think you said it better
than | said it actually, and | said this in response to
a question from Dr. Gabel

Q Right. And | wanted to ask, if you don't
assume enough of current configurations, and I will even
allow throwing in sonme of the tel ecomrunications
configurations in addition to houses and | akes and

electric poles, if you don't assume enough, you will



1632

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

| ose value that is in the current system And this is
the problemof we don't start froma fresh green field.
We really do have set up in the real world existing
facilities. And is it -- is that the sane -- is that
enbedded, or is it kind of like the house, that it is
not ever going to nake sense to assune there's a whole
new set of poles there or that the poles would really be
nore efficient on, you know, the other side of the road
for exanple when they're on the first side of the road.
Isn'"t this a balancing test, that if you get so
theoretical as to assune that we are building over a

I ong period of tine a whole new system that that really
is never what woul d happen and that TELRI C doesn't need

to go that far?

A. (Dr. Mercer) Yeah, | nmean | have to -- |
think you hit it -- you can hit a happy nmedium which is
that customer |ocations are what -- are really
inviolate. | mean, you know, earlier versions of HA

for instance did not start from customer, real custoner
| ocations. It started from census bl ock groups. The
refinement that said you did start fromreal custoner
| ocati ons was very inportant. Beyond that, given that
you know where the custoners are and you're figuring out
how much connectivity is required in neighborhoods to

get between those houses, to ne that's the, you know,
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that's enough of a conprom se given the conplexity of
goi ng and redesigning. That's -- | mean that to ne is
the conprom se between doing nothing, the green field
you were tal king about, and reengi neering the |oca
network as part of the exercise which would be, you
know, which would be inpossible, and you would have to
pi ck your point | think in between that.

Q But do you agree, you have picked one point
or the HAI nodel picks one point, but do you agree that
you could pick sone point a little bit nore along the
way of the reengi neering, but not going to the whole
nine yards? ©Ch, excuse nme, | think |I neant it the other
way. A little nore toward assunmi ng sone existing
configurations, something a little bit nore than centra
of fices or some other equipnent that | have a hard tine
nam ng without assunming that all that is ever happening
is a replacenment of, you know, existing switches for
exanpl e.

A. (Dr. Mercer) You can, and | think that -- |
think the delicate balance is that | think the further
you use the existing network as representing the "rea
wor | d", which we heard several tinmes yesterday, the nore
you al so introduce the potential for the inefficiencies
about the way that real world was laid out. And nobody

| believe could ever wite the equation that would tel
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you where the right point on that is.

Q But just when you said you al so introduce the
exi sting inefficiencies, you also introduce the existing
ef ficiencies of things that happen to be there, don't
you? Isn't it a double edged sword, that the nore of
the existing configuration, it's both inefficient but
it's also there, which neans it's there to -- it has
value to be captured. And so when you | ose the existing
system you mght be imagining a nore efficient one, but
you al so m ght be imgining a duplicative, an
unnecessarily redundant or duplicative one given that
there already are in place various equi prent or
| ocations that could be used just as well as sonething

60 feet away.

A. (Dr. Mercer) Yeah, and it is possible it goes
like that. Again, | think the question is, are you
approxi mate -- can you approxi mate cl osely enough the

situation by laying out a, quote, proxy nodel or

hypot heti cal network the way HAl does. And what | think
we have, you know, the conparisons that M. Dippon drew
that M. -- that Dr. Gabel has asked us to redraw says
yeah, | believe when all is said and done you get -- you
get a good representation of the network on the average
that's good enough for cost nodeling.

I would never pretend that HAl or VzLoop
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could be used to actually engi neer the network. Because
then you've got to go out and wal k the roads and figure
out whether you're on the left or the right side of the
road, things like that. But | think what the
denonstrations are when you conpare the results of the
nodel is that you produce, you know, cable that if
anything is conservatively high, and we know why it's
conservatively high, and that's as far as you really
need to go with cost nodels.

Q Yes, when we're dealing with cost nodels. |
couldn't help thinking when |I | ooked at Exhibit 611 of
trick or treating. | used to plot out the npst

efficient way to get through the nei ghborhood, and

found nysel f wondering, well, which would | use, HAI or
VzCost .

A (M. Fassett) Go for the one with the npst
candy.

Q Yeah, first pick the right nei ghborhood.

CHAl RMOVAN SHOWALTER:  Thank you, | have no
further questions.

JUDGE MACE: Conmi ssioner Henstad.

EXAMI NATI ON
BY COWM SSI ONER HEMSTAD:

Q Well, 1 think nmost of the questions | m ght
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have asked in sonme form or other have been asked. Under
the TELRI C approach, | interpret your testinony, well
first to say that it conmes closer to neeting the TELRI C
i deal than does the VzCost approach. And | guess |
woul d translate the two different approaches into saying
that mght be putting words in your nmouth to say that
yours is nmore efficient, but Verizon would argue that
theirs is nore practically efficient. Is that a fair
characterization?

A. (Dr. Mercer) Well, we may not be nore
efficient. You nmean in the sense of the network itself?

Q Ri ght .

A (Dr. Mercer) Because of this conservatism we
have built in with the right angle routing because of
the past criticisns about you're not getting around
| akes and obstacles, what we seemto be seeing is that
we' re actually producing nore route distance, a safer
anount nore. And that could be adjusted in the nodel,
by the way. | nean you can turn off this strand
di stance cal cul ati on and cone out very close | think to
the nunbers. So I'mnot sure it's not nore efficient at
| east in the sense of saying it's hyperefficient
notw t hstandi ng sone clains to the contrary.

More practical, it's interesting, | nean |

guess what you're saying is because it uses rea
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termnal |ocations and like that's where -- that's nore
like the real world. | would have to al nbst give the
same answer | gave before. | guess it depends a | ot on

how much you worry about TELRI C sayi ng be very carefu
not to replicate an enbedded network that has too nuch
investment in it.

And | don't know the theoretical way to say
this is the -- this is the right point, but in sone
sense ny way to describe the difference in the nodel
says that HAl tries to say given the custonmer |ocations,
let's lay out an efficient network to serve them again
bei ng conservatively efficient, but efficient. And
VzLoop is saying let's also take actually not the
custoner |ocations as they have said. And as we have
said, they are not working off customer |ocations,
they're working off terminal |ocations. So the
difference is that they're starting fromthe network as
it exists at least as far as those |locations, so that's
the difference | guess | draw.

Q If you were unconstrained by the FCC s
conceptualization of TELRIC, would your nodel be
essentially what it is in any event, or would it be
different as you're trying to nodel the network, nodel
an efficient network?

A (Dr. Mercer) Yeah, | would -- there may be a
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-- this may not be useful so I won't go on, but | may
start, if | were unconstrained, start froma conpletely
di fferent viewpoint, which would be to say let ne work
fromthe top down, take the conmpany's flow of expenses
and i nvestnents and go out and exam ne whether those are
efficiently made and not build a network fromthe bottom
up. And again, | would be concerned in doing that that
I would be -- I'"mstarting off at |east very much in the
canp that I"mstarting with the enbedded network, and
have | cut out enough when | go down that route. So |
havi ng never done this, |I'mnot sure that woul d work.

But if | were conpletely unrestrained, |
m ght start asking could | work this fromthe top down
i nstead of what we call the bottomup creation. And the
Verizon loop is a bottomup nodel as well, it's building
a network to serve, you know, to serve demand. What --
but | al nost have to ask for a clarification, what
constraint would you relax when you say if | didn't have
the FCC constraint, does that nean like not to build the
nost efficient network?

Q I"'mnot sure what the limtations | put on ny
own question, but a lot of the continuing discussions
and debate about the TELRIC concept itself. | suppose
the translation, is there a better or different way to

do it. Where | was getting to with the prelimnary
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question is to what degree does this Comnr ssion have
di scretion to make its own choices here, and | suppose
in doing that we're inplicitly making our own
definitions of what TELRI C nmeans?

That was a questi on.

A. (Dr. Mercer) Okay. There have certainly just

-- just practical -- in practical terms, many
commi ssi ons have done TELRIC s in different ways, so
there are -- so one answer is yes, you nust have some --
there is no one answer obviously, or else some nodel
woul d have al ways won, and that has not been the case,
so there is discretion.

Woul d the FCC ever, you know, | don't know
what the right termis, but censor or undo what a
conmi ssi on has done is beyond ny realm | don't know of
t hat happening yet, but | don't know. And fromthat
point, like the legal sense, could, you know, are you
constrained, | don't know

So | really sort of only get back to the kind
of the engineering or technical construct. And, you
know, all | know fromthe ten years that we have been
building HAl is we set about to build what we understood
actual ly, you know, the nodel started two years before
the Act, we didn't have TELRIC at the tine. W did have

TSLRI C, which has npbst of the same principles, forward
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| ooking efficient. And we spent a lot of time with the
econonmists in the early days saying, what does that, you
know, what does that nean, and we tried to build a node
that does that. And we reconstructed -- | nean the
first version of the nodel we really had the green field
that the -- we were tal king about before. W didn't
even assune existing switch |ocations. And the, as we
all now know, the FCC ruled that that was too efficient,
that was going too far, it left kind of no -- there
wasn't enough of an anchor anynmore to know where you
were when you started saying |'mgoing to put a wire
center sonewhere that's not in where it is today.

But anyhow, we built the HAl nodel to try to
i nculcate first TSLRIC, and then once TELRI C was defi ned
to do TELRIC, and knowi ng how nmuch the Conm ssion's
principles tal ked about not using enmbedded cost, not
assum ng the network was efficient but building a
forward | ooki ng network, it makes me skeptical in
general on engineering principles. Again, |I'mnot the
| aw person, |I'mnot trying to speak to the law, but |I'm
just saying fromthe engineering point of view, it nmakes
me skeptical that you can start from an existing network
and still do okay. And that's about as far as | know.
And, you know, | don't know what else to add to that.

Q I think you nmade the comment here both the
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HAI nodel and the VzCost nodel are bottom up approaches.
Utimately what strikes me is the renmarkable difference
inultimte outcones. You're at $8.50, and the VzCost
nodel is what, $33 or thereabouts if nmy nenory is
correct. Those are wildly different outputs.

M. Spinks in his testinony said he would try to get the
i nputs to be equivalent so he could better see how the
nodel s thensel ves made di fferences. Do you attribute
any significant inpact of that very significant
difference in output because of differences in inputs or
sinmply the internal workings of the nodel itself or

bot h?

A (Dr. Mercer) | think that a very |arge
fraction of that difference is due to inputs, and the
reason | say that is in a nunber of jurisdictions, nost
recently in California in the SBC case, obviously it was
not the sane nodel as Verizon has put forward, changing
| believe about a dozen inputs, but they were the front
runni ng i nputs, we were able to denonstrate either that
HAlI produced a hi gher nunber than the SBC nodel, or done
the other way, if we put HAI inputs into the SBC nodel,
we could bring it down to the sanme rate. So there are a
handful or, a big handful, but a handful of critica
i nputs that can cause you to swap positions. | nean

they can bring the two nodel s together, and, you know,
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there are the big runners |ike cost of capital and
structure sharing, and then your nmjor expenses cone in
there al ong the way, expense ratios, and your big
anounts of network components |ike cable costs. So you
can do it with -- | nmean you can do it conpletely with
i nputs.

The question is that, okay, | can neke the
average |l oop length cone out the sane, on a nore
granul ar | evel does that nmean the nodel didn't matter,
and it may not. When | get the overall |oop cost to be
the sane, | may still have differences across wire
zones, wire center zones and things like that. And so
the feeling always has been it's still worth getting the
nodel right as well. But knowing in severa
jurisdictions that we have been able to nake the nodels
overlap, the answer clearly the inputs nmake a huge
difference. And said the other way around, if you took
ei ther of these nodels and put the sanme -- no, I'm
saying this the wong way. |If you could sonehow figure
out the calcul ational differences between the two nodel s
and get rid of those sonmehow but kept the same different
i nputs, they would still be a large fraction and maybe
even nore in theory apart than they are now.

So | think the inputs, the answer to your

gquestion in the sinplest terns, the inputs or nodel
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platform it's much nore inputs than it is nodel

pl at f orm

Q Do you have any opinion as to whether HAI or
the, well, anyway or the nost recent nodel, the $8.50 as
the | oop cost applied will encourage or discourage the

facility based conpetition?
A (Dr. Mercer) $8.50 is a |l oop rate conpared
to, I"mcaught a little short, for sone reason | can't

keep the current nunmber in mnd, but | believe it's $17.

Q Ther eabout s, yes.
A (Dr. Mercer) It has to make a difference. |
mean it's in the direction. | could not speak to

whet her that woul d cause AT&T or MClI or sonebody to
enter, but it certainly has not appeared just judging by
the amobunt of conpetition today 17 is not doing it. 8
and a half certainly looks like it's got to help
because it's, you know, | would say a $9 difference, but
I don't know if that is enough to trigger AT&T to be in
the market or --

Q That would certainly incent them over the
current cost to enter the market, but would it
di scourage them from building out facilities based
conpetition?

A (Dr. Mercer) You know, there's both, | don't

know, but there's both sides to that story, and it cane
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out yesterday, and | was glad to hear it cone out. Far
too often in ny mind the ILEC s have said, well, if you
set the UNE rate too low, it discourages facilities
conmpetition, because you can get the -- too much of a
bargain. But the other half of that story says, if
they're set too high, then you can -- then you encourage
uneconom ¢ entry of facilities based conpetitors.

And | have a thing, there's going to be an
article in nagazi nes soon that says | believe that given
the expense of these infrastructures we're building, we
better sonehow collectively be real careful about
forcing a lot of facilities conpetition that wasn't
necessary if the networks had been open. Wen all is
sai d and done, custoners aren't buying infrastructure,
they're buying services like Internet access or the
ability to downl oad video or whatever. And if the price
-- if there is sort of this nentality of one service,
one infrastructure, you know, if you want to offer
service, you have to have your own infrastructure

That's not an econom c statement, but to me

that seens very inefficient, so | think it's not going

to help you cone to the answer better. | think -- but I
think you've got to still find that bal ance. Too cheap
i s bad because then nobody ever -- everybody gets

carel ess and says we won't enter. Too expensive is bad
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1 because now you may get multiple infrastructures and

2 wasteful facilities that should not have happened

3 because there shoul d have been better access to the

4 infrastructure that had been built. And sonmewhere the
5 ri ght answer is, | guess the econom st would say it's

6 the right signal to the marketpl ace.

7 COW SSI ONER HEMSTAD:  Thank you, that's al
8 | have.

9 JUDGE MACE: Commi ssioner Oshie.

10

11 EXAMI NATI ON

12 BY COWM SSI ONER OSHI E
13 Q | just have one question for Dr. Mercer. In
14 your testinmony when you're referring to the strand

15 normal i zation factor, you use a termgreater than unit.

16 A (Dr. Mercer) Yes.
17 Q Can | just ask you to explain that, because
18 really, | nean | have the, you know, kind of a conmon

19 sense idea of what you nmeant, but | want to nmake sure
20 that | have captured it.

21 A (Dr. Mercer) Okay. Geater than unit neans
22 that the nodel has cal cul ated greater than unit, mnight
23 as well stick to the exanple this norning, has

24 calculated 1,600 feet of distribution plant being

25 needed, but TNS strand di stance says 2,000 feet is
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needed. And the way the strand distribution
normal i zati on works is you divide the TNS strand
di stance by the distribution route distance, so you're
di viding 2,000 by 1,600, and that ratio is greater than
1. And the inplication of that is that the nodel wll
now have its investnents adjusted to create nore
i nvestment than it would have had if you didn't do that
normal i zation. So greater than unit means any tinme when
the strand di stance provided by TNS is greater than the
distribution distance the nodel first cal culated before
it looked at that strand di stance to figure out what to
do.

COWM SSI ONER OSHI E:  Okay, thank you.

JUDGE MACE: M. Huther.

MR, HUTHER: Yes, thank you, | do have a few

foll ow-up questions for M. Fassett.

CROSS- EXAMI NATI ON
BY MR HUTHER
Q Do you recall being asked a question by
Dr. Gabel with respect to plowing in particular,
believe that you indicated that contractors gave you
prices that assisted you in the devel opnent of your
pl owi ng i nput assunptions.

A (M. Fassett) Yes, | believe so, that that
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was one of his questions.
Q How many contractors gave you price quotes?
A (M. Fassett) In as far as the Fassett
docunents, that's what we're referring to?
Q Yes.
A. (M. Fassett) There were nunerous, | can't

tell you the exact nunmber, but there were a substanti al

anmount .

Q l"msorry?

A. (M. Fassett) A substantial nunber, and |
will use a nunber let's say of probably eight to ten

nati onal contractors, and then there were sone | ocal
contractors that | also got inputs from

Q And when you say |l ocal contractors, you're
referring to contractors licensed to operate in the
state of Washi ngton?

A (M. Fassett) Well, in Washi ngton or other
states, not just specific to Washington. [|'mtalking
about local contractors m ght have been | ocal
contractors that operate in New York, may have operated
in Nebraska, but in that region.

Q How many of these contractors were actually,
that you surveyed, were actually licensed to provide
service in the state of Washi ngton?

A (M. Fassett) | don't know an exact nunber,
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but I know the major national contractors, the Hinkles
and the McCoys and the Bernham and Simms and all the
nati onal contractors |I'mwell -- very confident that
they would be |icensed to operate in this state, and
they were part of it. | mean there was nunerous
contractors.

Q And is it fair to say that the price quotes
that you received were during the period 1997 or so?

A (M. Fassett) Yes, that was the time when
actual ly undertook the mmjor part of the survey, yes.

Q And with respect to plowi ng prices, have you
undertaken to contact any contractors authorized to
provi de service in Washington state for purposes of
updating the nunmbers that you devel oped in 19977

A. (M. Fassett) No, | have not, but | have
| ooked at, you know, proprietary contracts in various
dockets, and that tells nme that the nunbers that we're
using are still within the range of reasonabl eness.

Q And because those contracts are proprietary,
they have not been made available to the parties or to
the Conmmission in this case to evaluate them correct?

A (M. Fassett) Well, | think I have even
| ooked at the Verizon -- in this case the only one
have actually | ooked at is the Verizon contract |

bel i eve.
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Q Ckay.

A (M. Fassett) | don't recall any other
specific contracts that | | ooked at for the state of
Washi ngt on.

Q Al right. So throughout your reply

testi mony, which is designated Exhibit 956T, you nake
several references to proprietary engineering guidelines
or in some instances proprietary contracts that you have
received in other dockets.

A. (M. Fassett) Yes, | do.

Q Am | to understand from your testinmony just a
nonment ago that when you use those terns you are
referring exclusively to contracts or engi neering
practices provided to you by Verizon Northwest or one of
its affiliated entities?

A (M. Fassett) No. In ny testinony what | am
stating is that | have | ooked at those contracts in Utah
and in various dockets that | have been in including in
this docket | have | ooked at Verizon's engineering
gui del ines and various proprietary docunents that have
been provided here in addition to what | have | ooked at
in other dockets in other states.

Q And those proprietary contracts that you
received in other states is it your testinony has

i nformed your judgnment and validated your input val ues
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that you have testified to here?

A (M. Fassett) Yes, they're -- | nmean what |
have | ooked at is still within the range of
reasonabl eness.

Q Al right. And then back --

A. (M. Fassett) Wthin what we have in the
Hatfi el d nodel, yes.

Q I"msorry, M. Fassett, | didn't nmean to
interrupt you.

And so then back to my initial question, to
the extent that you have relied on these proprietary
contracts from ot her proceedi ngs, you have not been able
to make them available to the Conm ssion or to Verizon
in this case to review and eval uate, correct?

A. (M. Fassett) That's correct.
Q You al so were asked a question by Dr. Gabe

concerning sharing. Do you recall that discussion?

A (M. Fassett) Basically yes, | think so.

Q Structure sharing.

A (M. Fassett) Structure sharing.

Q And | believe it was your testinony that back

in 1997 or 1998 you visually inspected sonme of the
| andscape in Washington, and in doing so it confirnmed
the val ues that you and assunptions that you were --

that you have testified to here today and are assuned in
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5.3, correct?

A (M. Fassett) Yes, and also as | related in
my testinony, during that docket | had the opportunity
to | ook at actual joint agreenents that GIE at that tine
had and U S West had.

Q Okay.

A (M. Fassett) So it's been a m xed bag of
di fferent validations.

Q Now as you're driving around the state of
Washi ngton or wal king the streets, you're not able to
deternmine the extent to which buried plant is being
shared, correct?

A (M. Fassett) Cenerally the answer woul d be
no, but there are | ocations where you will see. Like if
you go into a devel opnent, you're going to see the
transforner, you're going to see the cable, you're going
to see the cabl e pedestal that belongs to the cable TV,
you're going to see the tel ephone, and you're going to
know -- being in the business, you know that those are
in ajoint trench. You're going to see other
applications where the cable may conme down a pole and so
will the telephone facilities and go into a trench, but
you can't physically see what's in the trench, no. But
after, you know, being in this business for a long tineg,

you understand what would be typically in there.
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Q And the sanme applies to conduit, correct, you
can't see what's in the conduit as you're just driving
the streets or wal king the streets and | ooki ng around at
t he outside plant?

A. (M. Fassett) No, and the inportant thing
with conduit sharing is to renenber we're tal king about
the trench, we're not talking about the individual four
inch conduit when we tal k about sharing, we're talking
about sharing the underground structure, and that's the
trench. So there was -- there's -- | want to be very
clear that the Comm ssion understands that that's what
that really entails. W're not -- we're not doing that
little four inch conduit is not being shared, it's the
structure, the trench that's providing the placenent for
that trench, for that conduit, excuse ne.

Q You al so used the termin response to a

question fromDr. Gabel |ateral cable; do you recal

t hat ?
A. (M. Fassett) Yes, | do.
Q Coul d you define |ateral cable?
A (M. Fassett) Well, the termlateral cable in

what | was discussing was the fact that you had a cable,
backbone cable if you will, maybe it happened to be in
conduit, and then you had a | called it a |ateral cable,

a sideline cable that may have went over to a building,
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and | referred to that as a lateral cable.

Q How much | ateral cable is being nodel ed by HM
5.3 in Washi ngton?

A (M. Fassett) It would be part of the --
either the -- typically it would be part of the
di stribution depending on the configuration, so there's
no way of knowi ng what that amount is. It's all part of

providing facilities to that |ocation

Q In other words you can't break it out?
A. (M. Fassett) No, because like |I testified,
it would be part of the aerial account or part -- if it

happened to be going to a buried structure it would be
part of the buried account. Accountingw se it would be
accounted for as aerial -- it's not accounted as a

| ateral cable, it's accounted either aerial, buried, or
under gr ound.

Q Does HM 5.3 nodel lateral cable that conmes up
fromburied or underground plant and then up the side of
a pole and then over to a building?

A (M. Fassett) It doesn't nodel that. The
cable, again, the classification of that cable that you
have just described is an aerial cable, so that would be
part, in the real world, would be part of considered of
the aerial cable plant.

Q In HM 5.3 is backbone cable carried over
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aerial structure, that is pole lines?

A (M. Fassett) It could be.

Q There was al so sone discussion | believe at
page 12 of Exhibit 956T, your reply, yes, Exhibit 956T
begi nning on line 10 of page 12.

A. (M. Fassett) Okay.

JUDGE MACE: What's the page nunber again,
counsel ?

MR, HUTHER: Page 12, Your Honor.

JUDGE MACE: Co ahead.
BY MR HUTHER

Q You responded to some questions | believe
fromDr. Gabel regarding your testinony beginning on
line 10. It says:

Pl anni ng paraneters pernit fromthree to
five DA's to be considered as a CSA or
carrier serving area

Do you see that?

A. (M. Fassett) Yes.

Q In that instance where you had three to five
DA's in a CSA, the SAl's would not necessarily be
col located with the RT in that construct, would it;

A. (M. Fassett) Typically they would not, they
could be in some instances. It would vary, but

typically you would have an SA for a DA provided the DA
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was a legitinate size and it met the -- what you needed
to do and provided service efficiently.

Q And it would be the case that feeder would be
built fromthe RT to each of the three to five, whatever
the nunber is, SAl's associated with the RT?

A. (M. Fassett) Yes, if you -- if you had a
situation maybe where there was one RT and you had
three, let's just use the exanple of three DA's com ng
toget her, say there was one on one side of the street
and maybe two on the other side that happened to be --
typically you would just feed across to that one and you
woul d feed into the other one. W're not talking a
substanti al amount of -- normally you're not going to
take three or five DA's that are very spread out and do
that kind of a construct.

Q And in the circunstance where you have three
to five DA's per RT when the RT and the SAl are not
col l ocated, you would have smal |l er backbone cabl es,
correct?

A (M. Fassett) Yes, typically.

CHAl RWOVAN SHOWALTER: Can we interrupt for a
second, can we be off the record for a second.

(Recess taken.)

JUDGE MACE: M. Huther, you were follow ng

up on Bench questions, do you still have nore questions?
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MR. HUTHER: Just a few.
JUDGE MACE: Co ahead.
MR, HUTHER: Thank you, Your Honor.
BY MR HUTHER:
Q M. Fassett, do you have what has been narked
as Exhibit 8737
A (M. Fassett) Yes, | do.
Q M. Fassett, Exhibit 873 is your pre-filed
direct testinony filed on behal f of General
Communi cation, Inc., GCl, in that Al aska proceedi ng we

spoke about this afternoon.

A (M. Fassett) Yes, it is.

Q And it's dated August 29th of 20037

A. (M. Fassett) That's correct.

Q On page 1 of that testinony, you refer to

your experience at NYNEX as an outside plant engineer
and manager; is that correct?

A (M. Fassett) Yes.

Q And then on page 2 of that testinopny, you
reference a couple of projects that you were responsible

for when you were at NYNEX?

A (M. Fassett) Yes.
Q And one of them was the planning, design, and
construction of a $10.7 MIlion 117 nile interoffice

SONET proj ect .
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1 A. (M. Fassett) That's correct.

2 Q And then the second bullet refers to the

3 desi gn and depl oynment of nunerous fiberfed DLC systens
4 within 69 central offices. Do you see that?

5 A. (M. Fassett) Yes, | do.

6 Q How much plow ng did you do, plow ng of

7 buried cable did you do with respect to those two

8 proj ects?

9 A (M. Fassett) On the first project, the 117

10 mle project.

11 Q Yes.
12 A (M. Fassett) We did substantial plow ng on
13 that particular contract, particular project. It went

14 basically fromdens Falls, New York, which is above

15 Al bany, all the way up, and we did a piece that went

16 over to Lake Placid and then back with another piece

17 over to Plattsburgh and |inked down. There was sone

18 trenching because when | initially got involved in the
19 project they had started one little segnent of it prior,
20 and the tinme of the year they couldn't plow, they had to
21 trench because of sone frozen areas, but primarily it
22 was basically all plowed, or we attenpted to plow in

23 nost every area.

24 Q And what about with respect to that second

25 project, the description of which begins on Iine 5 of
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page 2 of your testinony?

A (M. Fassett) That was nunmerous projects,
whole -- there was projects that we may have pl owed 50%
60% there were probably some projects where we didn't
do any plow ng just because of where it was, but that
was nunerous projects for feeder and distribution
facilities.

Q And t hese projects that you just described
were in or around the Al bany area; is that right?

A. (M. Fassett) No, they varied, because ny
area that | was responsible for was basically the 518
area exchange, so sone of those projects would have been
in-- down in the Catskill Muntains, and sone of them
were up on the Canadi an border, so we're talking a
di stance of, you know, 200, 300 niles in sone cases. So
some of the rehab projects were in the Al bany area
specifically at that one point when | was in Al bany
wor Ki ng.

Q And with respect to these projects that you
just described or any other simlar type of projects
when you were at NYNEX, how often did you plow 12
separate cables into 1 trench in a single plow ng
operation?

A (M. Fassett) We didn't, okay. W had pl owed

I want to say 3 cables, | renenber we plowed, distinctly
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pl owed 3 cables on the 117 nmile project in sone phases
of that. |In other phases we would have plowed 2 cables.
In nmy testinmony that | refer to the 12 fiber or the 12
cabl es being plowed, that's what spider plows are
capable -- actually capable of plowi ng nore than that at
one given tinme. | know on the New York state
t hroughway, that was a separate project that | wasn't
personal ly involved with, but they were plow ng 7
interducts primarily on that whole interstate route.

MR, HUTHER: | have nothing further, thank
you, M. Fassett.

MR. FASSETT: Thank you.

JUDGE MACE: M. Kopta.

MR, KOPTA: Thank you, Your Honor

REDI RECT EXAMI NATI ON

BY MR. KOPTA:

Q Dr. Mercer, | just have a few questions for
you. First, in response to sone questioning from
M. Huther this norning, do you recall a discussion of
what or who had access to certain TNS proprietary data?

A (Dr. Mercer) Yes.

Q And | believe that you said in response that
the only person of whom you were aware was M. Di ppon;

is that correct?
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A. (Dr. Mercer) Yes, that's correct.

Q And what information was that that you were
specifically had in nmnd when you were discussing with
M. Hut her?

A. (Dr. Mercer) | think at the tinme or thought
at the tinme we were tal ki ng about the source code,
guestions about that.

Q And are you aware of anyone at AT&T that has
the source code for the TNS processor?

A. (Dr. Mercer) No, |'m not.

Q You al so had a discussion with M. Huther
about the nunmber of |ines that are served per SAl; do
you recall that discussion?

A. (Dr. Mercer) Yes.

Q How many, what's the nunber of |lines served
per SAl or conparable figure in the HM 5.3 nodel ?

A (Dr. Mercer) Well, the -- while it's true
that we can run up to as large as a 6,400 |ine SAl
what's striking is that the vast nmgjority of SAl's in
fact are much snaller, something like 78% and | have
actually a nunber here, but sonething like 78% of them
74% of themare SAl's that are snaller than 1,000 Iines
in size. So it strikes me sometinmes that the whol e
di scussion of these npnster SAl's that we hear about

like it's really sort of a small net, because the |arge
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fraction of SAl's in fact are quite small.

Q And | believe you had a discussion with both
M. Huther and Dr. Gabel about the exclusion of DSO
fiber loops fromthe elements that you were costing in
this proceeding; is that correct?

A. (Dr. Mercer) Yes.

Q Do those DS fiber |oops includes | oops that
are served at least in part over fibers such as digita
| oop carrier systens?

A. (Dr. Mercer) Yeah, | tried to say that this
norni ng, but let ne be very clear about that. Any kind
of narrow band | oop, POTS, plain old tel ephone service,
POTS or a DSO or a DS1 that's delivered to the custoner
on copper may have either copper feeder or fiber feeder
and the nodel nmodels which is right for each cluster and
does it accordingly. And if | have a cluster that's
bei ng served on fiber feeder and | have DS1's in that
cluster, they're going to have their own kind of Iine
card in the renmote termnal, and they're going to be
served over that fiber feeder

So | was certainly not saying that we're only
nodel i ng DS1 on copper all the way to the centra
office. What | was saying is that when Verizon
advertises a service as DSO over fiber, they're not just

saying it's sonetines served on fiber feeder, they're
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saying it's delivered to the custonmer on fiber, and
that's why we gave it different treatnent than a DSO.
That's ordinarily in the nodel where you night have a
m x of two different kinds of feeder

Q And do you recall a discussion with Dr. Gabe

about Exhibit 611, which are some maps?

A (Dr. Mercer) Yes.

Q Were you involved in the preparation of those
maps?

A. (Dr. Mercer) Yes, they were done under ny

supervi si on.

Q And do those maps accurately reflect how the
nodel nodels the distribution areas in Richnond Beach?

A. (Dr. Mercer) Yes, they do starting right off
the bat with nunmber 1 or nunber 2, those dots are the
real custonmer locations that TNS has found. And going
on into the later pictures, for instance in picture 3,
the black lines are literally the cluster shapes that
have been found by TNS, and then the downstream
processing of rectangles and the like. 1In every case as
I ook at those pictures, that's the real representation
of what's happened in Ri chnond Beach

Q And do those maps reflect the changes that
you di scussed earlier today to the nodel ?

A (Dr. Mercer) No, not when | get to slide
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nunmber 7, which is the post normalized. W have talked
a | ot today about strand nornmalization, that |ast

pi cture that appears to really shrink several of those
clusters, that's a result of nornalization. | have a
theoretical problemw th even drawing this picture, as |
believe | said at sone point this norning, because the
whol e point of strand nornalization is to represent
where custonmers are really |ocated and how much cable it
takes to connect them So to still draw a picture that
has the same backbone and branch arrangenent is kind of
defying the logic of why we're doing strand
normal i zati on.

But be that as it may, with the new version
of the nodel where the strand di stances are cal cul at ed
Wi t hout subtracting a drop distance, they will either be
this big or bigger, and there may be a considerably
bi gger picture if you're going to draw this picture,
those lines will extend through considerably nore of the
clusters as a result of what we have done this norning.

Q Do you recall a discussion with Chairworman
Showal t er about what were particul ar aspects of an idea
cost nodel ?

A. (Dr. Mercer) | do.

Q And do you recall specifically discussing

whet her an ideal nodel would retain all of the existing
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rights of way in the current network?

A (Dr. Mercer) | remenber the discussion of
rights of way. | didn't believe that we were talking
about retaining necessarily all the rights of way. M
under st andi ng of our discussion was if, you know, if the
ri ght nodel network, an efficient network runs along a
street that has a right of way, would you run in it as
opposed to not running init, and | said -- and | agreed
yes, you woul d.

I"mcertainly not trying to say that the
ef ficient network woul d necessarily use all of the sane
rights of way for -- because -- for two reasons. One is
you may not run the network where it was run before, and
(b,) you may be running off at a different angle, you
mght find it nmuch nore efficient to let's say go across
country instead of follow ng through sone city street or
sonmet hing. These are all just hypotheticals, but.

My answer was conditioned on my picture that
we were tal king about a case where | did want to run
where there was a right of way, and | would say you
certainly would do that. But | do not mean to inply you
woul d use all of the right of ways necessarily in an
efficient nodel.

Q And finally, do you recall a discussion with

Commi ssi oner Henstad about the current statew de
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1 averaged |l oop rate for Verizon?

2 A (Dr. Mercer) Yes.

3 Q Woul d you accept subject to check that the

4 current rate is alittle bit less than $24?

5 A. (Dr. Mercer) subject to check I will accept
6 that, yes.

7 MR, KOPTA: Thank you, those are all ny

8 guesti ons.

9 CHAIl RMOMVAN SHOWALTER: | have one fol |l ow up
10 questi on.

11

12 EXAMI NATI ON

13 BY CHAI RWOVAN SHOWALTER:

14 Q O the information that you're providing in
15 response to the Bench request directed by Dr. Gabe

16 covering the information on the five zones, wll that

17 data show the medi an nunmber of |ines per SAl in each

18 zone, or can it -- can we -- will we be able to derive
19 t hat ?

20 A (Dr. Mercer) | did not understand that to be
21 within the scope of the data request. |If you are asking
22 me to take that on as another Bench request, | certainly

23 thi nk we could produce that nunber if you want to see
24 the nmedian SAl, the nedian |lines per SAl by five zones?

25 Q Yes.
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A. (Dr. Mercer) W have to be able to do that.
I would assune we could do that. |If you're asking for
that, we'll do it.

JUDGE MACE: That will be Bench Request
Nunmber 19.
Q And | assunme when you show that, you wll

al so be showi ng the nedian for the whole state?

A (Dr. Mercer) | can, yeah
Q Thanks.
A. (Dr. Mercer) And just to clarify, you want

the nedi an, not the average? |In other words, you kind
of want the middle size or both or --
Q I wanted the nedian, but let's have both the
medi an and the average.
A. (Dr. Mercer) | guess | should stop asking
qguestions before | get in trouble.
JUDGE MACE: All right, M. Huther, you had
somet hi ng el se?
MR, HUTHER: | just had one foll ow up

questi on.

RECROSS- EXAMI NATI ON
BY MR. HUTHER
Q Dr. Mercer, in response to M. Kopta's

qguestion you referenced |I think you said when Verizon
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1 advertises a DSO or a DS1 all fiber service; do you

2 remenber words to that effect?

3 A (Dr. Mercer) Yes.

4 Q Does Verizon have a tariffed service for DSO
5 or DS1 on all fiber in Washington?

6 A. (Dr. Mercer) If it doesn't, then | don't know
7 the neaning of that service definition as it was

8 described as the -- if I'm-- if they are describing a
9 customer line as being a DSO on fiber, it certainly

10 nmeans nore than just naybe having fiber in the feeder
11 So | don't know if they have a tariff or not, but the
12 definition of that term would suggest.

13 MR. HUTHER: Ckay, thank you, nothing

14 further.

15 JUDGE MACE: All right, I want to deal wth
16 the Verizon cross exhibits and then excuse the

17 W tnesses. W then need to talk about response tines
18 for these various nodel changes that have been made and
19 the briefing schedul e.
20 So | understand from M. Huther that he is
21 of fering of the Verizon cross exhibits that have been
22 nmarked what's narked 873, 878, 879, 883, 884, 885, 886,
23 and 887 through 894 and then 899; is that correct?
24 MR. HUTHER:  Your Honor, | believe it is, I'm

25 j oi ned at counsel table here by ny coll eague, Megan
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Troy, who has been keeping better notes on these
exhibits than |I have, so | will defer to her

MS. TROY: That's correct.

JUDGE MACE: |s there any objection to the
adm ssion of those proposed exhibits?

MR. KOPTA: No objection.

JUDGE MACE: | will adnmit them

| understand that there are a couple of
exhibits that were copied in a way that m ssed copying
al ternate pages and that Verizon will be supplying us
with a corrected copy of those exhibits; is that

correct?

MS. TROY: Yes, that's correct, that would be

Exhi bits 884, 886, and 887.

JUDGE MACE: Thank you.

Al right, thank you very nuch, gentl enen,
you' re excused.

MR, HUTHER:  Your Honor

JUDGE MACE: Yes.

MR, HUTHER: One other | guess house, two
ot her housekeeping matters, one pertaining to
Dr. Mercer. During his testinony today regardi ng page
29 of his reply testinony, 861T, he discussed the
anal ysis that appears to be still ongoing with respect

to the 2.5% increase that resulted in a | oop cost
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i ncrease, average | oop cost increase of about 20 cents,
and | don't nmean to m scharacterize his testinony. Wat
| took away fromhis testinony was that that actually
may be changi ng, and what we would like to request
either as a record request but preferably as a Bench
request is the workpapers associated with the work that
has been perforned to make that anal ysis.

JUDGE MACE: Dr. Mercer.

DR. MERCER: Are you asking for a post -- let
me ask that differently. Are you asking for that as it
exi sts today or after we run the new nodel ?

JUDGE MACE: After what?

DR. MERCER: After we run the new nodel

MR. HUTHER: | would ask for both, because it
seens that there -- you referenced sone of this in your
testimony. | understood your testinony this afternoon
that that analysis was still ongoing and perhaps had

caused you to change the conclusions that you had
reached in your testinony here today, so | would want
both the anal ysis that you perfornmed up until this point
and then once you nmake that change the workpapers
associated with that effort.

DR. MERCER: Ckay.

JUDGE MACE: And can you refer nme to his

testinmony again that you're tal king about?
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MR. HUTHER: Yes, Your Honor, it is Exhibit
861T, and the page nunber is 29.

JUDGE MACE: Okay, thank you.

(Bench Request Nunmber 20.)

MR, HUTHER: And then the |ast housekeepi ng
matter actually pertains to the col or photographs that
we circulated at the end of the day yesterday. They
were -- they pertained to Exhibit 454 of M. Richter's
testi mony, and they are replacenent pages for the black
and white copies that were contained within Exhibit
WGR-3 entitled Thailand Distribution Term nal

JUDGE MACE: Thank you, yes, | have al ready
made that change on the list.

Al right, let's turn then to response
deadl i nes, and we have discussed Verizon providing a
response to Dr. Selwyn's revision of Exhibit 655 that
was his response to Bench Request Nunber 3, and that
will be due June 11th.

Wth regard to the Verizon 7Ra, Verizon will
do a sensitivity run by June 9th. By June 16th we will
have AT&T's response to that sensitivity run, and then
by June 18th Verizon will indicate whether it needs to
meke sone additional response to that. Am/| right on
t hat ?

MR. RI CHARDSON:. Yes, Your Honor.
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JUDCGE MACE: M. Richardson and | tal ked
about that, and so |I'm assum ng that that neets
Veri zon's requirenents.

MR, HUTHER: If he agreed to it, it surely
does.

JUDGE MACE: Okay.

And then with regard to the Verizon response
to HM 5.3a, | am advised that M. Dippon will take unti
June 18th to provide revised maps, although M. Mrphy
and Dr. Tardiff will provide their changes sooner than
that. And then | was waiting fromAT&T to find out when
Dr. Mercer could indicate whether AT&T will need to
respond to those changes, and | put down June 22nd, but
I know you were going to discuss that with Dr. Mercer

MR. KOPTA: Yes, | guess it would depend on
-- we could certainly provide a substantive response
within a week, and I would think that we probably would
be able to determ ne whether there's a need for that or
woul d request the opportunity to do that within two
busi ness days, so | think since the 18th is a Friday,

t hen Tuesday the 22nd woul d be fine.

JUDGE MACE: Al right.

Then the other thing that | wanted to address
is the briefing schedule.

MS. SMTH. Your Honor.
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JUDGE MACE: Sorry, | recognize that Staff
has a need perhaps to anal yze sone of this information
too. Go ahead, Ms. Smith.

MS. SM TH. Thank you, Your Honor. The
Commi ssion Staff would |ike the opportunity to provide
sonmething to the Commssion in witing as to how any of
the changes in the revisions to the HAl nodel m ght
affect Staff's proposed rates in this case, and it al so
may have sone inpact on Staff's answer to Bench Request
Nunber 8, so we wanted to alert you to that. And
certainly if there is no inpact to the Bench request we
will get that to you in the tinme frame that we're
supposed to, but.

JUDGE MACE: So by June 22nd?

M5. SMTH: Yes, Your Honor.

JUDGE MACE: Thank you.

MR, HUTHER:  Your Honor

MR. RICHARDSON: Could I just clarify on
that. Wuld Staff's response then be, to 7Ra be June
16th to correspond with AT&T's; is that your
contenpl ati on?

JUDGE MACE: AT&T's response is June 22nd.

MR. KOPTA: | believe M. Richardson is
tal ki ng about the Verizon nodel.

JUDGE MACE: Oh, sorry.



1673

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

MR. SM TH:. You're tal king about the HAI
nodel, aren't you?

MR. RI CHARDSON: | apol ogi ze, |'m confused
about revisions.

JUDGE MACE: All right, briefing schedule.

MR, HUTHER: One last thing, Your Honor. |
know earlier |I nentioned that M. Dippon would require
at least two weeks in order to prepare the maps and that
I thought that nmany of the calculations in M. Mrphy or
Dr. Tardiff's testinony could be conpl eted sooner,
think I also nentioned that there nmay be the case that
their testinony needs to be anended by virtue of what is
contained in the maps, and so | would request two weeks
for all of these witnesses to file their testinony as
opposed to what | understood you to say a nonent ago
that M. Dippon's would conme in two weeks fromtoday and
M. Miurphy and Dr. Tardiff's would come in sooner than
t hat .

JUDGE MACE: Well, | was reflecting that you
indicated to ne that Tardiff and Murphy coul d be done
sooner, but | was assunming that June 18th was the
deadline for all of them

MR, HUTHER: Ch, very good.

JUDGE MACE: And if | didn't make that clear

I'msorry.
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MR, HUTHER: No, perhaps | ni sunderstood,
t hank you.

JUDGE MACE: So June 18th.

Al right, the briefing schedule. MW
understanding is the parties are seeking an extension of
the briefing schedule fromthe initial briefs fromJuly
1st tois it July 15th and the reply briefs fromJuly
22nd to August 12th. And ny understandi ng of the reason
for that is that Verizon is involved in a case in
California, the simlar or anal ogous case to this case
in California, and that the same teamis working on it
and that Verizon was asking for the additional tine so
that they could conduct their work down in California
and then file their brief here. And | am advised that
Staff and AT&T agree with that. W have in the
Conmmi ssi on several scheduling constraints.

CHAI RWOVAN SHOWALTER: | would like to
address that question.

JUDGE MACE: Yes, of course.

CHAl RWOVAN SHOWALTER:  First, in light of the
additional information that needs to cone in, is that
still the briefing schedule that you want?

MR, HUTHER: What | guess has been agreed to
are the dates that have just been addressed. | think

that's the bare nmininumthat we could do. | nean yes
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it's true that we are -- counsel and w tnesses are al so
involved in this California case, but that's only part
of it. It is definitely going to be affected by the
testinmony that won't be coming in now until the 18th,

and so yeah, that is the bare m ni rumthat we would

need.

CHAI RMOVAN SHOWALTER:  All right, | just
wanted to nmake sure that's still the date you' re asking
for.

JUDGE MACE: So was it the 15th? |'m sorry,
| didn't mark it down.

MR. RI CHARDSON:  Yes.

CHAI RWOVAN SHOWALTER: What | want parties to
be aware of is by extending the briefing schedule two
weeks, you are going to extend our order by quite a bit
nore than that, and it just has to do with people's
schedul e. And so you should not think that our order is
going to get extended by just two weeks, it's going to
be, you know, sonething on the order of two nore nonths
or so. So before -- so does everyone still want and/or
agree to the briefing schedul e?

MR. KOPTA: Well, obviously, you know, we
woul d I'ike to have a Commi ssion order sooner rather than
later. As far as | know, there are no constraints on

the amobunt of tine that you can take to issue an order
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I know that you try to do so expeditiously, and we
certainly appreciate that. But at the sane tine, we
want to give you the best product that we can to help
you in making that decision, so given that there is a
substantial anmount of additional information, responses
to Bench requests and replies to Bench requests, and if
that's the result, then | guess that's what we'll have
to live with.

CHAl RMOVAN SHOWALTER:  Well, we will do our
best, but it just so happens that it causes increnents
of tinme to be, not a proportional ampbunt of time, to get
t he order.

MR, KOPTA: Well, thank you for letting us
know t hat .

JUDGE MACE: Thank you.

One final thing | did want to address was a
briefing outline, and I would like to have the parties
coordi nate and supply to me as soon as they can a
suggested briefing outline. | like to see that before
you go ahead and write your briefs.

MR, KOPTA: Absolutely, certainly that's been
what we have done in past cost proceedings, and the
parties will work together to come up with a joint
proposed outline.

JUDGE MACE: All right. And when do you
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1 thi nk you woul d be able to have that?

2 MR. KOPTA: End of next week.

3 MR, HUTHER: That should be no problem
4 JUDGE MACE: All right, thank you.

5 Is there anything el se?

6 Al right, then the record is closed.

7 (Hearing adjourned at 5:30 p.m)

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24

25



